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1 (9:05am.) 1 Q. Welcome.
2 CHAIRMAN: 2 MR. GRENEMAN:
3 Q. Thank you. Good morning. It'safall day out 3 Q. Very good, thank you.
4 there, but anyway, it beats the alternative, | 4 MR. ROBERT GRENEMAN (SWORN)
5 suppose, thistime of the year. Good morning, 5 CHAIRMAN:
6 Ms. Newman. Arethere any items before we 6 Q. Thank you, sir, and welcome once again. When
7 begin? 7 you're ready, Ms. Greene, you can begin your--
8 MS. NEWMAN: 8 oh, Mr., good morning, Mr. Y oung.
9 Q. No, Chair. 9 MR. YOUNG:
10 CHAIRMAN: 10 Q. Thank you, Mr. Chair. It'll bejust avery,
11 Q. Okay. Thank you. Welcome back, Ms. Greene. 11 very brief direct evidence this morning or
12 Good to see you. 12 direct testimony. Mr. Greneman, evidence has
13 GREENE. Q.C:: 13 been pre-filed with Hydro’s Application in
14 Q.| didn't realize | was going to be noted, that 14 this matter, from you. This evidence includes
15 | was missed by so many people. Itwas a 15 awitness profile, a discussion of the Cost of
16 commitment that | couldn’t avoid. 16 Service that's been filed and a brief
17 CHAIRMAN: 17 discussion of the review of the rate design
18 Q. I'msure, yeah. 18 for Newfoundland and Labrador--I'm sorry,
19 GREENE. Q.C: 19 Newfoundland Power, correct?
20 Q. For work purposes. 20 A.Right.
21 CHAIRMAN: 21 Q. And there are two exhibits to your pre-filed
22 Q. Good morning, Mr. Greneman. How are you, sir? 22 testimony?
23 MR. GRENEMAN: 23 A.Yeah.
24 Q. Good morning. 24 Q. That'sthe 2004 Cost of Service Study whichis
25 CHAIRMAN: 25 referred to as RDG-1, correct?
Page 3 Page 4
1 A. Correct. 1 Q.10:307?
2 Q. And RDG-2 isthe exhibit which is the report | 2 CHAIRMAN:
3 mentioned a moment ago that you prepared for 3 Q. 10:30,yes. That'swhat | have here. That
4 Hydro titled "The Review of Rate Design for 4 was the, what | thought was agreed to, in any
5 Newfoundland Power", correct? 5 event, 10:30to 10:45 and we break at 12:15
6 A. That'scorrect. 6 for lunch, so if that's satisfactory to
7 Q. Andthis evidence hasbeen revised on two 7 everybody, we'll proceed on that basis. Okay.
8 occasions, it was revised as an update on 8 BROWNE, Q.C.:
9 August the 12th, at least RDG-1 was revised 9 Q. Good morning, Mr. Greneman.
10 and RDG-1 was further revised October 31st. 10 A. Good morning.
11 Isthat correct? 11 Q. Can you summarize for us what Hydro is
12 A. That'scorrect. 12 proposing with regard to the wholesale rate
13 Q. Do you adopt these filings as your testimony 13 for sales to Newfoundland Power?
14 in these proceedings? 14 A.Yes. Hydroisproposing in this proceeding to
15 A.ldo. 15 request that the Board order Hydro, it'smy
16 Q. Those areall the questions. Mr. Greneman is 16 understanding, to implement ademand and an
17 available for cross-examination. Thank you, 17 energy rate for wholesale sdes to
18 Chair. 18 Newfoundland Power.
19 CHAIRMAN: 19 Q. And-
20 Q. Thank you, Mr. Young. Just before we begin | 20 A.If--sorry, go ahead.
21 guess we will adhereto the normal schedule. 21 Q. Oh, sorry, continue, please?
22 WEe'll proceed until 10:30, at which time we'll 22 A.If the Board does not order it, it hasfiled
23 break for 15 minutes, if that’sokay this 23 as a backup an energy only rates.
24 morning. Good morning, Mr. Browne. 24 Q. But the preference for Hydrois what you
25 BROWNE, Q.C.: 25 stated previously?

Discoveries Unlimited Inc., Ph: (709)437-5028

Page 1 - Page 4




November 14, 2003

Multi-Page™ NL Hydro's 2003 General Rate Application

Page 5 Page 6
1 MR. GRENEMAN: 1 Q. Youused theword "anomaly" there. We heard
2 A. That's my understanding. 2 yesterday in evidence that there were two
3 BROWNE, Q.C.: 3 exceptions, | guess, from the evidence
4 Q. You are here testifying on behalf of Stone and 4 provided by the Industrial Customers’ experts
5 Webster as well? 5 where they could point to situations where the
6 A. It depends--right, I’'m here on behalf of Stone 6 energy only rate wasalsoin practice. Can
7 and Webster, yes. 7 you tell us from your own experience if the
8 Q.Okay. Inreferenceto thereport that was 8 energy only rateisindeed an exception?
9 filed? 9 A.As | mentioned, | do believe it's an
10 A. That’scorrect. 10 exception. And | think the two examples that
11 Q. Okay. Andin that report you advocate or you 11 were mentioned yesterday referred to the upper
12 state in part of your recommendations, if we 12 northwest of Canada and the surplus of hydro--
13 can go there for amoment? That’s on page 17. 13 related to surplus of hydro. | think those
14 Andthe first bullet there you state, "An 14 aretwo unique situationsthat were brought
15 energy only rateto a wholesale customer the 15 up.
16 size of Newfoundland Power isan anomaly in 16 Q. Now, have you had an opportunity to review Mr.
17 terms of current industry practice." Can you 17 Brockman’s Supplementary Evidence of November
18 expand upon that, please? 18 6th, 2003?
19 A.Yes. |thinkit's, inmy observationit’'s 19 A.Yes, | have
20 very unusual to observe an entity the size 20 Q.Canwe justgoto that, please, on page 2,
21 such as Newfoundland and Labrador Hydro 21 lines 14 to 16? And there on page 2, lines 14
22 selling to an entity as large as Newfoundland 22 to 16 he statesthat "A Margina Cost Study
23 Power on an energy only rate. And within 23 and Retail Rate Design Study would be useful
24 Stone and Webster, whoever we mention thisto 24 in evaluating retail rates on the Isand
25 findsit surprising as--equally surprising. 25 Interconnected System." Does Hydro agree that
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1 such a study should be undertaken? 1 Q. Are you aware that the following the
2 A.Lines14and 15 say, refer to two separate and 2 completion of that--or are you aware in
3 distinct things. And if | may comment on what 3 reference to that whether or not Newfoundland
4 they are? No. 1, it refers to aMarginal Cost 4 and Labrador Hydro was involved in
5 Study, and secondly, it refers to what's 5 Newfoundland Power’s Marginal Cost Study?
6 caled here a Retail Rate Design Study. Now, 6 A.l havenoinformation, | don’'t know.
7 my recollectionis if you go afew lines 7 Q. Why would one company want to beinvolved in
8 above, that'sreally not a Retail Rate Design 8 the Marginal Cost Study of another company?
9 Study, but rather what's referred to, in my 9 (9:15am.)
10 reading, is a Load Research Study. And aLoad 10 A.I'll tell you my views on that. With respect
11 Research Study is simply to determine the load 11 to Hydro’'s Marginal Cost Study, Hydro as a
12 profiles to ascertain more accurately the load 12 wholesale supplier hasits own internal cost
13 profiles of the various customer classes. | 13 and it needsto go out and gather--it has
14 don't think it's correct in any fashion to 14 internal costs. But Margin Cost Study deals,
15 characterize that as a Retail Rate Design 15 ina sense, with the rate of change or the
16 Study. 16 slope of capital expendituresin the future
17 Q. Inreferenceto the Marginal Cost Study that 17 with respect to increment--with respect to
18 if we gotopage 3, lines17 to 20 of the 18 load growth. So one component of that is
19 supplementary evidence?  Mr. Brockman 19 identifying load growth into the future, and
20 recommends that the Marginal Cost Study and 20 it would need to go out and ask NP and perhaps
21 the Retail Rate Design Study be ajoint effort 21 its Industrial Customers and make projections
22 of Hydro and Newfoundland Power. Now, are you 22 forits Rural Customerswhat typeof load
23 aware that Newfoundland Power had its own 23 growth is going to happen over the next five,
24 Margin Cost Study completed some time ago? 24 ten, fifteen years. But | think it’slimited
25  A. | amaware of that. 25 to that inquiry. | don't think it really goes
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1 MR. GRENEMAN: 1 A. With respect to the direction of the study and
2 any further. | think the actual conducting of 2 the mechanics of the study and--marginal cost
3 aMargin Cost Study for Hydro should--that is 3 studies can be quite controversial and | think
4 to say, the mechanics--well, we'll be careful - 4 it needs to be handled by one entity. That's
5 -1 think--I don’t think Hydro really needs 5 my opinion.
6 input from other entities other than load 6 Q. Andit' syour opinion in thisinstance if the
7 growth projections. It needsto rely upon its 7 Marginal Cost Study is to be conducted and
8 internal cost. So, perhaps other entities can 8 ordered by the Board, it be conducted by
9 participate with respect to the terms of 9 Hydro?
10 reference, but | don’t--it's not clear to me 10  A. That'smy opinion.
11 how they would participate other than 11 Q. lIsit your opinionthat the Margina Cost
12 providing aload forecast. 12 Study is required prior to the implementation
13 BROWNE, Q.C.: 13 of aDemand Energy Rate?
14 Q. Would there be any proprietary information or 14 A. Absolutely not.
15 the likethat to which Newfoundland Power 15 Q. Why not?
16 could be violating by getting itself involved 16 A.Demand Energy Ratehas been accepted for
17 on the recommendation that’s made by Mr. 17 decadesnow. It's invirtualy every--the
18 Brockman here that the Marginal Cost Study be 18 support for Demand Energy Rateisin virtually
19 aHydro and Newfoundland Power joint effort? 19 every rate textbook that exists. | don't see
20 A.Wdll, there’s confidential information on both 20 any reason why a Demand Energy Rate should not
21 sides and so, yes, those issues can arise. 21 be implemented within the context in this
22 Q. Sofor that reason adone Newfoundland Power 22 proceeding. Marginal cost studies are a
23 should not beinvolved aspart of a joint 23 different animal in a sense. They’re--okay.
24 effort in Hydro's enterprise for aMarginal 24 This jurisdiction is an embedded cost
25 Cost Study, in your opinion? 25 jurisdiction, that is, we makerates based
Page 11 Page 12
1 upon costs that have been incurred and current 1 They’ re not adetermining factor. They're, if
2 costs as well, and we derive a revenue 2 you will, sort of amodifier to embedded or
3 requirement based upon accounting costs, if 3 accounting cost. In addition, | observed that
4 you will. There are few jurisdictions, very, 4 this Board has, and the parties have
5 very few and they’re dwindling, that determine 5 contemplated a Demand Energy Rate since asfar
6 revenue requirement based on marginal cost and 6 back as | know about 1989 and really have not
7 those that do--I'm sorry. Those that 7 cometo any consensuson how to implement a
8 determine what rate should be paid based upon 8 demand and energy rate. And thisisreally a
9 marginal cost ultimately reconciles to an 9 pretty straightforward process among parties
10 accounting based revenue requirement. So, if 10 that are willing to agree. When one
11 | can, for example, take asan example, the 11 introduces the concept of margina costs,
12 State of Illinoisinthe U.S., what they had 12 which is extremely controversial and is
13 doneisthey didn't evendo fully allocated 13 really, | mean, it'saways controversial,
14 studies, they did marginal cost studiesand 14 then you' re adding layers of complexity and,
15 then they scaled down all the costs to meet 15 in my view, delaying the implementation of a
16 the accounting cost revenue requirements, and 16 demand energy rate. Soit’'smy view that a
17 then they walked away from that about ayear 17 demand and energy rate should be implemented
18 ago. So, we'renot making rates, per se, on 18 first and could certainly be modified with the
19 marginal cost, we're fill--and aswell as 19 Marginal Cost Study as a guideline, or
20 what’ s being done throughout the rest of North 20 tweaked, if you will, using the Marginal Cost
21 America, ratesare being made on embedded 21 Study as aguideline.
22 cost. Marginal costsare usedto provide 22 Q. Butthefirst step would beto implement the
23 price signals or to provide a guide asto on 23 Demand Energy Rate?
24 and off peak pricing, what the relative level 24 A.Absolutely. | think it would be a mistake to
25 of demand should be with respect to energy. 25 wait for the Marginal Cost Study.
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1 BROWNE, Q.C.: 1 intrinsically means demand goes up, someone
2  Q Why do you think--you use the word "a 2 pays, someone doesn't collect. There' saone-
3 mistake". Why do you say that it would be a 3 to-one relationship there, in a sense
4 mistake to wait? 4 inseparable. The environment that existed was
5 A.It'smy feeling that it would--we would never 5 one of--well, it was, if | may say, it was an
6 have ademand and energy rate because if we 6 energy only rate when in conjunction with
7 can't agree on something so simple as a demand 7 Hydro's Revenue Stabilization Plan and Hydro’'s
8 and energy rate, with the added complexity of 8 RSA tended tolevelize or stabilize NP's
9 marginal cost, it just becomes too involved, 9 purchases and its annual cost. So in moving
10 inmy view. 10 away from that there is some volatility
11 Q. We heard yesterday in questions put by Mr. lan 11 introduced. Now, there are a number of ways
12 Kelly of Newfoundland Power tothe experts 12 to mitigate the volatility.
13 from the Industrial Customersthat a Demand 13 Q. Canyou tell us about those?
14 Energy Rate, if implemented in this 14 A.Weéll, No. 1, Hydro hasgone alongway in
15 jurisdiction, would lead to certain 15 offering to weather normalize the demand, and
16 volatilities, | think he used the word 16 that goesa very largeway in mitigating
17 "volatilities'. Y ou were here and heard that 17 volatility. Thatisto say, it'srecognized
18 evidence. What isyour view on that? 18 that there'll be colder winters and there’ll
19 A. My view isthat a demand rate and volatility 19 be warmer winters, but we' re proposing to use
20 go hand in hand, they’re part and parcel, the 20 aweather normalized demand. So that goesa
21 samething. And they’reintrinsically the 21 long distance to stabilizing volatility. In
22 same because when you give someone an 22 addition, the volatility that NP has shown in
23 opportunity to lower their demand, then 23 their evidence is based upon a plus and minus
24 they’re going to say the other party is going 24 five percent deviation. That wasreally a
25 to lose and vice versa. So demand 25 rounded number. Within recent history,
Page 15 Page 16
1 actually, the maximum deviation has beenin 1 triggers occur in order to--so we can operate
2 the order of 3.6 percent. It was just rounded 2 more normally, inamore normal range. In
3 up to five percent as awhole number. And 3 addition, there are mechanisms that NP can
4 even considering that 3.6 percent, that'sa 4 implement, for example, one similar to what
5 before tax effect. Now, what NP has shown in 5 B.C. Hydro has done to stabilize earnings
6 their evidence isthat they have a--how do | 6 internally. So there is that type of
7 say this? It'sallowed return on rate base 7 mechanism that could be done. And in asense,
8 range. I'm not sure if I'mstating that 8 finally, theplus and minusvariations in
9 right. Butit'sa sensean earningsrange 9 earnings over time hopefully tend to cancel
10 that they’re allowed to earn between. That 10 each other out. So,| don't view it as
11 earnings range has been negotiated based upon 11 anything more than any other utility having a
12 two conditions that existed. One of them was 12 Demand Energy Rate needs--itself liveswith.
13 the fact that they would be served under an 13 Andin fact, | think it’s alittle more modest
14 energy only rateand therewasa decreased 14 than that inview of thefact that we have
15 level of volatility. The other one isthe 15 weather normalization and so on.
16 fact that there was aload variation component 16 Q. Okay. So you say the weather normalization
17 in Hydro’'s rates and they had Rsa aswell. 17 will assist. What about the Rate
18 So, when their range of allowed earningsis 18 Stabilization Plan, would that assist in this?
19 viewed in the context of the energy only rate 19 A.You mean--the rate--the range--the Rate
20 and viewed in the context of the Rate 20 Stabilization Plan with respect to their own
21 Stabilization Plan, it would in a sense make 21 earnings or to implement a new -
22 sense. Under a Demand Energy Rate where 22 Q. Wadll, the new oneis about to be implemented,
23 there's agreater level of volatility, it 23 the fact that it allows for a certain
24 would only make sense, in my view, to ask the 24 stability in the -
25 Board to expand that earnings range at which 25  A.I’d haveto study that little more, it might
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1 MR. GRENEMAN: 1 A. Absolutely not.

2 help. I’d need to study that. 2 Q. And other utilities deal with it in the ways

3 BROWNE, Q.C. 3 that you’ re espousing now?

4 Q. Interms of therange, canyou expand upon 4 A. Some utilities just accept the volatility. |

5 that a bit, the fact that their Rate of Return 5 mean, it's just an increase or decrease in

6 on Rate Baseis expressed and arange, as 6 earnings. And according to NP's evidence,

7 indeed is Rate of Return on Equity? You're 7 it's only plus or minus $5 million over their

8 saying that will addressthe volatility toa 8 total earnings, andit’s not a humongous

9 degree? 9 number.

10 A.Well, my understanding isthat it's a pretty 10 Q. Intermsof the end user, by going to a Demand

11 tight range right now. 11 Energy Rate, how will the end user, the

12 Q. Not tight enough from our perspective, but 12 ultimate consumer be affected?

13 anyway, keep going. 13  A.It's my view that a Demand Energy Rate

14 A .Wéll, I'm judgingit tobe atight range, 14 ultimately trickles down to the end user. |

15 actually, from NP's evidence where they showed 15 think it provides for relevant pricing. You

16 it cantheoretically trigger beyond that. 16 see, Hydroisredlly selling two products to

17 There isdefinitely a bit more volatility 17 Newfoundland Power. They're selling capacity

18 introduced with respect to the introduction of 18 and they're selling energy. And in order for,

19 a demand component. And all things being 19 in order to enable the sales Hydro had to make

20 equal, to keeptherelative volatility with 20 along-term financial commitment of capacity

21 respect to that range, perhaps the range can 21 to construct generating facilities and it

22 be expanded or restructured in some fashion. 22 needs to pay back its bankers and it can't pay

23 Q. Andother utilitieshave to deal with this 23 back its banker on how many kilowatt hoursis

24 volatility, this would not be unique to 24 sold, it needs to pay back afixed amount. So

25 Newfoundland Power? 25 what’sdonein theindustry isit structures
Page 19 Page 20

1 what’ s called a demand charge, and that demand 1 resource price signal and there's acapital

2 charge reflects the capital cost of generating 2 resource price signal. And right now there's

3 facilities and its long-term financia 3 only an energy price signal and it doesn’t

4 commitment made by Hydro on behalf of NP, on 4 differentiate between what’ s capital intensive

5 behalf of the Industrial Customersand the 5 and what’ s natural resource intensive. So |

6 Rural Customers based upon their historical 6 think there’ s adefinite virtue in separating

7 demand pattern. 7 the two, and in fact, that’s what the industry

8 (9:30am.) 8 does do.

9 Soit structuresarate inthe industry to 9 Q. Okay. That'swell and good. But if you were
10 recover capital cost regardless of kilowatt 10 to go on CBC tomorrow morning to explain it to
11 hoursthat are produced or consumed by the 11 their interviewer by moving to a demand energy
12 customer. And that demand charge also serves 12 charge consumers will benefit, he will want to
13 an aternate purpose, it providesa price 13 know the nuts and bolts of how that benefit
14 signal to NP as a consumer and hopefully down 14 would derive right down to aperson in their
15 to NP'sretail customersas to the financial 15 home. Can youtell usthat?

16 commitment that Hydro made on behalf of NP, 16 A. Well, some of the responses are very subtle,
17 long-term commitment for capital generating 17 some could be very direct in the form of, for
18 resources. So the price signal, there are two 18 example, water heating control or water

19 pricesignals. Oneis acapital resource 19 heating in range interlocks or seasonal rates.
20 price signal which is demand, the otherisa 20 And | know that in a sense could be done right
21 natural resource price signal which is energy. 21 now, but what it really takesis actually a

22 Energy is gas, oil, water and the capital is 22 price--1 think it's Hydro’ s responsibility to

23 labour and steel. So hopefully the NP's 23 pass on its costs to its customer and

24 ultimate customers and NP itself as a customer 24 consumer, NP, and for NPin asensetotry to

25 will recognize that there’' s a variable natural 25 reflect that to its customers. The phrase
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1 MR. GRENEMAN: 1 be alower outlay, and there actually could be
2 that necessity isthe mother of invention has 2 a present worth effect of that.
3 been brought out by an often quoted author, 3 Q. Sowith ademand energy charge we should see
4 James Bonbright, who identified ten attributes 4 eventually reduced capita budgetary
5 of a sound rate structure. And one of the 5 expenditures by Power and indeed, by Hydro, is
6 attributes is what's known as dynamic 6 that -
7 efficiency, and that isthat arate hasto be 7  A. That would be my expectation.
8 ableto respond to invasion and changes in 8 Q. Andtherefore ultimately the consumers would
9 supply and demand. And asademand and energy | 9 get the--wouldn’t be paying for what is not
10 only rateit cannot respond to that. And it 10 really necessary on the system?
11 takes the two components to be able to instill 11 A. That’scorrect.
12 upon the end use customersthat if they lower 12 Q. Andtogether with that, with this particular
13 demand, there' Il be adirect lowering of cost 13 rate we would also be able to get into other
14 to NP, so their costs will ultimately go down. 14 variations such as seasonal rates and time of
15 It may not go down next week or next year, but 15 use rates and so on?
16 ultimately it will be lower. So alot of the 16  A.ltdoesn’'tinany way prohibit that. Yes.
17 effects are subtle. But it takes an actually 17 Q. Wouldit beenhanced by moving to ademand
18 demanded energy price signal to do that, in my 18 energy charge?
19 view. 19  A. It would definitely give you more flexibility.
20 BROWNE, Q.C.: 20 Y ou could attribute seasonality to the demand
21 Q. And therates will go down because there will 21 component, you can attribute seasonality to
22 not be as great a capital outlay, isthat - 22 the energy component. Right now you just have
23 A.It'snot necessarily in thevery immediate 23 there' sjust one component to deal with.
24 term, but in the longer term it may defer the 24 Q. Ultimately what would it dotothe system?
25 next plant and therefore there will eventually 25 Y ou heard evidence here yesterday concerning
Page 23 Page 24
1 the potential growth for the system. We just 1 can goto page5andlines6 to 8 there? He
2 brought on Granite Canal, Hydro did, for the 2 states, "The extent to which the firm energy
3 benefit of the users of the province and we 3 criterion affectsthe cost of capacity isa
4 have Idland Pond the next, and indeed, the 4 question that could best be resolved by Hydro
5 only hydrology project left onthe island 5 and Newfoundland Power completing along-run
6 coming on in the next six or seven years, and 6 Marginal Cost Study in whichincreases in
7 that’sit, that'll give us 36 megawatts at a 7 demand and energy are tested for their impact
8 cost of $150 million. In terms of the 8 on future system costs." You've aready
9 necessitiesfor these projects and for the 9 disagreed with that?
10 goalsand objectivesof the system, will a 10 A.Yes
11 Demand Energy Rate assist here? 11 Q. Andthen he says, "A Margina Cost Study based
12 A ltwill assist in--it will assist in two ways. 12 on Hydro' s planning models will greatly assist
13 Well, it will assistin twoways. It will 13 in resolving the relative values of margina
14 assist in deferring the need for new capacity, 14 demand versus marginal energy in retail rate
15 and there’'sa present worth effect of that. 15 design, thevaue of Newfoundland Power’s
16 So over thelong run it will save customers. 16 curtailable service option, the value of
17 But the other effect is to the extent that 17 Hydro's interruptible B and the value of
18 Hydro would be increasingly over years perhaps |18 implementing additional rate options to
19 going more to thermal, it would save natural 19 Newfoundland Power’s customers.” He makesa
20 resources as well. 20 reference there to Hydro’'s planning models.
21 Q. Soit would be planning for thefuture by 21 Inyour view isa modelling effort such as
22 doing it now? 22 that proposed by Mr. Brockman needed in order
23 A.Yes, it would be. 23 to determine the marginal costs?
24 Q. Justinreferenceto Mr. Brockman’'s evidence 24 A. Of generation, of generation?
25 again, if we can take you back there? If we 25 Q. Yes.
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1 MR. GRENEMAN: 1 it's necessarily necessary.
2 A.Perhaps. Not of T and D, not of transmission 2 Q. Does Hydro have amodel capable of undertaking
3 and distribution. 3 such astudy, do you know?
4 BROWNE, Q.C.: 4  A.ldon't know offhand.
5 Q. Not of transmission. What would be the cost 5 Q. When Newfoundland Power completed its Marginal
6 of such a study? 6 Cost Study, wasthat an in-house completion,
7  A.l would assumethat alot of it would be done 7 to your knowledge?
8 in-house by--1 would need to discussit with 8 A.l looked at the study and | didn’'t--my
9 the Company, honestly, and | - 9 understanding it was, but that's just my
10 Q. Butthey could do it in-house? 10 initial understanding. 1’d need to check it.
11 A.l would suggest they get some outside 11 I don't recall. I think it wasin-house, I'm
12 guidance. But it could--alot of it--well, 12 not sure.
13 it'stheir own internal costsand they know 13 Q. You thinkit was in-house. | guess Mr.
14 their cost better than anyone else, so | think 14 Brockman will be able to apprise us of that
15 it would be my view isthat it should be done 15 when he gets on the stand. On page 14 of your
16 in-house with the guidance of an outside 16 pre-filed evidence I'm going to goto now,
17 consultant. 17 lines16 to 18. Just bear with me amoment
18 Q. And- 18 now, please. So we'relooking at lines 16 to
19 A. Thereare different possibilities. 19 18 on page 14 of your own evidence. Some of
20 Q.And is it necessary to undertake such a 20 this you have already answered now, you
21 modelling effort in order to determine 21 referred to discussions surrounding the
22 marginal costs? 22 propriety of the current energy only rate form
23 A.Not aways. | don't--Hydro doesn’t have alot 23 for sales of other electricity can be traced
24 of different types of stack units. | would 24 back at least to 1989. That seemslike along
25 need to discussit with them. | don't think 25 time to be discussing this particular issue,
Page 27 Page 28
1 it goesright back to 1989. Do you have any 1 that time?
2 views on that, reading between the lines what 2 A.Apparently, correct.
3 transpired from 1989 'til now? 3 Q. Andthen! think wewent into--after 1992 |
4 A Well, it just seemed that parties, you know, 4 don't believe there were any hearings until
5 took up the issue when they were nudged to do 5 1996. And I think the Board may have ordered
6 so. | really--it was punctuated over time and 6 something in 1996 and time passes and here we
7 I, you know, was not hereand | redly - 7 are since 1989 and what are we, fifteen years,
8 Q. Andtherecord indicated as well at one point 8 fourteen years later and there' s still nothing
9 Newfoundland Power felt--advocated a demand 9 been done. Do you have any comment on that,
10 energy rate, isthat correct? 10 asto how we could have been waiting for so
11  A. That’scorrect. 11 long for something to happen that was
12 Q. And Mr. Brockman, asan expert, came forward 12 recommended to begin with?
13 to the Board and advocated that. You make 13 A. Well, my understanding is at certain pointsin
14 reference to thisin your evidence. Have you 14 time, both Hydro and NP, you know, | guess,
15 looked at the transcripts or have you looked 15 mutually happy with the energy only rates. It
16 at the history of what went on after that 16 seemed to allow them to dispatch, for NPto
17 period of time? 17 dispatch their hydro in amanner that they’ ve
18 A.l have, | don't know if | canrecal in 18 been doing without any constraints. It
19 detail. 19 doesn’t mean it's theright rate, it just
20 Q. You makereferencein line 22 and 23 that the 20 meansthat the right amount of revenues--no
21 most recent proposals and discussions between 21 one contested the amount of revenue that was
22 Hydro and Newfoundland Power todevelop a |22 being transferred.
23 demand rate occurred in 1992, but yet, there 23 Q. Canyou comment on the benefits that we have
24 was no resolution of the matter, we till 24 lost over time by not having put in the demand
25 didn’t have a demand rate coming forward at 25 rate as recommended by Newfoundland Power back
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1 BROWNE, Q.C.: 1 A It'sdifficult to say if they would have been
2 in 1990, 19917 2 lower now or next year or three years ago.
3 A.lthink that'savalid point. Had it been put 3 But | think there would have been amore, at
4 inearlier, | think efforts could have been 4 least conceptually a more efficient rationing
5 made earlier on to change, apply--to putin 5 of products, capacity and energy. Capacity
6 plans and road management techniques to lower 6 for the overal efficiency of utilization of
7 the demand at thispoint intime. | think 7 demand on theldland and energy for the
8 that's - 8 conservation of natural resources, but -
9 Q. And, of course, wewould have seen--what, in 9 (9:45am.)
10 your view would have been theresult inthe 10 Q. Given that that's the fact, why would
11 intervening years? 11 Newfoundland Power be coming forward to this
12 A.ltwould haveinstilled the need to conserve 12 Board opposing theintroduction of ademand
13 capital and demand, hopefully, at |east there 13 energy rate, in your view?
14 would have been an intellectual recognition of 14 A.It's, you know, it'sreally not clear to me.
15 thefact that there are two components of 15 Q. Doyou have any opinion onit at all?
16 supply; namely capacity and energy. 16 A.l don'tthink the volatility issueinand of
17 Q. Well, we would have been using our resources 17 itself is sufficient to opposeit, in my view
18 wiser, in your view, by now? 18 and that's theonly evidencel’ve seen put
19  A. That would be the hope. 19 forth. It's not clear to me why they would be
20 Q. So there's been a lot lost over the 20 opposing it.
21 intervening period? 21 Q.| guessthat’s something we'll have to wait
22 A. It could have been. 22 for Mr. Brockman to comeon the stand and
23 Q. Would consumer rates have been lower in your 23 maybe he can explain ittous. In terms of
24 view if we had to haveintroduced this back 24 your own evidence, if we go back to page 15
25 when Newfoundland Power first advocated it? 25 and continuing with this theme and on line 26,
Page 31 Page 32
1 you say, "The energy price signals the need to 1 done, but I don't think it stands solely on
2 either useor conserve natura resources, 2 the merits of whether NP can reflect--1 don't
3 while the demand price signalstheneed to 3 think theneed for an NPrate is solely
4 conserve capital resources and the energy only 4 predicated on whether--1 don’t think the need
5 rate is therefore seen as giving an incomplete 5 for NP demand energy rate is solely predicated
6 price signal." Now inreference to that 6 on whether NP can reflect that price signal
7 incomplete price signal, to whom does that go? 7 down to their end-use customers. | think it
8 A.That pricesignal isaprice signal to NPand 8 has merits on its own just that Hydro be able
9 it could trickle down to itsretail customers, 9 to charge NP based on the cost structure that
10 depending upon the extent to which NP 10 itlivesand diesby. | don't think in that
11 demonstratesto itsretail customers what the 11 regard an energy only rateis appropriate. It
12 components of cost are. 12 has a financial commitment, it needs to
13 Q. And why would NP not want that price signal 13 reflect that in a demand energy rate.
14 that isnow not going to the customers, why 14 Q. Isthefact that there's no demand component
15 would they not want a demand energy in place 15 in the wholesale power rate unfair to Hydro’'s
16 sothat their end customerscould get that 16 other customers?
17 price signal? 17 A.If | canjust reinterpret what you said, there
18  A.ldedly, | think they would liketo fully 18 isa demand component init, butit's not
19 reflect that price signal in some fashion to 19 being properly charged and by virtue of the
20 their retail customers, to their end-use 20 fact that it’s not being properly charged, |
21 customers. | think they claim that they don’t 21 do see it asbeing unfair to its other
22 know of any way of doing--whatever they are 22 customers.
23 doing now is the most they can do. 23 Q. Soit'sunfair to the Industrial Customers, do
24 Q. But that’s not the fact from your perspective? 24 you believe?
25  A.lthink thereare morethings that can be 25 A.Yes | do.
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Page 33 Page 34
1 BROWNE, Q.C.: 1 ability to infact make more money. Would
2 Q. And can you expand upon that and tell us how 2 that--how do you see that in terms of
3 itisunfair? 3 introducing demand energy only rate where we
4 A Weél as itwas brought out in testimony 4 wouldn’'t seeso much capital expenditure,
5 yesterday, NP makes aforecast and if they’'re 5 according to what you' re saying?
6 off by the forecadt, if their forecast is 6 A.Right, that wasIr, aninformation request
7 different than the actual, it’ s just simply an 7 actually and the anticipation isthat over the
8 academic fact. | mean, they just pay the 8 long term, the effect of a demand energy rate
9 forecast and there’ s no reconciliation with 9 would be to reduce Hydro' s rate base.
10 actual and | don't meanto say that there 10 Q. Would it have the same effect on Newfoundland
11 should be areconciliation with actual, but 11 Power of over the term reducing Newfoundland
12 Industrial Customers, on the other hand, if 12 Power’ s rate base?
13 they forecast wrong have to--they can incur a 13 A. It would reduce--it would have the effect of
14 lot of additional costs, so - 14 reducing, hopefully it would have the effect
15 Q. So NP is home free, but the Industria 15 of reducing Newfoundland Power’s costs to
16 Customers aren’t, according to the system 16 Hydro for purchase power and hopefully it
17 we're - 17 would also have the effect of reducing--to the
18 A.Waéll, I'd be careful about using the phrase 18 extent that they canpass it onto their
19 "home free", but - 19 customers and their customers can respond, of
20 Q. Yeah, okay. Whenyou stated that a demand 20 reducing NP s rate base as well. So there can
21 energy rate would conserve capital resources, 21 be that doubl e effect.
22 indeed reserve natural resources, becausein 22 Q. lIsthe primary reason for including a demand
23 thisjurisdiction we are on a rate-base system 23 component in the rate to reflect costs that
24 and therefore, the more capital expended to 24 Newfoundland Power imposes on the system,
25 build plant, in fact givesthe proponent an 25 rather than to promote demand energy--demand
Page 35 Page 36
1 management, I’ m sorry, the primary reason for 1 saying we need no additional capacity until
2 including ademand component in the rate to 2 2008 or 2010 or whatever they’ re saying, that
3 reflect costs that Newfoundland Power imposes 3 makes no difference in your view to the -
4 on the system, rather than to promote demand 4 A. With respect to implementing ademand energy
5 management? 5 rate?
6 A.lthink, in my view, they could be equal or 6 Q.Yes
7 anyone could be greater, depending upon the 7 A.No.
8 circumstances at thetime. | could see 8 Q. Sowe should do that now regardless?
9 circumstancesthat either one could be more 9 A ltotally agree.
10 important, so | think they’ re both important. 10 Q. Whatif Hydrodoesn't undertake a marginal
11 Q. Should ademand energy rate be introduced 11 cost study? Should ademand energy rate be
12 regardiess of whether Hydro forecast aneed 12 introduced regardless of that?
13 for additional capacity? 13 A.Byal means.
14  A. Absolutely, because these are the costs they 14 Q. Sothesetwo events are, in your view, no way
15 live and die by. They made financial 15 connected?
16 commitments and they need to--ademand rate, 16 A.Waél, they’'re not in no way connected.
17 Hydro can’t say I’ m going to pay--say to their 17 Marginal cost can serve asa guide on how to
18 bankers, I’'m going to pay you back if | sell 18 tweak demand energy rate. There's a
19 enough kilowatt hours. They have to pay their 19 connection, but certainly amarginal cost does
20 financial commitment, and the introduction of 20 notin any way serveas aprerequisite to
21 ademand component represents that financial 21 implementing a demand energy rate.
22 commitment and passesit on to its customer, 22 Q.Okay. Some particulars now along these
23 namely NP. Soyes, it stands onits own 23 themes, this theme that we have. On page 16,
24 merits. 24 line6to 8 of your pre-filed evidence, you
25 Q. Sothefact that Hydro is before the Board now 25 state that "an additional advantage of a
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1 BROWNE, Q.C.: 1 A.It'll be a more efficient allocation of
2 demand energy rate form isthat attracts cost 2 capital and natural resources, Yyes.
3 causality and changes in customer load 3 Efficiency will result. | don'tthink it
4 profiles much more closely than an energy only 4 could be argued that an energy only rateisin
5 rate," and why isthis important, in your 5 any way more efficient than a demanded energy
6 view? 6 rate.
7 . Well, if customer load factor changes, a 7 Q. That'snot your view?
8 demand and energy rate should concept--a 8 A.Demand and energy rate, in my view, ismore
9 demand and energy rate will track the cost 9 efficient than an energy only rate, and it
10 changes in accordance with the changes in the 10 would only add to increase system efficiency
11 load profile. That is to say, if customers, 11 and it's more efficient in allocating
12 for example, cut their energy usein half, 12 society’ s resources.
13 then NP has to, for example, burn less 13 Q. Becauseit trackscosts moreclosely, is a
14 kilowatt hours and there' Il be a matching of 14 demand energy rate amore fair rate structure
15 cost and revenues. So the cost and revenues 15 ultimately?
16 tendto follow each other for each of the 16 A. Absolutely. That’sthe whole point.
17 products, one product being capacity and the 17 Q. Soit's morefair tothe end user, to the
18 other product being energy. | would note that 18 consumer ultimately?
19 the capacity product, the change does not 19  A. Torepresent the costs as they areincurred by
20 follow immediately. It could take years, but 20 society is, in my view, more fair.
21 thereisacorrelation, and that correlation 21 Q. On page 16 of your evidence, lines 10 to 18,
22 doesn't exist accurately in an energy only 22 you mention seasonal rates and load management
23 rate. 23 such as water heating control as ways
24 Q. So ultimately, is efficiency--will efficiency 24 utilities such as Newfoundland Power can pass
25 or greater efficiency be the result? 25 ademand signal on to their customers, and of
Page 39 Page 40
1 course, Newfoundland Power does not currently 1 can't say with certainty, but it’s possible.
2 have seasonal rates or water heating control 2 Q. On page 16 to 18 of your evidence, you discuss
3 rates. Do you expect this might be because it 3 issues such asrevenue stability and the
4 hasan energy only wholesalerate? So in 4 treatment of Newfoundland Power’s generation
5 fact, has noincentive to implement such 5 and other demand rate considerations. In
6 retail rate programs. 6 terms of coming before this Board, you' re now
7 . That could be very likely. | personally 7 coming before advocating a demand energy rate
8 believe in the saying "necessity is the mother 8 and some of these you've viewed as problems.
9 of invention." If you’'re presented with a 9 When canwe anticipate or when should we
10 rate structure, you have moreincentive to 10 anticipate a demand energy rate could be
11 react toit. | mean, that’s my feeling. 11 implemented? What is arealistic date for
12 .1 guess if customers ultimately had the 12 implementing a demand energy rate in the
13 benefit of seasonal rates or water heating 13 province?
14 control rates, the electricity consumers in 14 (10:00 am.)
15 the province, if wehad had thisback in 15 A.lcan't speak fully for Hydro, but it'smy
16 1989/1991 when Newfoundland Power first 16 understanding that if this Board orders in
17 advocated it, the people, consumersof the 17 this proceeding that Hydro implement a demand
18 province have missed out on a potential means 18 energy rate, it will do so expeditiously and |
19 for reducing their bills. Would that be true? 19 can't speak with respect to for Hydro on this,
20 .1t could be true. In many other 20 but that’ s my understanding that it would be
21 jurisdictions, water heating rates, ceramic 21 in arelatively short, very short time frame.
22 storage rates, heater rates and other 22 Q.And how do you definerelatively short time
23 variations have aready been put into effect. 23 frame?
24 It might be that they haven’t been put into 24 A. And once again, I’m not speaking on behalf of
25 effect here because of an energy only rate. | 25 Hydro, and | would think it would be within a
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1 MR. GRENEMAN: 1 That’s the summary of evidence, September 2,
2 month or so, but I’ d have to consult with them 2 2003. He makes certain comments here, and I’'m
3 and I’'m not speaking for them. 3 just going to ask you in reference to these.
4 BROWNE, Q.C.: 4 He says "after reviewing the energy only rate
5 Q. Soeffectively, | guess we would have to wait 5 compared to the sample rate, using generally
6 for the Board's order in reference to this, 6 accepted principles of good rate design, |
7 but a month after that order, these things 7 make the following conclusions," and then he
8 could be implemented? That’s a possibility? 8 uses a bullet, "the energy only rate is
9 A. Subject to Hydro. 9 superior tothe sample ratein collecting
10 Q. So we could see ademand energy rate in effect 10 revenue requirements for afair return." What
11 what, April-May? 11 isyour view of that?
12 A.lwouldreally needto confer with Hydro on 12 A.ldon't agreewithit.
13 that. | would think - 13 Q. Why do you not agree with that?
14 Q. But we're not talking about along period of 14  A. Okay. If wetake--it's superior--okay, if you
15 timein any case. We'retalking - 15 take your sentence and look at it, "it's
16 A. We're not talking about years. 16 superior to collecting revenue requirements,”
17 Q.- about some timein 2004, this demand energy 17 can you read it?
18 rate could be implemented? 18 Q. Yes, doyou haveit there onthe screen?
19  A. That'smy understanding. 19 Y ou're having--it says "the energy only rate
20 Q.Okay. If wecan justgoto Mr. Brockman's 20 is superior -
21 evidence again, | just want to get your views 21 A.Whatlineisthat?
22 on some of these comments that he has made in 22 Q. It'spage oneof the pre-filed evidence of
23 reference to this particular issue, and we go 23 September 2, 2003. Sorry, Terry, | probably
24 to page one and two of his pre-filed evidence. 24 should have explained it there. See page one
25 | think there’'sa summary of some sort there. 25 down below, September 2, 2003. Y ou might have
Page 43 Page 44
1 it ona different format. Keep going, | 1 BROWNE, Q.C.:
2 think, Mr. O’ Reilly. 2 Q. Okay. Thankyou, Mr. O’ Reilly. Okay. It
3 A. | could answer the question without it. 3 says here -
4 Q. Maybeif your counsdl there gave you the page, 4 Al seeit, okay.
5 soyou'd - 5 Q. Okay. "The energy only rateis superior to
6 MR. YOUNG: 6 the sample rate in collecting revenue
7 Q. I'mlooking for it. 7 requirements for afair return.” That’'sthe
8 BROWNE, Q.C.: 8 conclusion Mr. Brockman makes. What is your
9 Q. Oh,yourelooking for it as well. It'sthe 9 view of that?
10 pre-filed evidence of September, and he has it 10 A.Okay. | have severa views. Number one, the
11 in his summary. There might be two page ones, 11 revenue requirement and fair return are, in a
12 | think, fromwhat | can see here. Maybe 12 sense, synonymous. Intrinsic in the revenue
13 that’ s what’ s going on. 13 requirement isafair return. So | think we
14 CHAIRMAN: 14 could take out, in my view, the words "fair
15 Q. Doyou havethe officia copy there? 15 return” because it tends to imply things that
16 BROWNE, Q.C.: 16 shouldn’t beimplied, and in my view, first of
17 Q. Okay, if you can give that to thewitness. 17 all, the sentence should read "in collecting
18 Thank you. 18 the revenue requirement” and | don’t think the
19 KELLY, Q.C. 19 word "fair return" means anything.
20 Q. That'snot the right evidence on the screen, | 20 Second of all, there are many, many
21 don’'t think. That's 2001 you have. 21 attributes of what a desirablerate design
22 MR.O'REILLY: 22 should be, and one, perhaps, of the most
23 Q. My apologies. 23 simplistic of all, and | really mean the most
24 MR. YOUNG: 24 simplistic, is doesit collect the revenue
25 Q. Therewego. 25 requirements and that’ signoring allocation, a
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1 MR. GRENEMAN: 1 identity in that sense. So inthis very,
2 resources ability to respond to changing 2 very, very narrow sense, | would agree with
3 supply and demand conditions, ability to 3 that statement and | don’t think it should be
4 result in innovation. It'signoring what | 4 relied uponin any fashion asto whether or
5 consider to be very, very important 5 not to implement a demand and energy rate.
6 attributes, but focusing narrowly on this one 6 BROWNE, Q.C.:
7 attribute, the ability to collect the revenue 7 Q. Healso saysthat "the energy only rate fairly
8 requirement, it doesthat very well because 8 recovers Hydro's cost of service revenue
9 not only isit an energy only rate, but it's 9 requirement from Newfoundland Power." Do you
10 an energy only ratein the context of arate 10 have any comments on that, in terms of
1 stabilization plan and its own RS--NP'SRSA. 1 comparing it to the sample rate?
12 So even if it doesn't collect the revenue 12 A.It'snot clear how that's different from the
13 requirement, the rate stabilization plan will 13 first one.
14 forceit to collect the revenue regquirement. 14 Q. Sothat'sthe same thing in your view?
15 So it doesthat, and it does it well. 15 A.It'svery close
16 Butit's avery simplistic measure and 16 Q. Then he says-
17 once--and as this was discussed many timesin 17 A. If you--okay.
18 the demand energy report, once you unstabilize 18 Q. Okay, do you have acomment on it at all?
19 any component of that, meaning if you take 19  A. No, they'reso similar asto -
20 some of the costsaway from energy and put 20 Q.So bullet one and two are the same
21 them in demand, by identity, they become at 21 effectively, in your view?
22 risk to one party or another and by virtue of 22 A. I think they’'re very similar.
23 the fact that they’re at risk for one party or 23 Q. Thethird bullet, he says"ademand energy
24 another, collecting the revenue requirement 24 rate fairly apportions costs between Hydro's
25 for that componentisat risk. So it'san 25 Industrial Customers, but isnot needed for
Page 47 Page 48
1 Newfoundland Power since it is the only 1 an information request, my recollection is
2 customer initsclass." What isyour view of 2 they responded that there were two customers
3 that? 3 in class, they still--but | totally don't
4 . While | agree that it’s an absolute necessity 4 understand that.
5 for two customers in aclass-—-if therewere 5 Q. S0, they just don’t want it, period.
6 two customers, there would have to be a demand 6 A.Yeah.
7 and energy rate, inmy view, or else two 7 Q. The fourth bullet, he says, "the current
8 special contracts. 8 energy only rateis superior to the sample
9 .But as | mentioned before, ademand energy 9 rate in promoting energy efficiency”. What is
10 rate, even with one customer class isfully 10 your comment on that?
11 justified based upon the fact that | believe 11 A.Well, | think the thrust of that statement is
12 it'sHydro’'s responsibility to passon its 12 by virtue of the fact that it's higher in
13 cost asit incurs itsfinancia obligations. 13 magnitude. You see, the current raterolls
14 And aso to encourage load management onthe |14 demand cost into the energy component and by
15 Island to increase the overal efficiency of 15 doing so, itraises the energy component
16 capital resource utilization on the Iland and 16 higher than it would normally be on an average
17 to lower the use of natural resources when 17 basis. And | think that the thrust of that
18 that can be done. 18 statement is, by virtue of the fact that it’s
19 Q. So, their reliance upon the fact that they’re 19 higher than the energy component should be, it
20 the only customer in their class, that doesn’t 20 resultsin energy conservation. | think--1
21 give validity to hiscomment that the energy 21 don’'t agree withthat. | think the right
22 only rate is, infact, better, | guess,is 22 price signal isthe price signal that reflects
23 what he'strying to tell us, than the sample 23 cost asthey areactualy incurred. And by
24 rate? 24 the way, to the extent that it promotes, may
25 A.Right. What struck meisthat in response to 25 promote energy conservation, it certainly does
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1 MR. GRENEMAN: 1 Power indicates that the storage modification

2 not address conservation of capital resources. 2 would increase the likelihood of spillage and

3 BROWNE, Q.C.: 3 result in a less than optima use of

4 Q. Andthey say aspart of that bullet aswell, 4 generation resources’.

5 "an inappropriate emphasis on demand charges 5 A. My understanding isthat there's-on poaint,

6 in the samplerate design contributes to 6 not alot of potential to actually move water

7 inefficiency in the same rate energy charges'. 7 from one period to other and--1 don’t think it

8 A. |l disagree with that. 8 would result ina large amount of dollars.

9 Q. Why do you disagree with that? 9 That’smy initial understanding. And | don’t
10 A. Becauseit' stheright signal for efficiency. 10 think they should be permitted to do that, to
11 In my view, it’sthe correct signal and it has 11 increase overall system costs for the benefit
12 to be the correct signal because it replicates 12 of arbitraging summer, winter kilowatt hours.
13 how Hydro incursits cost, therefore it must 13 Q. I’'mnot certain what you mean by that, can you
14 be the correct signal. 14 expand upon that alittle more?

15 Q. So, theenergy only rateis an incorrect 15 A Waéll, it may put afew extradollarsin their

16 signal? 16 pockets.

17 A.Inmy view, yes. 17 Q. Inwhose pockets?

18 Q. Thenthenext bullet, it states, "the energy 18  A.InNPspocket, but | think it would be to the

19 only rate allows Hydro and Newfoundland Power |19 detriment of the island system.

20 to optimise theuse of their hydraulic and 20 Q. I'msorry, how -

21 thermal generation resources, the proposed 21  A.Because-

22 sample rate would send an inappropriate 22 Q.-wouldthey get afew extradollars putin

23 pricing signal that would encourage 23 their pocket? 1I'm not--that’s caught my

24 Newfoundland Power to modify its hydraulic 24 attention, can you explain that?

25 storage patterns to reduce cost. Newfoundland 25 A.I’'mnot sure it would put any more money in
Page 51 Page 52

1 their pocket, but the theory isthat if they 1 Q. Then the next bullet they state, "Newfoundland

2 can--they can use more water, sorry, if they 2 Power’s current rate designs reasonably

3 can move the water that they would normally 3 reflect the Island Interconnected system cost

4 use from the fall to the winter, it would--if 4 of demand on energy and the sample rate will

5 they could store more water in the winter, 5 not change Newfoundland Power’ s rate designs”.

6 then it would displace purchasers from 6 Can you comment on that?

7 Holyrood at the incremental cost of Holyrood. 7  A.Reasonably isbroad term. It may reasonably

8 Q. S0, isthiswhat--the witnesses yesterday were 8 reflect it right now, but that’s not to say

9 referring to an ability to gain the system. 9 that there are other measures or more than can
10 A. That's-yes. TheRsPentersintothisand I’'m 10 be done. Thefact that it won’t change their
11 not sure how that entersinto it, sol can't 11 rate design is their own initiative.

12 say with certainty how they would gain or not 12 Q. That was--pardon?

13 gain, but yes, it tiesinto that conversation, 13 A.ls their initiative, that may be their

14 yesterday. 14 choosing, but they’re perhaps--my

15 Q. Well, what safeguards could we put in place to 15 understanding is there are things that can be
16 ensure they didn’t do that? 16 done.

17 A. One would be prohibition on doing it by this 17 Q. So, they could attempt to change their own
18 Board. 18 rate designsif they so chose?

19 Q. So, the Board itself could address that. 19 A.Yes

20 A.l believe so. 20 Q. Under the samplerate, the so-called -

21 Q. Andgivethem an order inreference to that 21 A.Under the samplerate, yes.

22 particular ability that they may or may not 22 Q. Then we have four more bulletsto go, by that
23 have. 23 time, it would be the break, | would surmise.
24 A.| believe so; | say that cautiously, yes. 24 And it says, the next bullet and it's on the
25 (10:15am.) 25 top of page 2, "there is no evidence to
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1 BROWNE, Q.C: 1 kilowatt istoo much to pay for peak demand

2 support additional cost effective demand 2 reduction through interruptible rates’. Do

3 management on Newfoundland Power's system. 3 you haveany comment on that or can you

4 The available evidence indicates that demand 4 explain what they’ re attempting to say here?

5 management would have little effect on Hydro's 5 .Yes. | think that statement is, in asense,

6 future generation plans'. Can you comment on 6 dlight of hand. 1 think it'sa confusing

7 that, please? 7 statement, but if | can, I'd liketo try to

8 A.There's dwaysan effect on Hydro's, even 8 clarify it.

9 several kilowatts saved have an effect, you 9 . Please do.
10 know, the degree of to which its measurable, 10 . The $84.00 per kilowatt year is Hydro’s fully
11 but there is aone-to-one effect, but its 11 alocated Cost of Servicefor capacity. The
12 plans happen in quantum steps, if you will, 12 $28.20 is not something that stands next to it
13 and not in acontinuous fashion. And if 13 and that could be compared to it, but rather,
14 Hydro's plans were in a continuum, you would 14 it'sacomponent of the $84.00 per kilowatt
15 be able to observe it, but there are changes. 15 year. | don't know how to explain this
16 It would affect Hydro's plant. 16 visualy, but the full $84.00 per kilowatt
17 Q. For thebetter or for the worse when you 17 year is, if you will, afull--a commitment, a
18 affect - 18 firm--we will serve you on afirm basis. The
19  A. Well, if they conserve, they would be for the 19 $28.20is asubtraction from the $84.00 to
20 better. If NP conserved, it would lower the 20 make the $84.00 lessfirm. It’'s perhaps--my
21 need for capital additions in the future. 21 understanding isits based on, | think it was
22 Q. The next, it says, "thesample rate will 22 adiesdl rate andthen it wascut in half.
23 encourage Newfoundland Power to spend up to 23 Ultimately, it was a negotiated number to
24 $84.00 per kilowatt to reduce peak demand when 24 lower the $84.00 firm such as to make it
25 Hydro has provided evidence of $28.20 per 25 interruptible. So, it'snot comparing--it

Page 55 Page 56

1 reads as though you'’ re comparing $84.00 versus 1 guess that’swhat it' s all about. Can you -

2 $28.20, but it’sreally $84.00 in a sense next 2 . Yes, this goes back to bullets number one and

3 to $84.00 minus $28.20. The $84.00 being firm 3 two. It's not the energy only rate per se.

4 and the $84.00 minus $28.20 being non-firm 4 Let me put this on an equal basis, if | could,

5 demand. 5 if there were no revenue stabilization plan

6 Q. So, what is attempting to be said here then? 6 and I’'m in no way suggesting that we eliminate

7 A.What'sattempting to besaid is that what's 7 the revenue stabilization plan, but let’s just

8 being done sounds ridiculous, but it's not at 8 take another jurisdiction. In another

9 al ridiculous when viewed in the proper 9 jurisdiction, if there were any energy only
10 context. You can't compare--you can't put the 10 rate versus ademand and energy only rate,
11 84 next to the twenty eight dollars, they’'re 11 this statement could not be made with any
12 not comparable. The twenty eight dollarsisa 12 degree of certainty, inmy view. It depends
13 component of the $84.00 conceptually. 13 upon what the weather isin the jurisdiction.
14 Q. So, theway thisisstated, from alayman’s 14 It depends upon alot of variables, but on the
15 perspective, are you telling usthis doesn’t 15 face of it, in a jurisdiction, one could not
16 make sense, the way it’'s stated? 16 say that an energy only rate provides more
17 A. That’scorrect. 17 stable revenues than a demand and energy rate.
18 Q. Thenext bullet they state, "the energy only 18 And demand and energy rate providesa more
19 rate creates a more stable revenue stream for 19 stable and proper matching of cost recovery
20 both Hydro and Newfoundland Power than the |20 with cost incurrence. That’'s not what’s being
21 sample rate. And the energy only rate 21 said here. What's being said here or implied
22 therefore avoids the costs of dealing with the 22 hereis that once arevenue requirement is
23 additional revenue volatility, there are no 23 determined, then it goes on year after year in
24 benefitsto customers of imposing additional 24 the absence of arate case and an energy only
25 revenue volatility on Newfoundland Power". | 25 rate will recover more reliably that target
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1 MR. GRENEMAN: 1 Q. Yes isn'tthere acertainrisk here in any
2 revenue requirement. That's a small 2 case? How are they guaranteed their rate?
3 attribute. But that’s in thisjurisdiction. 3 What if everyone decides, as| advocate, to
4 In any other jurisdiction a demand and energy 4 move from baseboard radiation to other forms
5 rate versus an energy rate, it cannot be said 5 of spacing for their homes? What if somehow
6 that the energy rate will fulfil this virtue. 6 the government decided to give grants for that
7 It's only in conjunction with the revenue 7 or something likethat? That would create
8 stabilization plan that this istrue. And 8 volatility for the energy only rate inthis
9 once again, when you take cost out of energy 9 particular jurisdiction, wouldn’t it?
10 and put it in demand, by nature it becomes--it 10 A.Wsdl, but thenthere'd be an effect of the
11 isarisk associated with that. So, it’s not 11 rate stabilization plan.
12 theintrinsic nature of an energy only rate 12 Q.Inany case, thisbullet here, in your view,
13 that makes this true. It's in this 13 IS not accurate?
14 jurisdiction in conjunction with the rate 14 A It'saccurate, | think it's accuratein this
15 stabilization plan. 15 jurisdiction. |1 don't think it'sthe main
16 Q. And the weather normalization, as well? 16 virtue that’ s up for consideration. | don’t
17 A. Well--does it say--samplerate. 17 think it samajor -
18 Q. Wdll, what we have, the benefits in this 18 Q. It'snot an impediment?
19 jurisdiction. 19 A.ldon'tthink it samajor issue, | think it's
20 A.Yeah, because the sample rate, even with 20 avery minor issue. | think there are more
21 weather normalization, thereis some--there 21 overriding issues at hand than this.
22 has to be some degree of risk to one party or 22 Q. Canyou think of any other jurisdiction where
23 another. 23 they’d have just an energy only rate for a
24 Q. But that there’s now, aswdll, isn't it? 24 customer the size of Newfoundland Power? Does
25  A.Under an energy only rate? 25 anything come to mind at all?
Page 59 Page 60
1 A. Other than what was brought out yesterday, | 1 using generaly accepted, but generaly
2 know of none. 2 accepted principles of good rate design and a
3 Q. And you worked extensively in the United 3 sample rate should not be implemented”. Now,
4 States? 4 what generally accepted principlesof good
5 A.Yes, reasonably extensively in the United 5 rate design are being referred to here? Do
6 States. 6 you have any idea?
7 Q. Intheenergy fields? 7 Al assume they'rereferring to Doctor James
8 A Yes 8 Bonbright, | assume they’'re referring to
9 Q. Andthere's nojurisdiction in Canada that 9 Bonbright. Isthere a part that goes further
10 you're familiar with in reference in making - 10 and states that or -
11 A. Other than what was brought out yesterday, no. 11 Q. No,itdoesn't -
12 Q. Thenthey say, "both the samplerate and the 12 A.It'snot enough to--if they arereferringto
13 energy only rate are understandablefor a 13 Doctor Bonbright, Doctor Bonbright has
14 large customer such as Newfoundland Power. 14 gathered up from other sources, attributes of
15 However, the energy only rate is more 15 asound rate structure and he’ s combined them
16 practical to administer because itis less 16 into what he considersthe 10 attributes of
17 complicated". What kind of reason isthat? 17 the sound rate structure and he'svery often
18 A.Thesearenicethingsto say about arateto 18 quoted on these 10 attributes, aswell as his
19 domestic customers, but for sophisticated 19 other ideas on rate design and public utility
20 customers such as NP, | think it's a 20 economics. And inmy view, it's not proper
21 meaningless or next to meaningless measure of 21 for a customer with the sophistication of NP
22 what rationale for keeping the rate. 22 to say, well, gee, | satisfy 1, 3,5 and 7,
23 Q. And then they come to the conclusion, 23 because | think certain attributes are more
24 "overdl, the current energy only rate out 24 important than other attributes and 1 think
25 performs the sample rate when evauating, 25 what’ s being cited here are, by far, the least
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1 MR. GRENEMAN: 1 CHAIRMAN:
2 important of the attributes for customers such 2 Q. Thank you, Mr. Browne; thank you, Mr.
3 asNP. | think attributes such as static and 3 Greneman, we'll reconvene at 10:45 am..
4 dynamic efficiency which NP says nothings 4 (BREAK - 10:30 A.M.)
5 about, arevery, very important and those 5 (RESUME - 10:50 A.M.)
6 attributes are key to, | think, it economics 6 CHAIRMAN:
7 of generation on the Island. They think they 7 Q. Anything, Ms. Newman, before we begin?
8 should be implemented not based upon whether 8 MS. NEWMAN:
9 it'sa smpligtic rate schedule. 1 don't 9 Q. No.
10 think that’s an important attribute. 10 CHAIRMAN:
11 BROWNE, Q.C.: 11 Q. Okay. Thank you. Mr. Browne, whenyou're
12 Q. Then they say on the next page, "In 12 ready please.
13 conclusion, the current Hydro rate designs 13 BROWNE, Q.C.:
14 fairly allocate the Cost of Service revenue 14 Q. For the benefit of the Board, | think we'll
15 requirementsto Newfoundland Power and the 15 have about 15 more minutes and then we'll give
16 Industrial Customers, the demand energy rate 16 it over to Mr. Kelly.
17 fairly apportions cost within the Industrial 17 CHAIRMAN:
18 class, butis not needed for Newfoundland 18 Q. Thank you.
19 Power since it's theonly customer in its 19 BROWNE, Q.C.:
20 class'. Wedll, they're already dealt with 20 Q. Okay. Soweleft off talking--looking at the
21 that, haven't they? 21 summary that Mr. Brockman had put forward, a
22 A.l believe so, yes. 22 summary of his evidence, and in your view, do
23 Q. Okay. 1t's10:30, can we have abreak there 23 the advantages of the introduction of a demand
24 now-? 24 energy rate outweigh the disadvantages
25 summarized by Mr. Brockman?
Page 63 Page 64
1  A.Yes | believethey overwhelmingly outweigh 1 conclude on this particular topic, the way it
2 the disadvantages. | think the advantages of 2 could be envisaged isthis: the Board would
3 a demand energy rate outweigh the stated 3 order, if it saw fit, ademand energy rate
4 disadvantages of a demand energy rate, stated 4 that would send a signal to Newfoundland Hydro
5 by Mr. Brockman. 5 to implement arate. What would happen then?
6 Q. Doesthesamplerate send an efficient price 6 What would the mechanics be, in your -
7 signal? 7 A. The mechanics of -
8 A.Yes, itdoes, inmy view. 8 Q. The mechanics of the implementation?
9 Q. Inyour view, havethere been--Newfoundland 9  A. The mechanics of the implementation?
10 Power came forward in 1989-1990 in support of 10 Q. Yes
11 ademand energy rate. Isthere anything you 11 A. Either Hydro independently or Hydro in concert
12 see, changes in the industry or in the 12 with NP--well, they could either implement the
13 economy, over the past decade that would 13 rate asit’s stated in response to one of the
14 suggest that a demand energy rate should no 14 information requests, which is a minor
15 longer be pursued in this province? 15 adjustment to the sample rate, or they can
16 A.Notatal. Infact, throughout the rest of 16 tweak it in some fashion, based upon their
17 North America, if anything, a demand energy 17 internal discussions, and if they were to
18 rate becomes more appropriate than ever 18 tweak it internally based upon their
19 before, but nothingin the other direction 19 discussions, they would run scenarios. My
20 that an energy only rate is more appropriate. 20 understanding is that the demand energy rate,
21 There’ snothing to indicate that a demand-- 21 the sample demand energy rate, as adjusted to
22 there’ s no dynamics or movement to indicate, 22 meet the revenue requirement as originally
23 in my view, that over the last ten years, that 23 filed is an implementable rate. But the final
24 an energy only rate would be more appropriate. 24 word rests with Hydro and not with me.
25 Q.In terms of the implementation, just to 25 Q. And from Newfoundland Power’s perspective,
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1 BROWNE, Q.C.: 1 arisesin part out of the need to allocate
2 they would deal with their own customers as 2 joint costs or costs that are used by two or
3 they saw fit? 3 more customer classes, such as generating
4 A And]I think that’s appropriate. 4 plant and transmission plant, but as well,
5 Q. That's the appropriate way, so obviously 5 there are--there’'s always some degree of
6 they’re not going to scare al their customers 6 controversy associated with werethere any
7 off because of a demand energy rate? 7 facilities put into place that are above and
8 . Right. 8 beyond what would normally be put into place
9 . Or say there’s confusion or tell the public at 9 for customers. | would recognize that not
10 large. That would have an adverse effect, 10 everything, not every customer has the same
11 wouldn't it? 11 length of line going to their premises, so
12 . Right. 12 some customers may haveten feet of line.
13 .Okay. That completesmy evidenceon that 13 Other customers may have athousand feet of
14 topic. Just anumber of questions on the--on 14 line. Sothereare normal variations. In
15 page 10 of your pre-filed evidence, you 15 certain instances, substations might be
16 summarize the cost of service assignment of 16 assigned to a specific customer, for certain
17 the Great Northern Peninsula and the Doyles- 17 reasons. Onereason might be that they
18 Port aux Basques and the Burin Peninsula, and 18 request a very high reliability of service.
19 you indicate that principles relied on are 19 Things that are inordinate, in a sense, normal
20 consistent with those commonly usedin the 20 cost of service, might be specifically
21 industry. What principles are you referring 21 assigned.
22 to? 22 Now what’'s happening right now with
23 .Yes. There are actually two sets of-- 23 restructuring and deregulation in the United
24 typically in cost of service, alot of the 24 States, the United States hasthe Federal
25 controversy, if youwill, in cost of service 25 Energy Regulatory Commission, the FERC, and in
Page 67 Page 68
1 an attempt tofoster open access to al 1 . | stand by system planning’ s recommendations.
2 customers, they have derived what’scaled a 2 . Did you undertake any anaysis of the
3 FERC 7-factor test and these are seven 3 appropriateness of terminating the
4 guidelines to determine whether aline is 4 Interruptible B program to Abitibi
5 common, transmission or common, serving all 5 Stephenville?
6 customers, wholesale and retail, and hence 6 .| have not personally undertaken that.
7 under Federal jurisdiction versus whether it's 7 . With regard to the treatment of Newfoundland
8 local and under state jurisdiction. So in 8 Power’sthermal generation and the cost of
9 reviewing system planning’s study of the GNP, 9 service study and the rates charged to
10 the Burin Peninsula and the three points, it's 10 Newfoundland Power, what's your position
11 been my observation that the guidelines that 11 regarding treatment of Newfoundland Power’s
12 they have relied on are consistent with those 12 thermal generation?
13 that have been applied for decadesin cost of 13 .1 observe that there’'s some controversy
14 service and aso follow the same principles as 14 associated with it. | believethat their
15 were followed in the FERC 7-factor test, not 15 thermal generation needs to be recognized and
16 the same, but the similar line of reasoning. 16 | dso notetheCc’'s concern with the manner
17 Q. And based upon these principles, you came to 17 inwhichit’srecognized. So | observe that
18 certain conclusions about the Great Northern 18 there's controversy with respecttoit. On
19 Peninsula and the Burin Peninsula? 19 one hand, | believe it needs to be recognized,
20 A.l have relied upon system planning's 20 and in my view, question of how it's
21 conclusions, but | have noted that the 21 recognize.
22 principlesthey’ve relied on are consistent 22 .Doyou seeany changein thetreatment of
23 with those that are used in the industry. 23 Newfoundland Power’s generation in reference
24 Q.And you stand by your recommendations in 24 tothe thermal generation, if therewas a
25 reference to those? 25 change in the wholesale power rate to a demand
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1 BROWNE, Q.C.: 1 CHAIRMAN:
2 energy rate? 2 Q. Thank you, Mr. Brown. Thank you, Mr.
3 A. There conceivably could be. 3 Greneman. Good morning, Mr. Kelly.
4 Q. How so? 4 KELLY,Q.C.
5 (11:00 am) 5 Q. Good morning, Chair. Good morning, Mr.
6 A.Weveidentified three options in the demand 6 Greneman.
7 energy rate. They weretitled option A, B and 7 A. Good morning.
8 C, and under Option A--the difference between 8 Q. Mr. Greneman, just a couple of questions first
9 Option A, B and C are, if you will, decreasing 9 of al on your background. | understand that
10 levels of recognition of NP's generation. 10 you're alicensed engineer?
11 Under Option A, NP gets recognition for both 11 A. Right.
12 their hydraulic and their thermal generation. 12 Q. You'renot an economist by profession?
13 Option B, we'd need torefer toit again, 13 A. That's correct.
14 under Option B, they get credit for their 14 Q. Okay. Before we get into the details of your
15 hydraulic, but | don’t recall--1 don't think 15 report, what 1'd liketo dois look at a
16 it'stheir thermal, but I’d need to refer to 16 number of matters to be surethat we arein
17 itagain. Under Option C, they don't get 17 the same understanding on certain basic
18 credit for either one of them. So thereis 18 principles, and the first area that I'd like
19 some relationship. 19 tolook at with that isthe system operating
20 Q. Soit dependswhich option is- 20 characteristics here of the Idand
21 A.That'sright. 21 Interconnected System. Let me giveyou a
22 Q.- results? 22 number of points and see whether we're in
23 A.Yes. 23 agreement on it. First of al, the
24 Q. These are our questions. Thank you very much, 24 Newfoundland Island Interconnected System,
25 Mr. Greneman. 25 unlike other jurisdictionsin Canada and North
Page 71 Page 72
1 America, is not connected to the North 1 Q. Okay. Thenext pointis that Holyrood is
2 American grid. | takeit you accept that? 2 usually operated in abase loaded mode with
3 A That's my understanding. 3 the hydraulic units then being used to cover
4 Q.Okay. Number two, that the system that we 4 peak variations. Do you accept that?
5 have in Newfoundland for generation is 5 A.Toadegree and | would need to confirm that
6 primarily hydraulic? 6 with someone, but | would confirm that to a
7 A At this moment in time, that's my 7 degree.
8 understanding. 8 Q. Wadl,if youlike, | can take you to NP-172.
9 Q. Right. Andin fact, if we went to--and we had 9 A. Are you sayingthat hydraulic covers all
10 this discussion with Mr. Haynes, if we look at 10 variations?
11 it in terms of capacity, 65 percent of itis 11 Q. No, I'm saying that inthe normal type of
12 hydraulic capacity and in termsof energy 12 operation, we go to--NP-172is on the screen
13 production, 68 percent of it is energy 13 there.
14 production. Would you - 14 A Yes
15 A I'll accept that, subject to. 15 Q. I'll take you down throughit. During an
16 Q. Okay. The third point is that we have 16 average daily peak -
17 hydraulic production. Wealso have thermal 17 A.May | justread -
18 production from Holyrood. 18 Q.- hydraulic units -
19  A.Um-hm. 19 A.-may | just read the question first?
20 Q. Andyou can run more water now and save ail, 20 Q. Sure, by all means.
21 but then you have less water to use later on 21 A.Okay. Where are you taking me to?
22 intheyear. Sothere’sa—-it'sone or the 22 Q.| takeyou down toline 12, "during an average
23 other and you can conserve one at the expense 23 daily peak, hydraulic units are generaly
24 of the other. Do you accept that? 24 reduced before Holyrood because Holyrood is
25  A. | accept that. 25 base loaded.”
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1 MR. GRENEMAN: 1 variation with atrade off between water and
2 A. Okay. Within the constraints of the way this 2 fuel, Holyrood is the marginal cost of
3 isframed, | accept what it says. 3 production all year round, accept that?
4 KELLY,Q.C. 4 A.Yes
5 Q.Okay. Andwehad thisdiscussion with Mr. 5 Q. Okay. Nextpoint isthe margina cost of
6 Haynes. | can also take you, if you like, to 6 production at Holyrood isthe same all year
7 IC-294, and if you go down to - 7 round. Do you accept that?
8 A.Can| refer back to that other one once again? 8 A. Subject to seasonal variation in purchases or
9 Q. Byal means. 9 however it's expended. | would say generaly,
10 A.Wherewe just were. Okay. 10 yes.
11 Q. Okay. If youwantedto look further, we can 11 Q.Yes, andwe had that discussion with Mr.
12 have alook at 1C-294, in particular lines 19 12 Haynes aswell, so | won't bother to take you
13 through 22. This deals with system frequency 13 tothe references. The next point, number
14 is controlled using the large hydro units. So 14 seven | think it is, the marginal cost of
15 my pointto you is, asconfirmed by Mr. 15 production at Holyrood is $5.00--sorry--yes,
16 Haynes, the normal operation isthat Hydro is- 16 5.13 cents per kilowatt hour. And | can take
17 -Holyrood rather is operated in a base-loaded 17 you to NP-130if you'd like to have alook at
18 mode with the hydraulic units then being used 18 that.
19 to cover peak variations as the usual 19 A. My recollection isthat’'s the cost of fuel
20 operating condition. 20 cost plus variable O& M.
21 A.Asyou had pointed out to me, thisiswhat’s 21 Q. Exactly, and we can put up NP-130 perhaps.
22 generally done under an average daily load, 22 There's your 5.13 cents.
23 with those qualifications. 23 A. Okay.
24 Q. Okay, great, we'll accept that. Now the next 24 Q. Okay?
25 point then isthat because we have this 25  A.Yes.
Page 75 Page 76
1 Q. Andthe last point isHydro has dispatched 1 you aware of that?
2 control on Newfoundland Power’s units. They 2 A Yes
3 can call on Newfoundland Power for dispatch at 3 Q. Okay. Now can | take you next then to Mr.
4 system peak and it directs dispatch at system 4 Brockman’'s initial evidence at page three? We
5 peak for both hydraulic and thermal plants of 5 have to go to page three, that should be page
6 Newfoundland Power. Do you agree with that 6 three at the bottom, | think. 1’'m not sure
7 point? 7 where--there we go, okay. Now Mr. Brockman
8 A. That's my understanding. 8 setsout therea number of principles that
9 Q. Okay. Now with that as the initial 9 accepted rate making principles, and he
10 background, let me takeyou to a couple of 10 summarizesthemin lines 17 and onto the next
11 other principlesthat | want to talk about, 11 page. Number oneisthat it iseffectivein
12 and thefirst isthat | takeit you are aware 12 collecting revenue requirements. Do you agree
13 that resources and facilities for generation 13 with that principle?
14 and transmission, the one that’ s perhaps more 14 A.ldo.
15 important here is generation, in this 15 Q. Okay. The next one, that therateisfair in
16 jurisdiction areto be operated in the most 16 the apportionment of costs, both between and
17 efficient manner and that resultsin the least 17 within rate classes. Do you accept that one?
18 cost consistent with reliable service. Do you 18  A. Not wholly.
19 accept that those are principles? 19 Q. Okay. Tell meinwhat manner that you don't.
20 A. | do accept that. 20 A. It may be--well, it may--the words have been
21 Q. That's part of the power policy of the 21 carefully chosen here. It may be fair in the
22 province? 22 apportionment of costs, but | don’'t believe it
23 A.Yes. 23 to befair in the collection of costs.
24 Q. And that the Board is mandated to apply that 24 Q.| just want to stay at, in terms of principles
25 principlein itsregulatory activities. Are 25 first of all. Let’sforget the -
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1 MR. GRENEMAN: 1 allocates the cost of service between
2 A Right, but I'd like to put it in the broader 2 Newfoundland Power and the Industrial
3 context whenever | have--whenever you--okay, 3 Customers. Would you agree with that?
4 go ahead. 4 A Just giveme one moment. The words are
5 KELLY, Q.C. 5 confusing actually. You say the rate is
6 Q.Butintermsof, let’sjust go back to one for 6 effective in collecting the revenue
7 a second. In termsof one, effectively, 7 requirements for afair return. | think the
8 effective in collecting the revenue 8 word "fair return” is redundant. It's
9 requirement, the principle thereis, is Hydro 9 effective in collecting--the rate in
10 going to recover its cost of service. That's 10 conjunction with the -
11 the point, isn’t it? 11 Q. I'll accept that qualification.
12 A. That'saconsideration. 12 A.-RsPiseffectivein collecting the revenue
13 Q. That'saconsideration, okay. And all | want 13 requirements. The rate without the RSPis not
14 todo, | don't want to get into the rates at 14 necessarily any more effective in collecting
15 thisstage. | want to talk about principles. 15 the revenue requirement than is a demand
16 The second one thenis that whatever rate 16 energy rate without an RSP.
17 structure is chosen, whether its demand energy 17 Q. But any rate structure you choose, thisis the
18 or energy only, it should be far in 18 principle that should be applied or principles
19 apportioning the cost both between and within 19 that should be applied? Number one, it should
20 rate classes. So you would agree with that? 20 be -
21  A. By virtue of the fact that there'sa rate 21  A.These are someprinciples that should be
22 classconsisting of one entity between rate 22 applied.
23 classes and within rate classes. 23 Q. Okay. Let'stakethem oneat atime. Do you
24 Q. So let me giveyou a coupleof examples. 24 agree that that isone principle that should
25 First of all, it should be fair in how it 25 be applied? It should be effective?

Page 79 Page 80
1 A.It'snot anecessary principle. 1 rate to Newfoundland Power and there’ s arate
2 Q. Okay. Thenl'll - 2 to Industrial Customers. It'snot the same
3 A. There are other necessary--1'm sorry, | don’t 3 rate.
4 mean to be argumentative. I'mtrying to - 4 Q. No, but whatever rate structureis used, it
5 Q. lsitagenerally accepted principlethatis 5 should fairly apportion Hydro's cost of
6 applied? 6 service between thesetwo classes? That's
7 A.Okay. 7 self evident. Surely that’s an accepted
8 Q. Doyou accept that? 8 principle we' d have to achieve.
9 A Yes 9 A. Butyou say therate, singular, isfair in the
10 Q. Okay. Number two, afair apportionment of 10 apportionment of costs between--there's only
11 costs, isthat a generally accepted principle 11 onerate class. The rate, | assumeyou're
12 that is applied? 12 referring to the NP energy only rate?
13 A.l don't understand thelogic of thispoint. 13 Q. Highlevel, Mr. Greneman.
14 The rateis fair inthe apportionment of 14 A Well, I'mtrying to answer at alevel.
15 costs. Therate doesn't apportion costs 15 Q. Okay. Maybe -
16 between rate classesin thiscase. So, | 16  A.Areyou referring to the--okay, at a high
17 don't - 17 level -
18 Q. Waell, let me put it to you thisway, any rate 18 Q. Theprinciplesthat the Board should apply in
19 structure that isused should, number one, 19 choosing a rate structure should ensure
20 fairly apportion costs between Newfoundland 20 fairness of apportionment of costs. Do you
21 Power and the Industrial Customers, do you 21 accept that principle?
22 accept that? 22 A.Right, | do accept that.
23 A.If itwere common? Thereisno common rate 23 Q. Okay.
24 that apportions cost between Newfoundland 24  A.Atahighlevel.
25 Power and Industrial Customers. There's a 25 Q. And at theretail customer level, it should
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1 KELLY, Q.C: 1 senseto methat revenues should change in
2 also--whatever rate structureis used at the 2 accordance with conditions. So the word
3 retail level should fairly apportion costs at 3 "stable" in isolation, | can't necessarily
4 theretail level. Fairness isan element of 4 agree with.
5 rate design. Do you agree? 5 Q. Okay.
6 A. Okay, in generdlities, yes. 6 A.Whatl think isthe rate should follow the
7 Q.Okay. Now item three is that "a rate 7 changing economic conditions and circumstances
8 structure should encourage efficient use of 8 of cost and supply and demand.
9 society’ s resources and discourage inefficient 9 Q. Right, but we should -
10 use." Do you agree with that principle? 10 A. Which are not necessarily stable.
11 A.Yes | do. 11 Q. Right, but we should try to avoid what | would
12 Q. Okay. Sothatin that particular case, would 12 call unnecessary volatility movements up and
13 you agree with me that what is important is 13 down in rates? That we should try to ensure a
14 theend user of the eectricity? In other 14 degree of stability over the long term, would
15 words, we need--whatever you want to do, the 15 you agree with that, to the extent possible?
16 end user, that’s where efficiency is going to 16 A.l can agree with that under some conditions.
17 be achieved? 17 (11:15am.)
18 A.The end user can influence the overal 18 Q. Okay. Let'sleave that one, because we're
19 efficiency. 19 goingto come back tothat. Thelast two
20 Q. Okay. The next item that Mr. Brockman is that 20 points, | think we can touch on very quickly.
21 "rate design should try to create stable rates 21 "Rates should be both understandable and
22 and stable revenues."” Do you agree with that 22 practical." Do you accept those?
23 principle or those two principles, if you want 23 A. Particularly for domestic type customers, |
24 to call them two? 24 accept that.
25  A. Theword--if conditions are changing, it makes 25 Q. Right, and as you indicated earlier, when
Page 83 Page 84
1 we'retalking about Hydro and Newfoundland 1 one.
2 Power, we're talking about more sophisticated 2 Q. Wadl, that's essentially Mr. Brockman’'s number
3 entities, and I’ ll accept that - 3 two. So any others?
4 A Right. 4 A .Okay. And very importantly, dynamic
5 Q.- asanobservation. Now are there any other 5 efficiency in promoting innovation and
6 principles than the six stated there by Mr. 6 responding economically to changing demand and
7 Brockman that you think are important? 7 supply conditions.
8 A.Ifl canread perhapssome of Bonbright's, 8 Q. I'll accept that one. That's essentially part
9 some of them may coincide, some of them may 9 of Mr. Brockman's number three. So dynamic
10 not. 10 and static efficiency. Do you want to just
11 Q. lwant youtotell usany other principles 11 explainin alittle more detail what dynamic
12 that you think are applicable. 12 efficiency is?
13 A.Okay. Okay, oneis called static efficiency 13 A.lthinkit's fairly self explanatory. It's
14 of the rate classes and rate locks, 14 promoting innovation and responding to, asit
15 discouraging wasteful use of service while 15 says, changing supply and demand patterns.
16 promoting al justified types and amounts of 16 Q. Okay. All right. Now with those--are there
17 use. 17 any other principles you want to add, first of
18 Q. Okay, and I'll accept that. That's 18 al?
19 substantially covered under item three. 19 A. Wdll, there are numerous ones, but the most
20 A.Okay. Taks about--okay, fairnessof the 20 often cited arethe ones that have been
21 specific rates and the apportionment of total 21 summarized here by Dr. Bonbright.
22 cost of serviceamong the different rate 22 Q. And the ones, essentidly the ones Mr.
23 payers so as to avoid arbitrariness and 23 Brockman has already got in hisreport. Now
24 capriciousness and to attain equity in three 24 with that as the background then, let’sgo to
25 dimensions. Then hetalks--let’'s skip that 25 your report RDG-2, because | think it's
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1 KELLY,Q.C: 1 end user, but each hasits own purpose.
2 important we all understand exactly what 2 Q. Okay. But ultimately, at the end of the day,
3 you're proposing here, and | want to go 3 it'sthe end userswho are going to effect
4 through a number of sections in this. We'll 4 energy consumption, whether that’sload or
5 start at page three of your report, inthe 5 demand or energy. Would you agree?
6 section dealing with key issues, and you set 6 A. Largely.
7 forth there four issuesto be addressed, and 7 Q. Okay. Now DsM that you talk about, which are
8 thefirst isto send a correct price signal to 8 matters of energy efficiency or conservation,
9 al parties. Andyou goon to say "from the 9 the words you use there, that will aso be
10 inception, a continuing concern has been the 10 influenced and, in fact, happen at the end-use
11 ability to encourage bsM and DSM isviewed in 11 customer, would you agree?
12 a broad al encompassing sense,” and I'll 12 A Yes
13 paraphrase here, not only energy efficiency 13 Q. Okay. Now you talk about peak demand control
14 and energy conservation but also peak demand 14 programs. Could you just explain what peak
15 control programs and therefore you refer to it 15 demand control programs are, and give us some
16 as load management. Now a couple of questions |16 examples?
17 comeout of that. First of all, you talk 17 A. These are programs that can be implemented by
18 about the price signal to all parties. Does 18 domestic aswell as commercia or industrial
19 that also include end users? Isit important 19 customersin an attempt to try to limit their
20 that the price signal get down tothe end 20 peak demand imposed on Hydro's system and by
21 user? 21 lowering the peak demand, there will be a
22 A.lt could be important or it may not be 22 lower allocation of cost ultimately. These
23 important. | think it’simportant if it gets 23 programs can include various types of load
24 tothe purchaser, Newfoundland Power as an 24 management at the commercial or industrial
25 entity, and it’s also important it get to the 25 level. It could beimprovementsin lighting.
Page 87 Page 88
1 It could be motor control. At the domestic 1 could be long term, but there's no guarantee
2 level, it could be water heating control. It 2 that conditions will exist. | think it’s much
3 could be interlocking of, for example, 3 more fruitful toinstill a long, to havea
4 electric rangesand water heatersso that 4 long term energy management policy, load
5 they’re both not on at the sametime. It 5 management policy by ingtillingin people’s
6 could be ceramic space heating, storage 6 minds and changing the appliance mix to
7 devices, things along that nature. 7 overall lower the load long tern and not just
8 Q. Now intermsof peak demand control and load 8 for short durations which may change from year
9 management, is one aspect of that curtailable 9 to year, conditions for which may change from
10 or interruptible rates? 10 year to year.
11  A.Yes, | believethat falls under that umbrella. 11 Q. What conditionswould change fromyear to
12 Q. Anddo you think that those are important 12 year?
13 components of load management? 13 A. Unwillingness of an interruptible customer to
14 A. It could be, except that oneisashort-term 14 interrupt, the customer possibly no longer
15 response and the other isalong-term more 15 being there. 1t'sashort termthing. It's
16 infrastructure or appliance change and sort of 16 not necessarily long term.
17 instilling in consumers' minds, the virtues of 17 Q. But someof these customers, some people,
18 energy and demand conservation. So the long- 18 we' |l talk alittle bit more about this later,
19 term response in my view is more important in 19 but some people have to go to some lengths to
20 this rate than the short-term interruptible. 20 put interruptible and curtailable facilities
21 Q.Why do you say that curtailable rates and 21 in place, do they not?
22 getting people to put curtailablerates in 22 A.They could, yes.
23 place, are you saying that that is not along 23 Q. Okay. Now, so, the next point that you' ve got
24 term matter? 24 is to ensure that al parties, Hydro and
25 A.Wadll, it'sa transient response, | mean, it 25 Newfoundland Power, remain revenue neutral and
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1 KELLY,Q.C: 1 answering and responding to an information

2 avoid earnings revenue volatility. So, | take 2 request.

3 it you agree that that is an important 3 Q. Okay. Intermsof the impact on Hydro, what

4 component of what needs to be addressed? 4 proposal did you come up with to address the

5 A.Yes, reatively revenue neutral. 5 impact on Hydro?

6 Q.Didyoudoany analysis yourself in terms of 6 A. Our proposal to--what we actually did is Hydro

7 impact on volatility with Newfoundland Power? 7 stepped forward and put two percent of their

8 Did Stone and Webster look at that at all? 8 revenues at risk for this.

9 A Wdl yes, wedid, qualitatively, definite--we 9 Q. Okay. So, the-

10 looked at it qualitatively, for sure. 10 A. Their demand revenues.

11 Q. And what did you do and how did you do that? 11 Q.- demand revenue, thedown sideis, inyour

12 A.Well, we noted that there was-—-as | had 12 proposal limited at 98 percent? In other

13 mentioned earlier, that a demand energy rate 13 words, you can only go down two percent?

14 intrinsically has some at risk revenues to 14 A.Yes, subject to where | think you’'re going, it

15 either party, depending upon what the level of 15 may be more.

16 demandis. And Hydro's case, we looked the 16 Q. Waell, don't try to guess where I’ m going, just

17 volatility that, asit would affect them, in 17 deal with the question.

18 moving out of the fully stabilized environment 18 A.Okay. Initialy, yes, it'stwo percent.

19 through the RsP. And we aso looked, at 19 Q. Okay. Andwe're goingtocometothat ina

20 least, qualitatively at the other side, what 20 second. Now, whilewe're in this, you say

21 would happen to--qualitatively what would 21 that one of the thingsisto avoid awindfall

22 happen - 22 or penalty to either utility due to abnormal

23 Q. Didyoulook gquantitatively interms of the 23 weather. So, there' s going to be some weather

24 impact on Newfoundland Power? 24 normalization function that hasto take place.

25 A.We looked quantitatively in relation to 25 A.Right, and Hydrois proposing to weather
Page 91 Page 92

1 normalize which goes along way to reducing 1 minimizing revenue volatility which may

2 volatility. 2 result, if ademand rateis established and a

3 Q. Andthe proposal that Hydro has put forward, 3 portion of therevenues removed from the

4 we can seethis inaninformation request, 4 stabilizing influence of the RsP. And that’s

5 necessary, isthat ajoint committee be struck 5 the discussionwe just had about the two

6 to look at that process, correct? 6 percent.

7  A.That'scorrect. 7 A Right.

8 Q. And that has not happened yet? 8 Q. Now, let'sgotonumber three next whichis,

9 A.ldon't know. 9 what you want to do it provide NP an incentive
10 Q. Okay. Toyour knowledge, it hasn't happened? 10 to minimize the island peak, okay. Now, if |
11 A.I'mnot aware of it. 11 stop therefirst of all, what is theisland
12 Q. Okay. Now, thenext bullet that you gotis 12 peak that you want Newfoundland Power to have
13 protecting rate payers from artificial or 13 an incentive to minimize?

14 short term cost increases. Now, isn't that 14  A. Canyou--what istheisland peak?

15 the same type of proposition put forward by 15 Q. What is the island peak that you want
16 Mr. Brockman that as we're looking at what our 16 Newfoundland Power to have anincentive to
17 options here, we need to look at protecting 17 minimize?

18 rate payers from artificial or short term cost 18 A. Theidland peak isthe diversified coincident,
19 increases? In other words, isn’t that arate 19 that diversified and coincident, the same
20 stability issue? 20 peak, which isthe basis—-a principle basis
21  A.That could be arate stability issue, yes. 21 for which generation is planned. And if that
22 Q. Wadll, theseare your words, is it a rate 22 peak isminimized, then generation can be
23 stability issue? 23 deferred at an overall cost to island

24 A Yes, itis. 24 consumers and the Province.

25 Q. Yes, itis, okay. Now, then the next oneis 25 Q. Now, that answer that you just gave, as|
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1 KELLY, Q.C: 1 Q. That is true, is it not, sir, only if
2 understand it, is that the peak that needs to 2 Newfoundland Power’s peak happens to occur at
3 be addressed to achieve that objectiveisthe 3 the same time as the overall system peak?
4 overall island system peak. 4 A Absolutely.
5 A.Right, and the components that comprise that 5 Q. Right, but that doesn’t always occur, doesit?
6 peak. 6 A.No, it doesn’'t always occur.
7 Q. Right, but the ultimately objectiveis to 7 Q. No, it doesn’t, okay. Let’s go to--now, under
8 influence the overall island system peak, not 8 this heading, you’ ve got--the first sentence
9 merely Newfoundland Power’ s peak, correct? 9 is ademand rate can provide NPwith adirect
10 A. Newfoundland Power’'s peak to the extent that 10 incentive to reduce peak -
11 it's aprinciple component of the overall 11 A.I’'mnot seeing that here.
12 island peak. 12 Q. Sorry, your item 3, carrying on -
13 Q. Okay. 13 A.Yes, okay.
14 A .So, it's inferred that, yes, it is 14 Q. Thefirst sentence, in other words, you make a
15 Newfoundland Power’s peak. 15 couple of points here and | want to take them
16 Q. Yes, but which ismoreimportant to meet in 16 one by one.
17 order to minimize and to maximize the 17 A. Okay.
18 efficiency and keep the lowest cost generation 18 Q. "And demand rate can provide NPwith adirect
19 for theisland as mandated by the Electrical 19 incentive to reduce peak through the use of
20 Control Power Act. Isit notthe overall 20 its own generation during peak". So, which is
21 system peak? 21 the peak that you want Newfoundland Power to
22 A.Tothe extent that there's aone kilowatt 22 use its generation on?
23 reduction in your contribution, thereisthe 23 (11:30am.)
24 corresponding one kilowatt hour reduction in 24 A. It would be either one of them actually.
25 the overall system peak. 25 Q. Either one?
Page 95 Page 96
1 A Either NPsindividual peak or the island 1 table here, sir, and that is, you say, you
2 system peak. 2 want us to have a direct incentive to reduce
3 Q. So,isityour evidence, sir, that as we think 3 peak through the use of itsown generation
4 we are getting to a Newfoundland Power peak, 4 during peak. And my question to you is, are
5 we should run our facilities to minimize that 5 you proposing to this Board that Newfoundland
6 peak? 6 Power should be incentived when it thinks it
7 A.No, I'm not saying that at all. 7 iscoming to apeak onits systemto run its
8 Q. Wdl, what would we do to minimize our peak? 8 system?
9 A. Wewrote up thereport and | wasaprinciple 9 A. That was not the intent of what was said, no,
10 author of thisreport. One thing we left out 10 I’m not suggesting that.
11 isthere’ samajor virtue of ademand energy 11 Q. What isthe intent then of what you havein
12 rate. Thisreport is sort of biased to, sort 12 this sentence?
13 of slanted to encouraging the reduction of 13 A. Okay. What that actually was intended to say
14 isand peak which is definitely very 14 is, if onejust arbitrarily implements a
15 important, but whether or not NP can respond 15 demand rate, it could provide an incentive for
16 to that is almost academic because it's 16 NPto run their generation. We'retrying to
17 equality meritorious, if that’sthe correct 17 guard against that.
18 word, to reflect Hydro' s rate structure to NP 18 Q. So, you don't want us to run our generation at
19 in the same fashion that it hasincurred its 19 our peak?
20 financial commitments. 20 A.Notinan inefficient fashion.
21  Q.Yes but that's adifferent issue. We're 21 Q.No. So, the way it works now is we run our
22 going to come to that issue. 22 unitsto maximize energy production, but at
23 A.They'rerelated - 23 the same time to have system capacity
24 Q. Weregoing to cometo that issue. | want to 24 capability available when Hydro callson it to
25 focus on theissuewhich you've put onthe 25 meet overall island system peak. Do you agree
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1 KELLY,Q.C: 1 capacity costs.
2 that that isthe efficient way to run it? 2 Q. Butintermsof using ratesto do something,
3 Al wouldagree. 3 would you not agree that the peak that we are
4 Q. And so you do not want that changed, do you? 4 going to impact, if any, will be Newfoundland
5 A.No. 5 Power’ s peak?
6 Q.Youdo notwantus torun ittomeet some 6 A.ltcanbe theidand peak aswell, could it
7 Newfoundland Power peak? 7 not?
8 A.Bynomeans. 8 Q. Wdl, only to the extent that they happen to
9 Q. Byno means, okay. So,we don't need an 9 be co-incidents, agreed?
10 incentiveto do that becausethat’s what’s 10 A.Weéll, but can you predict exactly that you're
11 aready happening, isn’t it? 11 not going to--that any measures you put into
12 A. Right. 12 effect will not reduce overall island peak?
13 Q. Right, okay. Now, let's goto the next 13 Q. Mr. Haynes said in evidence, we know not the
14 sentence. "Through the use of a demand rate, 14 hour or the day at which the peak will arise.
15 Newfoundland Power, in turn, can provide 15  A. So, you would agreeit is possible?
16 incentives to its customers to reduce peak 16 Q. Oh, certainly. AndI’m sureyou will agree
17 through rates or other cost effective means'. 17 that equally itis possiblethat they will
18 So, you got two components, you want usto 18 happen at other times?
19 reduce peak, first of al, which peak do you 19 A Okay.
20 want usto reduce, system or Newfoundland 20 Q. But my point is, my questionis, that if we
21 Power? 21 are going to reduce peak through rates, the
22 A.Widll, if you reduceyour own peak, you can 22 peak which will initially be impacted hasto
23 have lower cost allocated to you in the Cost 23 be a Newfoundland Power peak, by definition.
24 of Service Study. If you reduce the system 24 A.ldon'tknow. | mean, why can'tit bethe--
25 peak, you can help reduce overall island 25 why can't you reduce load at the time of the
Page 99 Page 100
1 system peak and not reduce load, not figure on 1 ago, Newfoundland Hydro, nor yourself did not
2 doing, but just because of theway things 2 come in and propose any changes to
3 happen, why can’t you reduce the load for the 3 Newfoundland Power’s retail rate structure,
4 Island and not affect your own system peak? 4 did you?
5 Why isthat impossible? 5 A.No. With respect to providing load management
6 Q. Please explainto me, how, through rates, we 6 ideasin context of this demand energy rate,
7 would take load off the system simply at a 7 we thought it would be--at least | thought it
8 time of system peak? First of al, Hydro 8 might be the responsibility of Newfoundland
9 would have to tell us now, okay, Newfoundland 9 Power -
10 Power, we are coming up to a system peak. 10 Q. Okay, well, let’sjust -
11  A.What if you stagger heating units, it'll 11 A.-todoso.
12 affect both peaks. What if stagger storage 12 Q. Okay. Now,the next part of that, so one
13 heating unitsand just stag it in halvesor 13 thing is we would have to look at retail rate
14 thirds. 14 design which has not yet been doneyet. The
15 Q. Right, but that has itsinitial impact, if 15 second part of it is, you say, "or other cost
16 any, on a Newfoundland Power system. So, 16 effective means', so | take it you agree that
17 let'sjust break thisinto piecesthen. You 17 whatever hasto be done or whatever you think
18 say that we should, whatever we're going to do 18 should be done, should be cost effective?
19 there, step one, isthrough rates. Have you 19  A. It should be cost effective from your point of
20 performed any analysis of Newfoundland Power's 20 view and from society’ s point of view.
21 existing rate structure, to its customers? 21 Q. Absolutely. So, for example, we shouldn’t
22 A. Other than reviewing your last General rate 22 spend a $1.50 to save a$1.00 in the long run;
23 Application filing, | have not. 23 that’ s the bottom line.
24  Q.No. Andinthe lastrate application that 24 A.Why spend a $1.50 to save .75 of yoursand .75
25 Newfoundland Power which was just a short time 25 of society’s.
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1 KELLY,Q.C: 1 Q. Ultimately you want to impact, would you also
2 Q. Okay. Now, let's just takethat a step 2 agree that Newfoundland Power should do what
3 further then. So, we need to know, in order 3 is cost effective to reduce island peak?
4 to be cost effective, what isworth spending 4  A. Newfoundland Power -
5 money on, do you agree with that? 5 Q. Newfoundland Hydro should also do what is -
6 A. Okay. 6 A.Inproposing a demand energy rate, they are
7 Q. And when it isworth spending the money, would | 7 doing that.
8 you agree with that? 8 Q.Butin termsof any demand side management
9 A Okay. 9 load control programs, if we are asked to do
10 Q. Doyou agree with that? 10 things which are cost effective, would it not
11 A Yes 11 also make sense for Hydro to do things which
12 Q. Okay. Now, would you also agreethat to the 12 are cost effective?
13 extent that things should be done, if we going 13 A. Okay, on Hydro's side, there' s nothing that’s
14 to engage in cost effective demand side 14 stemming out, to my knowledge, as| sit here,
15 management to reduce peak demand, that 15 that’ s inappropriate. What does stand out as
16 Newfoundland Hydro itself should also follow 16 being inappropriate isthe energy only rate
17 appropriate load management, cost effective 17 and that's why we're discussing it because
18 load management processes? Would you agree |18 it's not that--how do | say this? The energy
19 with that proposition? 19 only rate, at this point in time, stands out
20 A.Inwhat context, other than - 20 as not being proper. | don't see anything in
21 Q. Wadll, if yousay that Newfoundland Power 21 Hydro'sside that's--and maybe there is--I
22 should have an incentive to do things that 22 don’'t see anything standing out that’s being
23 reduce the peak and we talked about that, 23 improper on the way of not promoting
24 that’ s the island peak. 24 conservation of natural and capital resources
25 A.Right. 25 for theisland.
Page 103 Page 104
1 Q. Go back to your first point that you made as a 1 Q. That to the extent that you think that it is
2 key issue, you wanted to encourage demand side 2 appropriate ona cost effective basis-we
3 management, load control. 3 don’t want anybody doing anything that’s not
4 A Right. 4 cost effective.
5 Q. Andmy questionto youis, andwe looked, 5 A. |l would generally agree with that actually.
6 well, we should do iton acost effective 6 Q.Sure.
7 basis, my questionissimple, if, in fact, you 7 A Okay.
8 want to encourage demand side management, 8 Q. Logical thing.
9 would you also agree that Hydro itself should 9 A.ltsoundslike avirtue.
10 perform cost effective demand side management. |10 Q. Okay. If it's cost effective, then we should
11 A. For who? 11 have--whoever it can be cost effectivefor.
12 Q. For the benefit of the Island Interconnected 12 Now, let’sgo to page 9 of your report next
13 System and for society asawhole. 13 under the potential impact of load management.
14 A Cost effective demand side management on 14 o, thisis your demand side management issue.
15 behalf of someone? 15 And if we come down to just before the bullets
16 Q. On behalf of Hydro with its customers. Do you 16 there, the sentence reads, "the potential for
17 not understand that Hydro has customers 17 a customer to utilize this price signal
18 independent of Newfoundland Power? 18 involved the interaction of and consideration
19 A.Yes, I'mtrying to understand what you're 19 of" and then you've got four bullets, "the
20 getting at, its rural customers, its 20 level of the demand rate, the potential for
21 Industrial customers. 21 load management inthe customers end use
22 Q. Exactly. 22 equipment profile, cost of procuring the load
23 A. Okay. 23 management potential, and customers
24 Q. Would you agree with that proposition then? 24 receptiveness to utility sponsored load
25  A. That they be required to do so? 25 management programs'. And if we kind of go at
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1 KELLY,Q.C: 1 hasn’t been alot of experience necessarily

2 those, let's take them, kind of backwards, 2 with electric heat. We're not sure of the

3 "the customers receptiveness to utility 3 elasticity of customerswilling to respond to

4 sponsored load management programs'. Would | 4 electric heat and the cost of electric heat

5 you agree with me that that must be the end 5 storage.

6 use customer that you' re trying to impact? 6 .So ittends to bea relatively inelastic

7 A.Yes. 7 demand, from an economic’ s point of view?

8 Q. Soweneedtoknow how responsive they would 8 . I would think so.

9 be, we need--going back the next bullet, we 9 . Now, in your bullet there, your four bullets,
10 need to know the cost of procuring it, the 10 and as we looked at them, three of them were
11 previous bullet, the potential is affected by 11 clearly directed to the end-use customer and
12 the load management in the customer’s end-use 12 thefirst one talked about the level of the
13 equipment profile. So again, we'retalking 13 demand rate. Should | take it then, from what
14 about end-use impact, correct? 14 you've got here, that you believe it is
15 A.Yes 15 important that demand rates be reflected in
16 Q. Okay, so al of thesethings aregoing to 16 the end-use customer’ sretail rate design?

17 interact, but they interact, as you suggest 17 A.No, | don't think that’s a requirement.
18 here, at the end-use customer? 18 Q. Okay, could you explain why then?
19 A.Yes 19 (11:45am.)
20 Q. Now, the next paragraph you touch on electric 20 A.Thereasonis, isbecauseif NPasthe utility
21 heat and you close with the comment, "However, |21 serving itsend-use customers, understands
22 electric heat can be aproblematic end-use 22 that it can achieve asavings, it can ingtill
23 load for utilities to manage.” Could you just 23 that to its customers without a demand rate
24 explain what you mean? 24 per se.
25 . Wéll, | think it refers to the fact that there 25 Q.Soyou don't need ademand rate where, at
Page 107 Page 108

1 Newfoundland Power’slevel to impact the end- 1 influence it through rates, and this isthe

2 use customer? 2 point you made earlier, that we have rates or

3 . No, I’'m saying that you do need a demand rate 3 other cost-effective measure, at the rate

4 to--from Newfoundland and Labrador Hydro to 4 level, is it not the message getting

5 Newfoundland Power without the necessity of 5 translated through in some sort of demand rate

6 having a demand rate at the end-use level. 6 signal?

7 .But if in fact what you believeis that the 7 A.Yes, it could be that.

8 end-use customer knowing the demand costs that 8 Q. Yes, okay, so those are the two dichotomies

9 the customer is placing on the system and is 9 we've got to look at, at the end-use consumer.
10 it not the end-use customer that needs to have 10 Now, let’s goto your next paragraph which
11 that price signal to achieve whatever quotes 11 talks about water heater controls because
12 efficiency you believe you want to achieve? 12 we're very interested in what you' ve got here.
13 . It doesn't have--it does not haveto have a 13 Asyou get towardsthe end of the page, you
14 price signal per se, it can have some 14 say "Approximately 150 megawatts of load that
15 representation of savings, for example on if 15 isavailable for control in total", and your
16 you installed an off-peak water--if you have 16 sentence goes on, "with controls or cycling of
17 water heating, you can save so much. They can 17 water heaters, achievable load management
18 realize the savings and the virtue of not 18 potential would be significantly lower than
19 consuming on peak, without having knowledge of |19 the technical potential reflecting the
20 the peak. 20 interaction of economic and market factors
21 Q. Soif webreak what we just saidinto two 21 noted above." Now, can we break that into a
22 components, one component is we could give 22 whole series of points. First of all, explain
23 them a price incentive for some kind of demand 23 technically thetype of controlsthat you
24 side management issue, like water heater 24 would see being envisaged?

25 controls, or aternatively, if we'retrying t 25  A.I’venot personally undertaken a study of the
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1 MR. GRENEMAN:

2 exact typesof controls, but | do know that

3 utilities do install these types of controls

4 and they are workable in a number of

5 jurisdictions and they do indeed reduce peak.
6 Q. What type of controls? Because | appreciate
7 then you haven't studied the issue, but what
8 type of water heater controls?

9 A. It could bewater heater cycling controls.

© 00 N o ok~ WODN P

Page 110
So, you get diversity between refrigerators
or, inthis case, water heaters.
Q. Okay. Now, let’slook into water heater. A
water heater, if we looked across all of
Newfoundland Power’s system, they go off and
on at arelatively random timing.
A. Right.
Q. Do you agree with that?
A.Yes.

10 Q. Explainthat to the Board, what'sa water 10 Q. Okay. So, how will this control do anything
11 heater cycling control? 11 different? Help the Board understand that.
12 A.Well, there' san intrinsic and thisis subject 12 A.Well, perhapsif, take it off the system, off
13 to check, there sanintrinsic storage, you 13 the anticipated system peak.
14 can't change--exchange heat in zero time. 14 Q. When would that be, sir?
15 When you shut the power going to a water 15  A. My understanding isthat that could be--1'd
16 heater, there's aresidual heat that decays 16 have to check, but| think that could be
17 over time. Soif consumersare willing to, 17 relatively known within a reasonable period of
18 for example, livefor some period of time, 18 time, | would think, but I’ d need to check on
19 fifteen minutes, thirty minutes, forty-five 19 that.
20 minutes with the residual amount of hot water, 20 Q. Wadll, let me help you with that because here's
21 then what that allowsthe utility to dois 21 the evidence in Newfoundland--Mr. Haynes told
22 cycle water heaters in segments and reduce the 22 us just the other day, you know not when the
23 peak overall. It's like refrigerators 23 hour or theday of the system peak. Now,
24 running, a refrigerators cycle, but not al 24 let’ sforget the day for aminute, you don’t
25 refrigerators cycle at the same exact times. 25 know the hour and the reason you don’t know
Page 111 Page 112
1 the hour in thisjurisdiction is because the 1 going to do their dishes, or it’s 8:00 in the
2 main driver of system peak istemperature, but 2 morning when they’'re going to do their
3 not absolute temperature, wind chill. That's 3 showers, are you proposing then that we should
4 the historical context. So, if we don’'t know 4 have an automatic control that would prevent
5 when that's coming, when do you want usto 5 people from having their shows at 8:00 in the
6 have these water heaters cycle off? 6 morning because that'sa potential time of
7 A. Wdl, another thing you could do is put more 7 system peak?
8 insulation on the water heaters, | mean, that 8 A.Wadl, thereare two things. number one, it
9 would lower the system peak - 9 would only be those that subscribeto it and
10 Q. That'sa program that’'s generally out there 10 arewilling to do it; number two, you don't
11 now and water heaters have generally been 11 have to necessarily prevent them from having a
12 upgraded by industry, but on the cycling 12 shower, but you can delay the increase, the
13 issue, when do you want usto have it cycle 13 cycling time, for example and that would, tend
14 off? 14 to lower the system peak aswell.
15  A. Well, it'smy understanding that there would 15 Q. So now, have you done any study to figure out
16 be pretty good estimates as to when the system 16 what the, number one, the cost of doing that
17 peak wouldbe. You point out that’s not 17 would be; and number two, what the uptake on
18 necessarily the case. 18 the program would be?
19 Q. Yes, okay, but can you point us to that 19  A.No, | have not and my impression was that it
20 estimate? 20 was NP s--it was in NP's arena to do that.
21 A.No, it wasjust my impression. 21 Q. That'sright, so you haven't looked at that?
22 Q. Just your impression, okay. So let us assume 22 A.No, | have not.
23 that the key time--that you could know the key 23 Q. Now let me give you another scenario for water
24 time and it was 6:00 in the afternoon, after 24 heater controls because there’ s another way to
25 people come home and they get their--they’re 25 go at this water heater problem or issue if
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1 KELLY, QC.:

© 00 N O o~ WODN

what you really want to dois system peak.
Another way you can go at it is you can outfit
every water heater inthe Provincewith a
radial controlled device, so that when Hydro
saysthe system isreaching peak, we'll shut
them al off. Now, do you have any idea what
the cost of doing that is?

. There are anumber of technologies around that

A.
Q.

A.

Q.

Page 114
refinery?
Yes, I'm aware of that.
Okay. Andwhat type of load management
opportunity do you think Hydro should engage
into target large users?
| have not studied that and I’ m not prepared
to comment on that at the moment.
Okay. Now, | appreciate you haven't looked at
Newfoundland Power’ sretail rate design, but--

10 can accomplish that, | do not know the cost. 10 apart from having alook at the basic rate
11 . No, okay, so you haven't looked at or studied 11 structure, but are you aware that Newfoundland
12 that issue at all? 12 Power has a curtailable rate option?
13 . | have not, no. 13 A.l don'trecall offhand, but | accept what -
14 . Okay. Now, let’sjust go on then to the next 14 Q. Okay, andif | say toyou that Newfoundland
15 bit that you'vegot in this piece here. 15 Power’ s customers are generally smaller, but
16 "Typicaly the largest load management 16 the cost or the incentives is approximately
17 opportunities are derived from commercial and 17 the same asfor Hydro’s Interruptible B? We
18 industrial facilities, rather than residential 18 have roughly, approximately about $29.00 and
19 facilitiesand in several U.S. jurisdictions, 19 the available curtailable capacity that we're
20 demand rates have resulted in significant load 20 looking at is only three or four megawatts, so
21 shapes when targeted at large users." Now, 21 that’ sthere in a curtailable rate structure.
22 first of all, are you aware that in 22 A.lIsthat $29.00 per what?
23 Newfoundland thelarge users are directly 23 Q. Per kilowatt.
24 dealt with by Newfoundland Hydro, principle 24 A. Per kilowatt year?
25 ones, we have the paper mills, we have the oil 25 Q. Yes, so roughly $28.20 was Hydro's
Page 115 Page 116
1 Interruptible B, so approximately the same 1 what thereis to study, | have heard the
2 value. Now, Hydro has proposed to terminate 2 evidence asto why it’s been terminated.
3 its Interruptible B program.  Should 3 Q. Okay, well you've heard the evidence here
4 Newfoundland Power also terminate its 4 about how thesituation works at Abitibi
5 curtailable rate option? 5 Stephenville about storage of the pulp, are
6 . I’'m not prepared--I'm not apprised of all of 6 you familiar with that?
7 the circumstances of your curtailable rate 7 A.Veryroughly.
8 program and it would be improper for meto 8 Q. Veryroughly.
9 comment on it without having complete 9 A.Inaqualitative sense.
10 knowledge and study of it. 10 Q. Inother words, when it’s called up, they have
11 . But one of the things that you have indicated 11 astorage of pulp which they can draw down, so
12 inyour report isyou want us to have an 12 they can shut down their pulping plant, that's
13 incentive to do things that would minimize the 13 the--so they take loads out entirely of the
14 Island peak, that’ s the whole premise of your 14 system, okay?
15 report, so we have acurtailablerate that 15 A.Yes
16 impacts the Iland peak to the extent of three 16 Q. Now, Newfoundland Power’s curtailable rates
17 or four megawatts, so we'rewondering from 17 are for, some of them are applied to
18 your long-term efficiency perspective, should 18 hospitals, senior citizen's homes and we even
19 we keep that or should we get rid of it? 19 have the St. John’s Water Supply System. In
20 .I’d really have to study that to answer that 20 each of those casesthat I'vejust talked
21 question. 21 about, diesel generation that they have for
22 .Haveyou studied then Newfoundland Hydro’'s |22 emergency purposesiswhat the customer then
23 termination of its curtailable rate whichis 23 hasto trip in to have that curtailable rate,
24 46 megawatts? 24 sointermsof relative efficiencies between
25  A. | don’t--I've heard the evidence, I'm not sure 25 storing pulp versus a diesel generation at the
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1 KELLY, QC.:

© 00 N O o~ WODN

customer’s premises, a a high level, Mr.
Greneman, which is more efficient?

A. Well they have different entitiesand it’'s
different purposes with different entities, so
| don’t think you can compare one versus the
other. They aretwo different partieswith
two different objectives.

Q. Well then, let me put the question this way,

© 00 N o ok~ WODN P

Page 118
are the points we touched on earlier and if we
come down to the bottom of the page, you say
in the last paragraph, "In setting an
appropriate energy rate, Hydro should try to
strike a balance between the demand and energy
rate levels, such that the demand rate
satisfies the above criteria, with the energy
rate reflecting short-run marginal costs’, in
this case, the fuel at Holyrood. So the

10 if we have capacity on the system, should we 10 short-run marginal costs at Holyrood we saw as
11 be paying people, whether it's ahospital or 11 5.13 cents a kilowatt hours?
12 a-which are public institutions now, should 12 A.Yes
13 we be paying for them to run diesel generation 13 Q. Now, here you're talking about using, you had
14 asan Interruptible rate, isthat the most 14 a discussion with Mr. Browne about where
15 efficient way of going about it? 15 marginal costing fitsinto this, and here you
16 A.I'd have to know under what conditions you 16 are suggesting that in where we set this level
17 would interrupt them. 17 of demand and energy rate, that we haveto
18 Q. Okay, and you haven't conducted that study? 18 bring in a short-run marginal cost
19  A. No, by no means. 19 consideration asto what it coststo produce
20 Q.Okay. Now, let'smove alongto page 11 of 20 electricity. Why is that the case? Just
21 your report and at the very top of the page, 21 explain that to the Board.
22 you make three pointsin your bullet, should 22 A. Well because it influences customer decisions
23 be an appropriate cost based price signal, 23 at the margin.
24 maintain revenue stability and provide an 24 Q. Right.
25 incentiveto control the Island peak, those 25 (12:00 p.m.)
Page 119 Page 120
1 A.Based upon today’s cost. 1 A. Supposeyou had one sourceof energy at 3
2 Q. Right, so we should not be selling 2 cents and another at 2 cents and you sold it
3 electricity, we shouldn’t be selling energy at 3 at--1'm sorry, one at 3 and one at 1 cent and
4 less than the cost of producing it? Correct, 4 the average was 2 cents -
5 on a short-run basis? 5 Q.Yes
6 A. There may be some special circumstances where 6 A.Andyou had ayear round rate for 2 cents, at
7 you can, but in general - 7 some point you will be selling for less than -
8 Q. Asagenera proposition. 8 Q. But here on the Island, because of the nature
9 A Right. 9 of our generation structure, thisisthe very
10 Q. And we're going to have a look at some 10 point we talked about at the very beginning,
11 variations later on, but as a generd 11 the marginal cost of Holyrood is the marginal
12 proposition, we don't want to be selling 12 cost al year round and that’s 5.13 cents.
13 energy at less than the cost of production, do 13 A Yes
14 we? 14 Q. We agreed on that when we started.
15 A. Waéll, it happens sometimes just as a matter of 15  A.Yes | did.
16 circumstance. If there were a demand--okay, 16 Q. Sothat what we don’t want to bedoing is
17 go ahead, I'm sorry, | retract that. 17 selling energy at less than cost, as a general
18 Q. If youwant to add something, by all means, 18 proposition, you agree with that?
19 feel free. 19 A. Generdly, yes.
20 A.If thereis alevelized energy rate that is 20 Q. Okay. Now, because that would be inefficient,
21 one energy rate year round and there are two 21 correct?
22 sources of energy, one higher than the other, 22 A.Inthelong run.
23 there will always be one source that’ s sold at 23 Q. Andin the short run it would be inefficient,
24 less than the short-run marginal cost. 24 wouldn't it, to be selling below cost?
25 Q. If you do what? 25  A.Wadll, unless you recovered your cost earlier
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1 MR. GRENEMAN: 1 A.Wadll, I had thought about--but you know, you
2 on. 2 have to account for growth on NP side.
3 KELLY, Q.C. 3 Q. But can you address my question?
4 Q. Okay. Now, at page 12 in your recommendation 4 A Yes
5 asto how this works, how this should work, as 5 Q. Inyour proposal, were you proposing that--you
6 | understand it the type of structure that 6 were clearly proposing that Hydro should have
7 you're putting forward is to be basing the 7 afloor and my questionis, wereyou also
8 demand on the single winter peak, correct? 8 proposing, in proposing this band that Hydro
9 A. Thatiscorrect. 9 should have acap on how much revenue they
10 Q. Inother words, you're not proposing that it 10 should earn if demand went up.
11 should bedone over various months, we're 11 A. No, the thinking was that--the concept was
12 going to judge how to do this against the one 12 that NPs load normalized--NP's demand
13 winter peak? 13 normalized for weather, would be
14  A. That isthe criterion that Hydro hasto live 14 representative of its true demand and acap
15 by. 15 would not be needed.
16 Q. Right, and that’swhat you're recommendingand (16 Q. So that what you would do is you would impose
17 | want the Board to just understand how this 17 afloor so that Hydro would be protected if
18 isintended to work. 18 there were variations on the downside, but you
19 A.Yes 19 would not impose acap to limit Hydro on the
20 Q. And then at the top of page 13, you talk about 20 upside?
21 the need to limit Hydro’s downside risksin 21 A.Yes.
22 the first sentenceand if you come down 22 Q. And such acap would also limit volatility to
23 halfway through the paragraph, you talk about 23 Newfoundland Power if there was acap on how
24 setting a ban, okay, did you intend by that to 24 much demand was going to be subject to this
25 set any kind of acap, aswell asafloor? 25 to, wouldn’t there?
Page 123 Page 124
1 A Butit wouldn't--it wouldn't redly cap the 1 floor for Hydro at all?
2 load growth, if at the end of this proceeding 2 A lIt'ssort of asafety netin moving out of a
3 there is not another proceeding for eight or 3 revenue stabilization plan.
4 nineyears from now, NP can grow acertain 4 Q. A safety net for Hydro?
5 percent and as NP grows, it moves further away 5 A.Wdl for moving out of this environment where
6 from that 2 percent, if you will. For 6 there is revenue stabilization--rate
7 example, if you grow 3 percent, then you have 7 stabilization plan in effect.
8 an allowable 5 percent swing before you hit 8 Q. Andjustto kind of jump ahead of that, if the
9 that 98 percent threshold becauseit’s 98 9 demand dropsto the 98 percent and in fact,
10 percent of the 2004 forecast. So asyou get 10 drops more than the 98 percent, would
11 bigger, the downside increases 11 Newfoundland Power then pay for demand that is
12 proportionately. 12 not being used on your recommendation?
13 Q. That'sassuming Hydro doesn't comeinfor five |13 A. You're paying for it right now.
14 or six years, which | think is perhaps 14 Q. Exactly, right now the demand -
15 unlikely. But let’s stick with it, so you're 15  A.You'repaying for it right now if you're not
16 proposing a floor, but no cap? That'sthe 16 using it.
17 effect of your recommendation? 17 Q. Right now it gets al translated through at an
18 A.Waell, the concept is that your demand 18 energy only rate without the volatility
19 normalized for weather will be very closely 19 issues, we'll talk about those aswe get to
20 related--will be quite accurate and that it 20 them.
21 will greatly minimize the chance for windfalls 21  A.Right.
22 on either side and that it would be very 22 Q. But on your scenario with the demand rate -
23 representative of an agreeable demand between 23 A.On the scenario you just stated, you're
24 everyone. And | till believe that. 24 gaining an economic advantage if you drop
25 Q. If youfully believe that, why do you need a 25 below 98 percent.
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1 KELLY,Q.C: 1 objections to a demand energy rate, the basic
2 Q. But after we get to 97 percent, Newfoundland 2 objections from 1989 through present, and
3 Power will still have to pay at the 98 percent 3 that’s explained in the demand energy report
4 level - 4 and what Stone & Webster done wasto try and
5 A Right. 5 structure a demand energy rate that addresses
6 Q. Even though the load has dropped to 97 6 al the concerns that have been stumbling
7 percent, is that what you' re recommending? 7 blocks until this point.
8 A.Right, seeyou're 2 percent ahead of where you 8 Q. Okay, but you're not proposing necessarily
9 are right now. 9 thisrate, but thisis somehow the structure
10 Q. Now let'sjust follow thisalong, at the 10 to be followed?
11 bottom of page 13, you talk about your 11 A.It'sour view that astructure such asthis
12 recommended rate treatment and you make a 12 can serve asaguideline ingoing past the
13 number of observationsthere. You say, "The 13 stumbling, things that have been stumbling
14 report does not recommend an actual demand 14 blocksin the past.
15 rate to Newfoundland Power, but a demand rate 15 Q. Asaguideline. Then you go on to say, "Using
16 structure that is based on the principles set 16 these principles, it is recommended that Hydro
17 out in this section using the preferred Option 17 run cases to carefully determine measures for
18 A." Now, if we break that into a couple of 18 such things asthe appropriate demand energy
19 parts, first of all, you say not necessarily 19 balance, variation in its revenue stream, et
20 giving you the demand rate, but saying thisis 20 cetera. It is asorecommended that the
21 the type of structure you should follow. 21 results of various cases be shared with NP and
22 Could you just elaborate on what you mean by 22 that the proposed demand rate be based on
23 that? 23 discussions between both utilities." And if |
24  A.Yes, | would liketo. This structure--what 24 take that in parts, that hasn’'t happened yet,
25 I’ve done is reviewed al the parties 25 as it? Infact, the running the various
Page 127 Page 128
1 analysis, providing that, getting feedback? 1 run. Sowe, in asense, hung our hats on
2 A.Wadl, | have not been apprised asto whether 2 Option A because it allowsNPto operatein
3 it's happened or not. 3 the efficient fashion it has been operating in
4 Q. Okay, you don’t know the answer. 4 the past. That'snot to say other options
5 A.No, | don't. 5 aren’'t viable, but it does directly address
6 Q.Now, justgo back tothe Option A, as | 6 that aspect of the past negotiations that have
7 understand your recommendation, the Option A 7 been a stumbling block.
8 is the option with the full credit for 8 Q. AndOption A isthe--what I'll say consistent
9 Newfoundland Power’s hydraulic and thermal 9 with the existing generation credit
10 generation, correct? 10 methodol ogy that the Board has used?
11  A. That’scorrect. 11 A.Yes, itisconsistent with that.
12 Q. Andjust explain to the Board the reasons why 12 Q. Right, okay. Let’sturn next to page 15 and
13 you believe that that’s desirable? 13 just flesh out the final bit of your report
14 A. Any one of the three options could have merits 14 here, page 15 in Chart 1, you have the sample
15 on their own, but one of the stumbling blocks 15 rate design characteristics and what | want to
16 in the past has been the question as to 16 gotois down to the bottom and you havea
17 whether, if we do put in ademand energy rate, 17 proposal which goes as follows: For the
18 then perhaps NP can maximize their generation 18 energy component, you have the first
19 and, in particular, their thermal generation 19 420,000,000 kilowatt hours, 0.344 cents a
20 at the time of the system peak to artificially 20 kilowatt hour?
21 and for the short term depress the peak; 21  A. That'scorrect.
22 thereby giving them an economic advantageand |22 Q. And then for over that, 0.470 per kilowatt
23 what Option Adoesisit actually builds on 23 hour, okay?
24 NP's native demand, that iswhat itsintrinsic 24 A.That'sright.
25 demand before any of its own generation is 25 Q. And ademand charge of $7.00 per kilowatt hour
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1 KELLY, Q.C:
2 of billing demand, correct?
3 A. Perkilowatt of billing demand.
4 Q. Per kilowatt, sorry, per kilowatt of billing
5 demand. Now, that demand charge is per month
6 as are the energy charges, correct?
7 A.Yes, the thing with that isthe level--the
8 number of kilowattsthat NP, we're proposing
9 here that NPisto be billed on, isthe 1 peak
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Page 130

A. That’s correct.

Q. That’s correct.

A. And that isthe costing methodology that’s
been used and approved.

Q. Okay, Now, canwejust gotoNP-128 for a
second, so that we seewhat thismeans in
practise, and the question in NP-128, boiling
down the question, what months are we talking
about here, and the answer isin 98, 2000 and

10 hour of the winter, the winter being November 10 2001 and 2002, the monthly energy purchases
11 through March. But now here, we're collecting 11 exceeded 420 kilowatt hoursin the months of
12 it, this issimply acollection mechanism, 12 January, February, March and December. So on
13 we're collecting that in 12 equal payments of 13 your proposal, if youlook at 1999 first,
14 $7.00, which equals the fully allocated demand 14 there were only two months, January and
15 cost of $84.00 per kilowatt year. 15 December, correct?
16 Q. Exactly the point | was coming to. So you are 16  A. Sorry, where are you referring me to?
17 going to base it off the single winter peak, 17 Q. Okay, it'slines 9 through 14. If you look at
18 so the annual demand charge is $84.00 per 18 years’98 -
19 kilowatt? 19 A.Ohhere, yes, | see, January and December,
20 A.Andthat isindeed, Hydro's fully alocated 20 right.
21 cost of serving NP. 21 Q. Sowewill agree that most years we're talking
22 Q. Right, and we'll come to that discussion, but 22 about that upper rate kicking in at, for four
23 the numberson the annual basisis $84,00 a 23 months of the year, correct?
24 kilowatt because we'relooking at it off a 24  A.That iscorrect.
25 single winter peak demand? 25 Q. Okay, so your proposal essentialy boils down
Page 131 Page 132
1 to this, we're going to have ademand charge 1 A. Which component of this?
2 of $84.00, but right now under the existing 2 Q. Anyoralof them,|'dlikeyouto tell me
3 energy only rate, we have the demand charges 3 which component you think should be reflected
4 and the energy chargesrolled into one energy 4 in Newfoundland Power’ sretail rates?
5 only charge, which is 54 whatever it is, asin 5 A. None of them can be reflected identically, but
6 the Revised Application, we're going to break 6 by Newfoundland Power living by the same rate
7 that out, we're going to have a $84.00 demand 7 structure, arate structure such as this,
8 charge and then you're going to have atwo- 8 which is consistent with the way Hydro incurs
9 level rate, one that applies for eight months 9 its cost, isavirtue on its own and will, in
10 of the year and one that will apply at the 10 my view, promote innovation and being able to
11 higher rate inthe last four months--or in 11 respond to that and proper rationing of demand
12 four months of the year? 12 and capacity. | cannot sit here and tell you
13 A. No, it'sone rate that applies throughout the 13 the exact route to take or the exact mechanics
14 year. 14 to take, | think that’s in your--more properly
15 Q. Yes, but the higher rate will only kick in, in 15 in your ballpark, but | think thisis an
16 the usual circumstances, on four months of the 16 essential and needed step that needsto be
17 year, correct? 17 done.
18  A. Well, you will--the rate will be there, you 18 Q. Asagenera principle then, do you want usto
19 will fall into the second block for that 19 reflect in our retail rate structure a
20 period of time, right. 20 seasonal component reasonably proportional to
21 Q. Right. Now, my next questionis, andI’ll 21 what you are proposing at the wholesale level ?
22 just give you this question before we break, 22 A. | think a seasonable component--see, Hydro is
23 isit your contemplation that Newfoundland 23 aunique situation, | mean, this Provinceis,
24 Power should reflect that proposed wholesale 24 in asense, unique. | would need to study the
25 rate structure in itsretail rates? 25 mechanism of the seasonal--1 can't say yes or
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1 MR. GRENEMAN: 1 users, our customers?
2 no to aseasonal, as agenera concept. | 2 A. Canyou repeat that please?
3 think it can, aseasonal component can be 3 Q. Doyouwant usto pass on your seasonal rate
4 implemented, but | would need to see the 4 structure in our retail rate structure to the
5 mechanics. 5 end-use consumers?
6 KELLY, Q.C.: 6 A. Oh, this being the seasonal rate structure.
7 Q. What would be the utility of you giving usa 7 Q.Yes
8 seasonal rate to achieve anything unlesswe 8 A.Notinthe same form necessarily.
9 somehow put a seasonal rate in place with our 9 Q. Inwhat form?
10 customers? 10  A. There could be--I would think that would be
11 A That would be-isn't that what | just 11 for you to devise, aform.
12 mentioned? 12 Q. Would you think it should be reasonably
13 Q.| thought you were just saying that you'd have 13 proportionable to what you are proposing?
14 to study it and - 14 A. Not necessarily.
15  A.I’'msorry, | was referring to you putting a- 15 Q. Okay, the demand charges, are you proposing
16 NP putting aseasonal rate in for their 16 that we should pass on the demand charges as
17 customers, that’ swhat | was referring to. 17 demand charges in some reasonable
18 Q. Right, and my question to you is, well if you 18 proportionality?
19 want us to have a seasonal rate - 19 A. That'swhat istypicaly done, not--I mean,
20 A. Oh, do we haveto have one? No. 20 there s divert, considerations of diversity,
21 Q.No, my question is,if you think it is 21 of course, and so you can’'t pass on the same
22 worthwhile for usto have one because there is 22 exact demand charge and there’ s different ways
23 some benefit to the system of having 23 of passing it on, whether you doit at the
24 seasonable rates and end-users, to we not have 24 retail level based upon asingle peak or
25 to pass that onin some fashionto the end 25 whether you do it on aracheted peak isup to
Page 135 Page 136
1 you. 1 system, principlesto be applied and then we
2  Q.But you'dlike usto pass onthat demand 2 had looked at your report, exhibit RDG No. 2.
3 charge to our customers? 3 And | want to go next and have alook at your
4  A.I'mnot saying that's anecessity, utilities 4 evidence at page 16, if wecould go there.
5 do do that in responseto thistype of rate 5 Andif wecome downto the paragraph that
6 structure. 6 begins at line 10, and I’ [l give you a moment
7 Q. That'sagood place for usto break and we'll 7 to read the paragraph, the second that | want
8 pick it up there after lunch. 8 to focus on begins at line 15. And at line
9 CHAIRMAN: 9 15, you say, "The demand portion of Hydro's
10 Q. Thank you, Mr. Kelly, thank you Mr. Greneman, 10 rate will provide Newfoundland Power with a
11 we' |l reconvene at 1:30 p.m. 11 quantitative measure against which to develop
12 (BREAK AT 12:20) 12 aviable load management plan." Now, the
13 (RECONVENED AT 1:30 P.M.) 13 quantitative measure that you’ re talking about
14 CHAIRMAN: 14 thereisthe $84.00 per kilowatt, per year,
15 Q. Thank you. Good afternoon, Ms. Newman, is 15 correct? For demand?
16 there anything before we begin? 16 A. Effectively yes.
17 MS. NEWMAN: 17 Q. Okay. Now, and you go on in the next sentence
18 Q. No. 18 to say, "All things considered, the preferable
19 CHAIRMAN: 19 aternativeisto provide Newfoundland Power
20 Q. Okay, thank you. Good afternoon, Mr. Kelly, 20 with a relevant price signal." And the
21 when you' re ready please? Are you ready? 21 relevant pricesignal that you're talking
22 KELLY,QC: 22 about there again is $84.00 a kilowatt a year?
23 Q. Thank you, Chair. Mr. Greneman, when we had 23 A.Yes, that is relevant because it's the
24 broken, we had had adiscussionin which we 24 relevant costs that Hydro incurs for capacity.
25 looked at the operating characteristics of the 25 Q. And that isbased upon an embedded cost basis;
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1 KELLY, QC.:

2
3
4
5
6
7
8
9

in other words, what Hydro has spent in the
past?

A ltis.

Q. Okay, now let’sjust follow this along a hit,
so if thisis the quantitative measure against
which Newfoundland Power is to develop a
viable load management plan, would you agree
with me that any expenditure which
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Page 138
evidence here that thisis the quantitative
measure against which we areto develop the
load management plan. Isit or isit not?
A. Right, I’'m not disagreeing with what | wrote,
you have to think about your sentence.
Q. Okay, well let me put this proposition to you,
if itis the quantitative measure against
which we should develop aload management
plan, in your view isit aso the quantitative

10 Newfoundland Power makes less than that 10 measure against which Hydro should develop its
11 quantitative measure to reduce demand, would 11 load management plan?
12 be good in your view for the system? 12 A. Which load management plan of Hydro's are you
13 A.l would agree tentatively. The $84.00 13 referring to?
14 provides a measure which was non-existent in 14 Q. Load management planfor any demand that
15 the energy only rate. 15 relatesto the customers that Hydro serves
16 Q. Okay, but will you accept my proposition that 16 directly, whether that is Rural Connected or
17 on your view any expenditure that Newfoundland |17 whether that’s Industrial?
18 Power makesto reduce demand, which isless 18 A.Well, you see, you'reexpressing itas an
19 than $84.00, it costs lessthan $84.00 a 19 absoluteand I'd need to think about whether
20 kilowatt hour--sorry, akilowatt for demand, 20 it'svalid as an absolute, rather than being
21 would be good for the system? That’syour 21 based on, and | have not come to a conclusion
22 view? 22 on whether | can say anything that’'s
23 A. |l would agree, but | would like to reflect on 23 absolutely less than $84.00. There are other
24 it alittle bit more later on. 24 considerations that come into play.
25 Q. Wadll, that puzzlesme becausethisis your 25 Q. What would bethe other considerations that
Page 139 Page 140
1 would come into play there? 1 of what you achieve. What are the
2 A.ltwould be the quality of the type of load 2 characteristics and quality of what you
3 management you achieve, whether it's long 3 achieve? |s it--canit becaled on at any
4 term, short term, whether it'sa specified 4 time, isit for aspecified period of time,
5 limited number of hours per year or whether 5 are there conditions involved with it, isit
6 it'savailable on acontinuing basis. These 6 temporary in nature or long term in nature?
7 are all modifiers--the statement holds on its 7 You can't answer those questions based--
8 own. I'mreticentto agreewith your very 8 they’'re al valid considerations and honestly,
9 specific case. 9 | cannot -
10 Q. Butyou had set forward a proposal in which we 10 Q. What would you have to look at then to address
11 are to develop aload management plan - 11 al of those concerns that you'’ ve put forward?
12 A Thisisaguideline, if you will. 12 A.I'd haveto know the nature of what it is and
13 Q.-and weareto testit, sir, according to 13 to study it.
14 your analysis, against awinter peak, asingle 14 Q. Sothen thisis not aquantitative measure
15 winter peak, that is your proposal. 15 against which we can determine the value of a
16  A. Right. 16 load management plan?
17 Q. And the value of that is $84.00 a kilowatt, so 17 A.ltis inthat it provides you with a hard
18 if we spend $75.00 a kilowatt to get rid of a 18 number to assess various options in
19 kilowatt of demand, would that not meet your 19 consideration with other variables.
20 criteria of quantitative measure? 20 Q. Wadll, let'stake it astep further and wrap
21 A.Asl st here, | don't think | can agree with 21 some numbers around this discussion. Let's
22 that premise. | think it's based on the 22 assumethat therewas 20 megawatts that we
23 $84.00, but | cannot say that if you spend 78, 23 could deal with, soinstead of talking about
24 it'sworthwhile. That’sfor you to decide, 24 $84.00 a kilowatt, 20 megawatts would work out
25 number one; and number two, it’'sthe quality 25 to 1.68 million dollars at $84.00. So if we
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1 KELLY,Q.C.: 1 A.Andhastoliveby it, butit’sputting that
2 spent anything less than 1.68 million to get 2 atrisk in order to get ademand and energy
3 rid of 20 megawatts of demand at peak period, 3 rate on the table and in place.
4 would that not meet your quantitative measure? 4 Q. Soyouwould agreethat Hydro, anything less
5 A.Youwould have anet savings. 5 than 1.68 million for 20 megawatts would be a
6 Q. Inyour view, we would have a net savings? 6 good investment?
7  A.Onthefaceof it, yes. 7 A.No, as| pointed out, it has a commitment that
8 Q. Andthat’syour view, isit? 8 it must pay those dollars, regardless right
9 A.On theface of whatyou describe without 9 now of whether it getsrid of them or not.
10 further consideration and my experience is 10 Q. Butthose are historical costs, aren't they?
1 that everything requires further 11  A. But they have contracts and they have to pay
12 consideration, you would have - 12 that historical costs, so -
13 (1:45p.m.) 13 Q. But the future costs against which load
14 Q. Okay, well--so let’stake it astep further. 14 management has to be addressed isa future
15 So by the same token, that would also be true 15 expense, isit not?
16 for Hydro? Hydro could get rid of 20 16 A. Yes, the deferral of plant.
17 megawatts at peak period, it would make sense 17 Q. Deferra of plantis afuture expenditure,
18 for them to spend anything lessthan 1. 68 18 okay. Now, then what does the Board have to
19 million to get rid of it. 19 know in order to be satisfied that it is cost
20  A. Hydro has made along-term commitment andit |20 effective to spend money now to defer capacity
21 cannot get rid--that’ s the embedded cost, so 21 in the future?
22 it hasto recover that cost and it’s putting 22 A.Wél, if you're headed towards marginal costs,
23 that money at risk. It's aready made a 23 marginal cost is certainly an input to demand
24 historical commitment for that $84.00. 24 side management and load management; however,
25 Q. Made ahistorical commitment, but what - 25 that is separate and distinct, inmy view,
Page 143 Page 144
1 from implementation of a demand energy rate. 1 would not Hydro need to know it and would not
2 The virtues of ademand energy rate stand, on 2 the Board need to know it to determinethe
3 themselves, regardiess of whether or not NP 3 cost effectiveness of it?
4 does any load management. 4 A ltwill defer thetime, my presumptionisit
5 Q. Butyour report has framedit interms of 5 will defer the time at which Hydro needsto
6 deferring capacity to meet peak. Now let’s 6 sit down at the table and plan the next unit.
7 just follow this through. Would we not need 7 Q. Okay.
8 to know, firstof all, what that future 8 A.Andtha, initself, isasavingsin dollars.
9 capacity will in fact look like? What are the 9 Q. Sowe need to know what -
10 long-run system expansion model for that 10 A. Without knowing quantitatively, to the extent
11 Interconnected System? Would we not need to 11 that it will defer it and it will defer it,
12 know that? 12 that isadollar savings and | don't think it
13 A.No, | can say--wdll, it depends if you want to 13 necessarily has to quantify that dollar
14 know qualitatively or quantitatively. 1 can 14 savings.
15 tell you with avery high degree of certainty 15 Q. It'sadollar savings, but you say wedon’t
16 that if you lower your load on a-I can tell 16 need to quantify it?
17 you pretty definitively that if you lower your 17 A.I’'msaying I’'m not surethat Hydro needsto
18 peak demand on an ongoing basis, you will 18 quantify it and is Hydro quantifying it right
19 defer capacity. | can say that pretty--with a 19 now? | don’t think so.
20 high degree of certainty. 20 Q. Do we need to know when that capacity will be
21 Q. Okay, so but do weneed to know what that 21 added, would otherwise need to be added? Is
22 capacity analysisis going to look like, what 22 there not atime element that comes into play
23 type of plant, how much it s going to cost? 23 here?
24 A.You might need to know that. 24 A.Yesand wewould quantify if thereisatime
25 Q. Wedl Hydroisgoing to build it, presumably, 25 element that would comeinto play.
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1 KELLY, Q.C: 1 megawatts and at 50 percent, 75 megawatts.
2 Q. And would we not then have to determine a net 2 Now remember we had the discussion this
3 present value of the cost of that future 3 morning -
4 capacity to be deferred? 4 A I’'msorry, say that again?
5 A.Right. 5 Q. If how many were on, how many were running -
6 Q. Wewould, wouldn't we, right. So that if in 6 A. Right.
7 fact, let me comeback to the example we 7 Q. Andyou said 10 percent to 50 percent of them
8 talked about this morning of water heaters, 8 may be on at any point in time during the day,
9 the one that you put forward. And inyour 9 agreed? And at 150 megawattsfor the whole
10 report, you said there were 150,000 electric 10 capacity, according to your report as arough
11 hot water heaters, 1 kilowatt per unit for a 11 ballpark here -
12 total load of 150 megawatts. Now they cycle 12 A. Right.
13 off and on, so at any given point in time, how 13 Q. That would be ahot water -
14 many do you think would be on? 14 A.Well the 50 percent was premised on normal
15  A. I don’'t know at the moment. 15 recycling to begin with.
16 Q. You have no sense of on aregular basis - 16 Q. Fine
17 A. How many would be off? 17 A. And what I'mreferring to, okay, so the gain
18 Q. How many would be on? 18 would be the gain with respect to 50 percent--
19  A.How many would beon? | would say anywhere 19 thisis purely hypothetical and theoretical.
20 from, | would just take a rough guess and this 20 Q.| appreciate that.
21 is, I'd say between 10 and 50 percent. 21 A.Andto reiterate, I’ m stepping out of my area
22 Q. Between 10 and 50 - 22 right now. But assuming in the normal course
23 A.I'mjust picking arough number, I'm stepping 23 of events 50 percent were on, and | said 10 to
24 out of my arearight now. 24 50 percent meaning if 25 percent are on,
25 Q. So that would give us at 10 percent, 15 25 that’ s a 100 percent gain with respect to the
Page 147 Page 148
1 50 percent that would have been on. 1 75 megawaetts like that?
2 Q. Okay, soif | could ask you the question, if | 2 A.Wedl instant savings to you are $84.00 a
3 had a magic switch and | said, now | can turn 3 kilowatt year.
4 off every hot water heater in the province 4 Q. Soif youwork that out, it would be worth it
5 that’son - 5 tousto spend alot of money to do it, how
6 A.Yes 6 much would that work out to?
7 Q. How many megawatts would | turn off? 7 A. 75,000 times 84.
8 A.Wdl according to your calculation, 150 8 Q. Alotof money. Now, if we spent all of that
9 megawatts. 9 money, would we go out there--that would be
10 Q. Butthat'sif they're all running. 10 the cost to, if we spent a million dollars,
11 A. According to the 50 percent, 75 megawatts. 11 would it be worth spending a million dollars?
12 Q. Soit may be 75 megawatts, to take a very high 12 A.Onthefaceof it, it seems likeit would be
13 percentage using your 50, okay. 13 worth spending it to you.
14  A. Right. 14 Q. For us?
15 Q. Now, if I'm--we talked about this morning 15 A.Yes
16 about how we could go about doingthat andone (16 Q. On your analysis. Would it be worth us
17 potential method that’ s out there is we could 17 spending 5 million dollars?
18 putin an electronic control on every hot 18  A.I’'mtrying to think where thisis all headed.
19 water heater and build an expensive system to 19 Q. Never mind, just -
20 have radial control dispatch to take that off 20 A.ltcould be.
21 the system, so that when Hydro calls us up and 21 Q.Could be. Would it beworth us spending 10
22 says, okay, there's a peak, we're getting 22 million dollars?
23 closeto a peak, could you turn off al the 23 A.l would say not.
24 hot water heaters, sowe flip the switch. 24 Q.And you're judging that against $84.00 a
25 Now, how much isit worth spending to turn off 25 kilowatt hour?
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1 MR. GRENEMAN: 1 whether they want it turned off or not is
2 A That'sright. 2 their option, rather than Hydro’s option, I’'m
3 KELLY, Q.C: 3 not sure of that.
4 Q. Okay. 4 Q. No, no, onInterruptible B, if they’ve signed
5 A.Actualy | would say it could be, because 5 up for 25timesa year, 25 peaks on demand
6 that’s per year and then it goes on year after 6 from Hydro, they’ll turn off 46 megawatts.
7 year. 7 A.Yeah. |think thisis getting out of the
8 Q. Right, but that enables usto turniit off on a 8 purview of the demand energy rateand I'd
9 winter peak. Now, would that defer any 9 probably want to refer this to somebody that’s
10 capacity? 10 more qualified within Hydro to speak toit.
11 A.Ifit'sreliable year after year, the question 11 Q. Who would that be, sir?
12 is, isit reliable year after year, something 12 A.ldon't know, I'd like to confer with Hydro on
13 that’ s dependable. 13 that.
14 Q. We have adependableradial controlled system. 14 Q. WHI, let me, | want to continue this
15  A. Right. That would cause--1 would think that 15 discussion though. We have to measure the
16 would cause Hydro to defer capacity. 16 Board, the $84.00 is simply an historical
17 Q. Okay, now what's the differencein that and 17 rate, but the Board has a responsibility to
18 Hydro calling up Stephenville and saying we 18 determine system planning for the future and
19 have a winter peak coming and they have a 19 the least cost alternative. That's the
20 program in place that turns off 75 megawatts 20 mandate under the Electrical Power Control
21 or 46 or whatever number they have is equally 21 Act. Inorder to determine whether the
22 asreliable, does that not defer capacity? 22 expenditurethat | just put to you for water
23 A.Wdl, | don'tknow al the circumstances 23 heater controls is appropriate, does the Board
24 around Stephenville. | don’t know how long 24 not have to judge that against the following
25 termit could be. 1 think the option for 25 factors. What are the aternatives? And the
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1 aternative is what is the system--number one, 1 quantitative measureis the right measure
2 what is the system plan for future expansion? 2 against which to determine activities related
3 Number two, what is the long run marginal cost 3 toviableload management. So, doesn’t the
4 of that expansion? Number three, when will 4 Board need the information to determine
5 that occur in the future? And number four, 5 whether that is, in fact, cost effective?
6 what is the net present value to bring it back 6 A.Wdl, that's going beyond what it says.
7 so we have anumber to determine whether the 7 Eighty four dollarsisthe proper measure, it
8 expenditure now on deferral today is, in fact, 8 is Hydro's embedded cost. It's the obligation
9 asavings or not? Isn’'tthat theanaysis 9 that it has to live with. Whether load
10 that has to be done? 10 management isindeed implemented or it’s not
11 A.l honestly believe that your line of 11 implemented, that’s inyour purview, in my
12 questioning isexceeding the scopeof the 12 view. And | think walking down thispathis
13 demand energy rates. | think it's apretty 13 really something that might more properly be
14 well known fact and | think you would even 14 taken up with system planning.
15 agree that a demand energy rate does promote 15 Q. But the whole purposein your report that we
16 conservation, it's pretty well accepted in the 16 looked at was to enable a demand to be taken
17 industry. And | think you're getting into a 17 off peak, that’sthe premise of your report.
18 lot of detailswhich perhaps are more properly 18 And so the question becomes how much isit
19 addressed by system planning. 19 worth doing to do that?
20 Q. But this Board has to determine the least cost 20  A. Not to take ademand -
21 aternative. And your proposa at line 15 was 21 Q. Toreduce the demand at system peak.
22 that you should give us, you, Mr. Greneman 22 A. Oh, to reduce the demand at system peak.
23 from Stone and Webster and Hydro, should give |23 Q. That’sthe premise. So, the question is how
24 us the quantitative measure, but the Board has 24 much isit worth doing and I’ m putting it to
25 an obligation to determine whether that 25 you, Sir, you can’t look at that question by
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1 KELLY,Q.C: 1 we supposed to respond to it?
2 looking at the historical costs. You haveto 2 A That'sup to you.
3 look at the future potentia costs of 3 Q. No, no, with respect, sir, you have said we
4 generation versus deferral. 4 should have an incentive to do this. And so,
5 A. |l would submit that it could be looked at both 5 if you're saying we should have the incentive,
6 ways and it could be looked at independently 6 presumably you want usto respond.
7 based upon embedded cost. 7  A. It would be desirable to respond, but | can’'t
8 Q. Okay. What will embedded cost give us other 8 tell you how you're going to respond or what
9 than historical costs? 9 the economics are.
10 A. It gives you historica cost, but it's 10 Q. Youcan't tell me the economics of how we
11 supportablein that it passes ina proper 11 should respond?
12 demand and energy relationship. Hydro’s cost 12 A.Wadl, I think that's within your area to
13 relationship that it hasto liveby andit’s 13 determine.
14 passing it ontoyou asthe customer. And 14 Q. Butyou can'ttell me the economics--you're
15 that in itself is appropriate and has merit, 15 going to givemean incentiveat $84.00 to
16 al by itself. 16 take demand off the system, but you can't tell
17 Q. Now, - 17 me that we should take demand off the system
18  A. Now, you can respond to it or not respond to 18 for anything less than $84.00? Is that not
19 it, but I think that Hydro has an obligation 19 what -
20 to reflect that in itsrates. 20 A.Thisisreally going beyond what the report is
21 Q. But thequestion for the Board is, is it 21 saying. The$84.00 is aproper number, it's
22 appropriate for Newfoundland Power to respond |22 supported on the, in some virtues.
23 to that type of price signal. In other words, 23 Q. Will you agree with me, sir, that your rate
24 is it worthwhile, us spending $84.00 a 24 hastwo components toit, both demand and
25 kilowatt to take demand off the system? Are 25 energy?
Page 155 Page 156
1 A Thatistrue. 1 aren't they, at 5.13 cents a kilowatt hour?
2 Q. Okay. Now, inyour energy component youhave | 2 A.1'm not sure that’s--I was told that’ s--how do
3 avaluefor eight months of theyear of 3. 4 3 | say -
4 cents a kilowatt hour? 4 Q. Wouldyou like -
5 A.lIsthat 3.44? 5 A.I’'mnotsure of thevalidity of that number
6 Q. 3.44. I'mdoing abit of rounding here? Y es? 6 exactly.
7 A. (No audible response). 7 Q. Yourenot?
8 Q. Andthe highest rate that you haveis 4. 7 8 A.Butthe4.7is-
9 cents as thetail block ratefor the other 9 Q. Canwe put NP-171 on the screen?
10 part of the year, the other four months? 10 A. | saw that, | saw that. The 4.7 centsisthe
11 A.If | could restate it a different way, there's 11 incremental cost of fuel at Holyrood.
12 arate of 3.44 cents which isapplicable all 12 Q. Canwe put NP-171 on the screen, Mr. O’ Reilly,
13 12 months of the year. 13 please? Sorry, | got thewrong number for
14 Q.Yes 14 you. Let me--NP-130. 4.7 isfuel but there’s
15 A.Andarate of 4.7 centswhich isapplicable 15 avariable operation and maintenance cost. In
16 al 12 months of the year. 16 other words, for every kilowatt hour you
17 Q. And that will only kick in as we saw 17 produce at Holyrood it costs .45 cents
18 historically - 18 additional ?
19 A.Buttherate, asit’s stated, is ayear-round 19 A Yeah
20 rate - 20 Q. Correct?
21 Q. That'ssemantics. | don’'t want to quibble 21 A.I'll accept that for purpose of this
22 with you over that. 22 discussion, but | think there’ s some question
23 A.Okay. 3.44and 4.7. 23 astothe-
24  Q.Bothof thoserates are below the marginal 24 Q. Wdll, these are Hydro’ s numbers.
25 cost of producing energy inthis province, 25  A.l know that.
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1 KELLY,Q.C: 1 minimum at the marginal cost of production?
2 Q. Haveyou done an analysis to dispute Hydro's 2 A.Wadl, one satheoretical question, the other
3 numbers? 3 is-there’s theoretical one, a practical
4  A.No. 4 answer. There are circumstances whereit's
5 Q.No. Sowould you agree with methat your 5 acceptableto sell energy at lessthan the
6 energy rates are lessthan the marginal cost 6 marginal cost.
7 of production? 7 Q. And soout of that may | suggest to you, sir,
8 A.Theintent wasto put the--the intent wasto 8 that in looking at the long-run future system
9 put thetail block,the 4.7 centsat the 9 and how we should either add capacity or defer
10 marginal cost of fuel, not om, but fuel at 10 capacity, we need to look at the marginal cost
11 Holyrood. So theintent wasto price it at 11 of energy and the marginal cost of demand as
12 the marginal cost of fuel at Holyrood. 12 relevant components quite apart fromor in
13 Q. Then, sir, that would then price energy at 13 addition to, whichever you like, the embedded
14 less thanit coststo produce itin this 14 costs?
15 province. 15 A.Yeah. Thereare margina cost considerations.
16 A. What would? 16 To price fuel, to set the price of energy at
17 Q. Becauseyou'regoing to priceit at roughly 17 the price of fuel there' savery closeif not
18 half acent below the cost of producing it. 18 exact matching of fuel cost with fuel
19 Do you not think that that is an inefficient 19 consumption. Soif customers decrease their
20 price? 20 use, Holyrood burns less and there' s a proper
21 A. What--I"m not supposed to ask a question, so 21 matching of cost. That'stheintent inthe
22 I'll ask it rhetoricaly. Would it make you 22 energy block. Theintent isnot long-run
23 happier if we'd made the tail block 5.13? 23 marginal costs, theintent isto match the
24 Q. Wadll, I simply put the question, do you not 24 cost with--the revenues with the cost.
25 agree that any energy should be soldat a 25 Q. Tomakesure wedon't sell it below cost at
Page 159 Page 160
1 the time of production? 1 be appropriate to -
2 A.Thereare plenty of utilitiesthat sell below 2 Q. Inwhat circumstances then?
3 cost. 3 A Okay. Let mehypothesize, let me put forward
4 (2205p.m.) 4 atheoretical rate form, okay, to give you an
5 Q. Doyouthink inthis province we should sell 5 example. It's not the rateform we put
6 energy below cost? 6 forward here. Suppose we implemented as an
7 A.There are circumstances where it may be 7 dternative to what we have in RDG-2 arate, a
8 appropriate. 8 two tier rate just as we have right now where
9 Q. Doyou think in any circumstance which exists 9 the second block is exactly as you see it
10 inthis province now we should sell energy 10 here, 5.13 cents per kilowatt hour and we took
11 below cost? 11 the block ending instead of being 420 gigawatt
12 A.If you have two sources and one source is one 12 hours per year, we moved that such that every
13 cent akilowatt hour and the other isthree 13 single month NP would see the 5.13 cents.
14 cents a kilowatt hour and there’'s an equal use 14 Becauseit'sa two tier rate you would take
15 of the one cent energy and thethree cent 15 the first block and bring it down sufficiently
16 energy, but you have an equal block all year 16 low in order to enable the higher 5.13 cents
17 round priced at two cents - 17 in every month. It’'sthat first block that’s
18 Q. That’snot our system, though, isit, sir? 18 being sold at less than the marginal cost, and
19 A.Wadl, I'm giving you an example. 19 yet, that would satisfy al incremental
20 Q. No, but in this province now, where we have a 20 production at the marginal cost.
21 predominantly hydraulic system that we talked 21 Q. Sowhat -
22 about this morning, is there any circumstance 22 A.But it's a concrete example, though, of
23 in which you think we should sell energy below 23 selling under marginal cost.
24 marginal cost of production? 24 Q. Okay. Sowhatyou would propose, I'll get
25  A.Wadll, you're selling--okay. | think it could 25 this clear before -
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1 MR. GRENEMAN: 1 summer.
2 A.I’'mnot proposing it, it's - 2 Q Andif you structured that at the wholesale
3 KELLY, Q.C. 3 level, would you like usto pass that along at
4 Q.No. But- 4 theretall level?
5 A.It'sdemonstrative - 5 A.Wdl, you've moving away from your origina
6 Q. Tomake surewesell at marginal cost, you 6 question.
7 would reduce the first tire block, which is-- 7 Q.No,no,I'm-
8 further reduce it, whichis in effect for 8 A.That’'saconcrete -
9 eight months of the year and increase the tall 9 Q. That'sthe concrete example that you puit.
10 block at the last four months of the year? Is 10 A Yeah
11 that what you' re telling us? 11 Q. And my questionis, if that was the wholesale
12 A.No. Thetail block would bein effect at all 12 rate, would you like us to reflect that in the
13 12 months of the year. 13 retail rate structure?
14 Q. Yes, but it's never reached? 14 A.ldon'tknow if I'dliketo. You could doit
15  A.Waél, no, the point isit is reached. And the 15 if you'd liketo.
16 reason it’s reached is you modify the--instead 16 Q. No, but what would you as the expert
17 of being a 420 gigawatt hour threshold. 17 consultant on rate design, what would you see?
18 Q. Yes 18 A.l haven't studied your system -
19  A.Youvary that such that you have consumption 19 Q. Haven't studied it?
20 in each of the 12 months at the tail block. 20 A. Andyou brought that out before.
21 Q. Okay. Sothat youwould have areduced rate 21 Q. Okay. Now, let’slook next then at a couple
22 in the summer, but atail block rate as well? 22 of areason the history of theload. Can |
23  A.Right. 23 take you to Mr. Haynes' table 8, please? Have
24 Q. Another - 24 you seen this table before?
25  A. And NPwould consume in both blocksduringthe |25 A. | believel have.
Page 163 Page 164
1 Q. Okay. Now, as Mr. Haynes has explained, the 1 Q. Correct? Would you agree with that statement?
2 energy criterion that governs Hydro’'s system 2 A Yes
3 expansion planning modelsindicates on this 3 Q. Okay. Sothat oneof thethingswhenyou're
4 that in 2009 there will be an energy shortage 4 looking at load management and how that
5 requiring an either plant or capacity addition 5 impacts system expansion is you need to model
6 for 2009, 2010. Isthat how you understand 6 what will happen to the type of plant
7 it, first of al? 7 expansion that will be needed at that point in
8 A Yes 8 the future? Agree with that?
9 Q. Okay. And capacity will not be required until 9 A Yes
10 20117 10 Q.Okay. Andwe've heard in evidence that
11 A Yes 11 currently within the next year or so there’s
12 Q. Okay. Now, when the next plant in added, you 12 25 megawatts of awind project contemplated
13 will agreewith me that it will add, by 13 for the Burin Peninsula?
14 definition, both capacity and energy? 14 A Yes
15 A.Yes 15 Q. Wereyou aware of that?
16 Q. Okay. Infact, if we go to NP-154, the answer 16 A.Yes
17 at the bottom says, "Since the next plant 17 Q. And that that will add both capacity and
18 addition is required to meet both demand and 18 energy?
19 energy requirements, a reduction in peak only 19 A.If you say that it will. 1I’'m not familiar to
20 with no associated energy reduction will not 20 the extent to which it will add capacity.
21 defer the next plant addition, although it may 21 Q. Wadll, Mr. Haynesindicated it would add 25
22 have animpact on which options would be 22 megawatts of capacity and would add
23 considered least cost at that time and 23 corresponding amount of energy.
24 beyond.” 24 A.No. On peak, at thetime of the coincident
25  A.Yes. 25 peak?
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1 KELLY,Q.C: 1 apoint if heisgoing to do that, he should
2 Q Wwdl- 2 be taking the witness to the actual reference
3 MR. YOUNG: 3 so that we can see, in fact, whether the
4 Q. Canwe seethe reference to the transcript? 4 representation is correct. And this isone
5 KELLY, Q.C.: 5 where | believe he should do that.
6 Q. I'll take--we€'ll leaveit at - 6 KELLY, Q.C.:
7 A. Atjust capacity, okay. 7 Q. I'll havealook for that -
8 Q. Itwill add something? 1 don’t want to debate 8 CHAIRMAN:
9 with you whether it's 25 or whatever. Seeto 9 Q. Mr.Kdly,if you'regoing to pursue that, |
10 satisfy Mr. Young whether we can find the 10 agree with Ms. Greene on that.
1 reference for you. 11 KELLY, Q.C.:
12 GREENE. Q.C.: 12 Q. It'snot important, but | will look for the
13 Q. Therewasno evidence given with respect to 13 reference at the break, Chair. Mr. Greneman,
14 the wind on the LOLH calculations. 14 the next addition will add some degree of
15 KELLY, Q.C.. 15 capacity, some degree of energy, agreed?
16 Q.| agreewiththat. But that wasn't - 16 A.Yes
17 GREENE. Q.C.: 17 Q. Okay. And infact, there'sdiscussion of
18 Q. Waell, you're going towith thenext plant 18 adding Island Pond. And Island Pond was
19 addition, Mr. Kelly. 19 proposed to be a 36 megawatt project. Are you
20 KELLY, Q.C: 20 familiar with that at all?
21  Q.Okay. Let'sjust leaveit onthebasis, Mr. 21 A.I'veheard the name.
22 Greneman, that - 22 Q.Okay. And that would add, as we understand
23 GREENE. Q.C. 23 it, being a hydraulic project, 36 megawatts of
24 Q. And we haven't objected to date with Mr. Kelly 24 capacity and some degree of energy, correct?
25 summarizing evidence, but redlly, there comes 25 A.Yes
Page 167 Page 168
1 Q. Okay. Sothat if wego back to table 8, if 1 (2:15p.m.)
2 you add both capacity and energy, the point at 2 A Wdl, that's,in my view, a technicality.
3 which the energy balance and the LoLH balance 3 It's followed rapidly, within a year or two,
4 move will be presumably some point further out 4 by capacity. And my understanding isthat in
5 into the future. Would you agree with that? 5 the yearsto come Hydro’s system will become
6 A.Yes 6 actually more capacity constrained rather than
7 Q. Okay. Sothat in determining the value today, 7 energy constrained.
8 the net present value of load management 8 Q. If wecould conserve enough energy, would we
9 today, the question is, what isthe value of 9 not defer the plant expansion from 2009 or
10 that future generation at an unknown but a 10 2010 on the table 8, to 20117
11 significant point in the future, discounted to 11 A.If | understand what you’ re getting at is that
12 today’ s date, isthat not the type of anaysis 12 Hydro's system is a combination of energy and
13 you'd have to go through to determine its cost 13 capacity constrained, what | would like to
14 effectiveness? 14 point out is that thisis indeed recognized in
15  A. Generdly, yes. 15 Hydro's Cost of Service where were apportion
16 Q. Okay. And meanwhile, would you agree with me 16 the hydraulic facilities based on load factor
17 that the more current effect, more current 17 and we apportion Holyrood based upon capacity
18 issue right now is the total energy 18 factor. So this indeed recognizes that
19 consumption because that is what drives 19 there’'sadua demanded energy relationship.
20 currently the next generation addition? 20 And what is being proposed in the $84 is not
21  A.But it's followed shortly thereafter by 21 the entirety, is not the entirety of capacity
22 capacity, the need for capacity. 22 cost, but rather it’ s the demand portion. And
23 Q. Butenergy - 23 it's my view that to the extent you point out,
24 A.Might - 24 rightly so, that there perhapsis an energy
25 Q. Energy isthe one that gets met first? 25 portion that is already in the energy portion
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1 MR. GRENEMAN: 1 Power’s customer base, what it looks like,
2 of the rate. It's been apportioned in the 2 what it's made up of ?
3 Cost of Service. 3 A.ltwould only beby recal of when you did
4 KELLY,Q.C: 4 your GRA. | can't recall offhand.
5 Q. Sowe should ensure, should we not, that the 5 Q.Okay. Solet me, let metake youto Mr.
6 energy portion of rates are efficient in terms 6 Perry’s evidence and Mr. Henderson’ s evidence.
7 of the signalsthat they send because of the 7 And the place | want to take you to is to page
8 fact the next--the first constraint right now 8 4, table 1. While Mr. O'Relilly isfinding
9 is energy, not capacity. Would you agree with 9 that, aswe looked at your exhibit RDG- 2
10 that? 10 you'll remember this passage that you had
11 A. They are so close together they are tantamount 11 written which was on page 3, "Through a demand
12 to being the same, almost. | mean, they are 12 rate Newfoundland Power can provide incentives
13 within ayear or two of each other. 13 to its customers to reduce peak through rates
14 Q. But you're not suggesting that we should 14 or other cost effective means." Now, | want
15 ignore energy pricing efficiency at the 15 to talk about this rate issue as we go through
16 expense of demand pricing efficiency, are you? 16 this next discussion. Therewe go. Now, in
17 A. Or the other way around. 17 table 1 you can see abreakdown by customer
18 Q. Okay. Let’sgo next then--have you looked at 18 number, to start off with, what our customers
19 NP's, Newfoundland Power’s, the structure of 19 structure looks like. Andyou'll see 86. 3
20 its customer base at all? Mr. Greneman? 20 percent of them are in domestic and 5.3 arein
21 A.I’'msorry, where were you? 21 general service?
22 Q. Haveyou - 22 A.Um-hm. Yes.
23 A.Oh, I’'msorry, | thought you were pointing me 23 Q. Now, none of those have demand charges,
24 here. 24 correct, or would you know that?
25 Q.No, no. Have youlooked at Newfoundland 25 A.Thezerototenisnot a-
Page 171 Page 172
1 Q.Zerototen. 1 will beinfluenced at theend use customers
2 A.lsnodemand meter? 2 arethe 4.1 percent of our customers that fall
3 Q. Nodemand meter. 3 in classes 2.2 to 2.4?
4 A Okay. 4 A.Indl fairness, | think the point is better
5 Q. Areyou aware of that? 5 represented by the percent of energy
6 A.l would have assumed it because it's a common 6 distribution rather than demand.
7 type of structure and I’ ve seen it before. 7 Q. AndI’'m going to come to that.
8 Q. Okay. And so, | takeit you would agree with 8 A. Okay.
9 methat itisnot cost effective to demand 9 Q. Sothat welook at the number of customers
10 meter the domestic classes and the general 10 first. Let'sgo next then to table 2, which
11 service zero to ten class? 11 isthe energy sales by customer class.
12 A.Yes, | would agree with that. 12 A. Right.
13 Q. Okay. So the onesthat would have ademand 13 Q. So we have roughly 60 percent, 59.2 in
14 rate are the 2.2, 2.3 and 2.4 classes, 14 domesticand in 2.1 we havetwo percent, so
15 correct? 15 about 61 percent in total ?
16  A. Right. 16 A. That'sright.
17 Q. Because street and area lighting wouldn't be a 17 Q. Okay. Andif we goto table4, the total
18 demand issue either, would it? 18 across the entire group of Newfoundland
19 A.l would consider those to be effectively 19 Power’ s customers have 77 percent comes from
20 demanded metered. There’ s no--even though 20 energy chargesand 9.1 percent comes from
21 they’'re not metered, they are--they can't 21 demand charges?
22 react. 22 A.| have acomment on that table.
23 Q. They can't react? 23 Q. By adl means.
24 A. Sotheir rate structure is proper. 24 A.If thisisto imply that the 9.1 percent that
25 Q. Sothe onesthat will have ademand rate that 25 comes from demand chargesis the extent of
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Page 173 Page 174
1 MR. GRENEMAN: 1 2210247
2 what’s demand metered, | would like to point 2 A.Yes.
3 out that corresponding with that 9.1 percent 3 Q. Now haveyou looked at that typeof rate
4 is the energy piece for those customers which 4 structure to determine whether it is the
5 currently appears to bein the77.1 andto 5 demand charges that we have inthose rate
6 illustrate the point to the Board and to 6 classes are appropriate?
7 myself, | believe that that should be restated 7  A.l remember reviewing it at thetime of your
8 in the demand charge line because it’s been 8 GRA.
9 separated at that point and it's rightly 9 Q. Andwhat conclusion did you come to?
10 demand, as opposed to giving the illusion that 10 A.Theonly persona conclusion | came to was the
11 the 77 percent cannot be dealt with. Part of 11 relationship of the demand--the demand seemed
12 that has been split aready. 12 to be declining in magnitude as the classes
13 KELLY, Q.C.. 13 got larger and larger, but that’'s a detail.
14 Q.Okay. Let'sjustfollow that along. What 14 That’s not relevant to any of this.
15 you're saying thereisthat theresidential 15 Q. Okay.
16 classis getting itsdemand chargein the 16 A.Butl did notice--1 did see demand charges,
17 energy rate that goes to it, correct? 17 yes.
18  A. That’scorrect. 18 Q. So did you give Hydro any advice or
19 Q. So that--and it is not possible cost 19 recommendation that there were any problems
20 effectively to givethem aseparate demand 20 with the rate structure in those classes?
21 meter. So they will alwaysbe on an energy 21 A. Not specificaly.
22 only rate? 22 Q.Nowin order tohave thosedemand charges
23 A. That'scorrect. 23 there, Newfoundland Power didn’t need, because
24 Q. Right. So that the onesthat will be onthe 24 wedon’'t have, ademand energy rate at the
25 demand rate will continueto be the classes 25 wholesale level to put those in place, did we?
Page 175 Page 176
1 A.No, youdid not. Part of the desirability of 1 A. Lessthan 100.
2 having a demand charge in alarger general 2 Q. Andif you go down to the note at the bottom,
3 service rate is to distinguish customers 3 beginning at line 21, it explains that
4 within the classand to minimize interclass 4 "Newfoundland Power’s 2003 GRA evidence was
5 subsidies. 5 presented which indicated that Newfoundland
6 Q.But itwasn't necessary for us to have a 6 Power’ s retail tail-block rates for 2, 3 and 4
7 wholesale demand rate in order to look through 7 were below short-run marginal costs. Having
8 tothe entire system costs and pass aong 8 rates set for theserate classesthat better
9 appropriate demand costs to our customers? 9 reflect short-run marginal costs was
10 A. |l would agree with that. 10 recommended. Due to other considerations,
11 Q. Okay. Now can | take you next to CA-236? Now 11 such as the need to minimize customer impacts
12 thiswasa question which was posed. If we 12 and the final order to decrease overall rates,
13 can scroll it up alittle bit more so we can 13 Newfoundland Power was unable to increase its
14 get the bottom notes, Mr. O'Rellly, if we 14 tail-block rates." So one of the things that
15 could? Just acouple of more, canwe go a 15 concerns usis, in fact, whether the energy
16 little further? Okay. Now we' ve got the--now 16 component should be priced higher for economic
17 in thistable, there are the retail tail-block 17 efficiency signalsto our customers. Do you
18 rates for various classes and the tail-block 18 agree with that?
19 rate as apercentage of what was short-run 19  A. I understand the logic of it, yes.
20 marginal cost. Andyou'll seein the blocks 20 Q. Yes. Now if you shift moreinto energy, you
21 22,23 and 2.4, our ratesare currently 21 either haveto takeit out of demand or take
22 actually below marginal cost of energy. See 22 it out of earlier tail blocks, do you not?
23 that? 23 A.Yes
24 A.Yes, it saysshown in the last column. 24 Q. Okay. Becausethose are the only two places
25 Q. Right. 25 it can come from?
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1 MR. GRENEMAN: 1 when he said the question has been asked and
2 A Right. 2 answered three or four times. It’ s been asked
3 KELLY, Q.C: 3 and answered several times that Mr. Greneman
4 Q.Okay. Now what, if any, specific changes do 4 has not studied the Newfoundland Power end-use
5 you see making to Newfoundland Power’srate 5 ratesand | really don't see thepoint in
6 structure, if any? Not necessarily on this, 6 pursuing this further.
7 but on any of our rate structures. 7 KELLY, Q.C::
8 A.lcan't- 8 Q. Wadl, | want to explore the seasonal rate with
9 MR. YOUNG: 9 you, Mr. Greneman, because | asked you earlier
10 Q. Mr. Chair,if | can interject forjust a 10 about whether you thought that should be
11 moment. This very similar question to this 11 reflected in the retail rate.
12 one, and perhaps the very same question has 12 GREENE, Q.C.:
13 been asked three or four times before, and | 13 Q.| would like the Board to rule on my
14 think in each case, Mr. Greneman indicated he 14 objection, before Mr. Kelly continues with the
15 wasn't able to answer it. | just don’t know 15 question of the seasonal rate for Newfoundland
16 if there's a point of belabouring this 16 Power end users.
17 particular line of questioning any further. 17 CHAIRMAN:
18 KELLY, Q.C.. 18 Q. Doyou have any response to -
19 Q. Wdll - 19 KELLY, Q.C.:
20 GREENE, Q.C.: 20 Q. Chair, | thinkit isvitaly important for
21 Q.Andto clarify, Hydro’'s position has aways 21 this Board to understand the implications of
22 been that we are not suggesting rate design 22 what is being suggested with this demand
23 changesfor the Newfoundland Power end-use 23 energy rate and the implications for the
24 customers. That isan issue for Newfoundland 24 system overall and for customers in
25 Power to address. | think Mr. Y oung was kind 25 particular. One of the questions that flows
Page 179 Page 180
1 out of that isif in fact we are to attempt to 1 has Hydro made any recommendations with
2 reflect seasonal rates or aseasonal rate 2 respect to them.
3 structure into retail rates, whichis, as Mr. 3 CHAIRMAN:
4 Greneman said, that’ s what one would expect to 4  Q.-1think | haveto agree with Ms. Greene, Mr.
5 do, then surely the Board needsto havean 5 Kelly. | have heard that question a number of
6 understanding of the potential type of impact 6 timesand | have heard Mr. Greneman say that
7 of that, whether it's been looked at and to 7 he hasn't studied theissue, and certainly,
8 what extent. | think it's quite an 8 it's--I don’'t know what progress we' re making
9 appropriate - 9 in that area, to be honest with you.
10 GREENE, Q.C.: 10 KELLY, Q.C.
11 Q. And perhaps Newfoundland Power are thebest |11 Q. Thank you, Chair. If that’s your ruling, I'll
12 peopleto advisethe Board as to what the 12 move on. Can | take you to NP-167, Mr.
13 impact of their own rate classes and 13 Greneman?
14 structures would beon their own end-use 14 A.Yes
15 customers. They have Mr. Brockman and Mr. 15 Q. And the question dealsthen with bsm and how
16 Henderson who are both testifying who are very 16 DsM should be evaluated. Do you agree that
17 familiar with their rate structures and who 17 DsM should be evaluated on amarginal cost
18 should bein a position to advise the Board as 18 basis?
19 to what the implications are if ademand rate 19 A.Yes
20 isimplemented. 20 Q. Andcan| takeyouto NP-162? And Hydro has
21 CHAIRMAN: 21 indicated at line 5 that it has not undertaken
22 Q.| think - 22 any studies to demonstrate the extent to which
23 GREENE, Q.C. 23 implementing a demand and energy rate will
24 Q. Stone and Webster have not studied the issue 24 increase system load factor or defer new
25 of the Newfoundland Power end-use rate, nor 25 capacity. Have you done any such studies?
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1 MR. GRENEMAN: 1 the evidence of Mr. Haynesindicates that
2 A.No. 2 deficitsin capacity are not forecast until
3 KELLY, QC: 3 2011.
4 Q. Okay. Now therest of the answer goeson to 4 A Yes
5 suggest that in theory that should be the 5 Q. Andit'sonthat basisthat Hydro has decided
6 case? 6 not to renew the Interruptible B contract?
7  A.Right. That'snot the only support for demand 7 A Yes
8 energy rate though. 8 Q. Soitappears to be because of the capacity
9 Q. .No, but in theory, that's what you're 9 not being needed, agreed?
10 suggesting in this answer or Hydro is? 10 A.Yes
11 A. Thetheory isthat consumers respond to price 11 (2:33 p.m.)
12 signals or tend to respond to price signals. 12 Q. Okay. Now let me take you then, with that as
13 Q. Now can | take you next then to NP-136? And 13 the background to NP-140. If you could scroll
14 these are the--this is the information 14 up thetable, Mr. O'Reilly, please. Now in
15 provided by Hydro with respect to the 15 the table, that 46 megawatts, if it were put
16 Interruptible B at Stephenville, and | wanted 16 back into the system, still leadsto an LOLH
17 you to be able to see theterms of it. 17 criteriaviolation in 2011, the same date that
18 $28.00, 25 occasions per year for 46 18 Mr. Haynes had in his table before?
19 megawatts. 19 A.Yes
20 A.Yes. 20 Q. So that 46 megawatts did not defer any
21 Q. Andif | takeyou to 1C-194, the answer down 21 capacity, did it, and that -
22 at line 12--or sorry, if | back up alittle 22 A.Not ona quantum, by quantum | mean by year
23 bit, an assessment of the capability of the 23 basis.
24 Island Interconnected System to meet future 24 Q. Right.
25 load requirements is summarized on Table 8 in 25  A. It appeared not to.
Page 183 Page 184
1 Q. Sowhen we looked at the example of theradio 1 A Yes
2 control turning off the hot water tank, would 2 Q. Okay. Now inyour report, you indicated that
3 not that lead to the same conclusion? In 3 the revenue volatility to Newfoundland Power
4 other words, we canturn it off when Hydro 4 isafactor that you thought wasimportant,
5 calson it, so it'saninterruptible type 5 but if we go to NP-127, you haven't evaluated
6 load. That initself would not defer capacity 6 that risk at al, have you?
7 either, would it? 7  A. Not qudlitatively, no.
8 A.lItseemslikeit could defer the capacity. 8 Q. Not-
9 Q. Buttheonly model analysisthat has been run 9 A. Not quantitatively rather.
10 so far, which isthe Interruptible B, would 10 Q. All right. Would you agree that that needs to
11 show that it does not defer capacity at 11 be done, needs to be looked at?
12 current time. Do you not--would you not think 12 A. Not necessarily before implementation of a
13 that further analysis would need to be done as 13 demand energy rate. Once again, the support
14 to whether other such programswould, in fact, 14 for demand energy rate--all thisrateis doing
15 defer capacity? 15 issuggesting a way to reflect itsinternal
16  A. | would assume so. 16 cost structureto the customers. Now if
17 Q. Okay. Now | want to explore alittle bit with 17 there svolatility associated with that, that
18 you thevolatility issue. Now currently, 18 goes hand in hand with the demand portion of
19 Hydro has no revenue volatility issue under 19 the demand and energy rate. |1 don’t think
20 the demand energy rate--sorry, under the 20 Hydro is requiredto do any quantitative
21 energy only rate because of the way it's 21 analysis beyond its responsibility, in my
22 protected through the RsP load functions? 22 view, to pass on its cost structure.
23 A.Yes 23 Q. Butisit not afactor that the Board needs to
24 Q. Soit fully recoversits cost of service with 24 consider looking at the Bonbright principles
25 No risk? 25 that we talked about earlier of what would be
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Page 185

1 KELLY, QC.:

© 00 N O o~ WODN

the volatility issues both in revenueto the
utility and in termsof rate stability to
customers?

A. Those are two principles stated in Bonbright.
Inthe case of NP, I think thereare two
overriding principles which are stronger than
that, and whilewe'reon the subject, if |
might go back to one point. | had brought up

© 00 N o ok~ WODN P

Page 186
and changing supply and demand conditions. |
think, in my view, that is most--and | think
asrepresented in the industry, that is most
appropriately done through a demand and energy
rate. | don’tthink it--I don’t see how it
could possibly be done through an energy only
rate.

. Anything else you want to say on that point?
. Pardon?

>0 >0

10 earlier two pointson two of Bonbright’s 10 . Isthere anything else?
11 points. One was static efficiency and one was 11 . Basically, that’ s the point on that. And the
12 dynamic efficiency, and | think you had said 12 other one, if | can just turn to that -
13 well, thisisbasicaly Mr. Brockman's--this 13 Q. What'sthe static efficiency point?
14 point and basicaly Mr. Brockman is that 14  A.Bonbright has, in this point of static
15 point. And on reflection, | would disagree 15 efficiency, the control of therelative uses
16 with that, and | just wanted to bring that up 16 of alternative types of service by rate payers
17 within this context. 17 on peak versus off peak serviceor higher
18 Q. Waell, | don’'t want to leave that simply left 18 quality versuslower quality, and| don't
19 onthat basis. What are static and dynamic 19 think that could be effectively accomplished
20 efficiency issues that you think are different 20 through an energy only rate. So to the extent
21 then from Bonbright? 21 that you had said well, thisis basicaly Mr.
22 A. Not from Bonbright, from Mr. Brockman. 22 Brockman’s, | can't remember which of the
23 Q. Butjust explain your position then. 23 points and which of the other points. | would
24 A.OkKay, if | might. The dynamic aspect isthe 24 say that Mr. Brockman'sisavery limited case
25 ability of therateto respond to innovation 25 of this more general characterization.
Page 187 Page 188
1 Q. Okay. Canl take you to PUB-151? Now in PUB- 1 earlier, there's no actual upper limit.
2 151 atline 8, beginning atline 7, the 2 There' s no cap at the top, isthere?
3 difference between Hydro's forecast for NP 3 A.See | don't--I'm not sure that there actually
4 native peak and the weather adjusted actua 4 needs to be a cap at the top for a couple of
5 has been within the range of plus or minus 5 reasons. Therea causeof any volatility
6 five percent? 6 would be weather and once one normalizes for
7 A.Yes 7 weather--if | could even frame it more
8 Q. So after adjusting for weather, the volatility 8 generally. Maybeit's not theload that's
9 of peak or the range of peak is plus or minus 9 volatile. Maybe it's the estimate that’s
10 five percent? 10 volatile. 1t'sacomparison with respect to
11 A.Yes. If | might say, my understanding is that 11 the forecast. Either one could be wrong.
12 based upon recent history, the actual number 12 Q. But the plus or minus five percent or plus or
13 has been something more like 3.6 percent. 13 minus 3.6, whichever you want, is after
14 Five percent is just amore rounded number. 14 weather normalization, isit not?
15 Q. Okay. ThiswasHydro’'sresponse. 15 A. Right. But part of that volatility depends
16 A.ltwas Hydro's response, but my let's say 16 upon your ahility to forecast, as opposed to
17 internal understanding is that it's really 17 the weather, adjusted weather.
18 been 3.6 percent. 18 Q. I’'mnot sure I’ m taking your point.
19 Q. Okay. Now let'sjust go on with the answer 19  A. There sdifferent factors that enter into that
20 here. The billing determinants under the 20 five percent and you' re comparing it with the
21 demand energy rate, when you come down a 21 forecast.
22 little bit further, line 12, the lower limit 22 Q. Yes. I'mnot getting your point.
23 is set by the minimum bill provision whichis 23 A.In other words, the adjusted demand--the
24 98 percent of 1054 or 1033. The upper limit 24 demand adjusted for weather could be exact and
25 is 105 percent. But aswe talked about 25 your forecast could be five percent
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1 MR. GRENEMAN: 1 A Right.
2 difference. 2 Q. Okay.
3 KELLY, Q.C. 3 A. Andunder the present energy only rate, you
4 Q.Okay. But you had no indication that 4 would be paying that right now.
5 Newfoundland Power’s forecasts have been 5 Q. Now,justgoto-
6 anything other than the best that can be 6 A.Sothisgivesan opportunity for savings.
7 provided? 7 Q.-let'sgotopPuB-152. And that 21.1 percent
8 A.And| aso. correspondingly have no indication 8 would reduce Hydro' s earnings by 1.77 million?
9 that the weather, adjusted weather is anything 9 A Yes
10 other. This could be some combination of - 10 Q. Okay.
11 Q.| don't want to get into that debate with you. 11 A Yes
12 A. Okay. 12 Q. Now soif | follow the math correctly, Hydro
13 Q. Thevariation of billing determinants then, at 13 would lose 1.7 million for 21 megawatts of
14 line 16, isnegative 21.1. So the most that 14 capacity taken off the peak, correct?
15 Hydro will takeout intermsof megawatts, 15 A.Yes
16 because of the 98 percent factor, is 21.1 16 (2:45p.m.)
17 megawatts, line 16? 17 Q. Now on what basis would the Board approve that
18  A. Okay. 18 as cost effective when, in fact, Hydro has the
19 Q. Doyou seethat? 19 ability, for example, with Interruptible B to
20 A. Soisthat minus the two percent one? 20 pay $28.20 or 1.3 million for 46 megawatts and
21 Q. That, as | understand the mathematics, 21 to ratchet that down to 21.1 would be
22 reflects two percent on the load. 22 $595,000. In other words, if you want 21.1
23 A. Okay. 23 megawatts off between rate hearings, that’s
24 Q. Soif we save two percent, then that would be 24 therange that isgoing to be potentially
25 21.1 megawatts. 25 affected, why would the Board approve Hydro
Page 191 Page 192
1 losing 1.7 million of revenuewhenin fact 1 demand and energy rates to reconcile the those
2 that capacity reduction off peak can be 2 two things.
3 achieved at a price much less? 3 Q. Now, when you trandate the answer on the up
4 Al don't know about the capacity reduction 4 side here, the upper bound results and again
5 being achieved much less within the context of 5 of 4.952, if in fact, the demand goes over -
6 the demand and energy rates. It'sarisk that 6 A Yes
7 Hydro istaking to reduce system peak. 7 Q.- and correspondingly, Newfoundland Power
8 Q.Yes 8 would have to pay that 4.952 million, wouldn’t
9 A. Andtoimplement--1 mean, ademand energy rate | 9 they?
10 is, once again, aproper rate and thisisan 10 A.Yes
11 affect that goes part and parcel with that. 11 Q. Right. Andwhat mechanism would exist for
12 Q. Butunder theInterruptible B program, 1.3 12 Newfoundland Power to recover that from its
13 million costs, 1.3 million dollars takes off 13 customers, from your view?
14 peak 46 megawatts five times, 25 times a - 14  A.Okay. The nature of the 4.9 millionisaplus
15  A. Thisisrealy the same question as the $84.00 15 and minus deviation of--it'sa deviation of
16 versus the $28.00. 16 plus and minus 5 percent.
17 Q. Butmy questiontoyou isHydro herewould 17 Q. Yes
18 lose 1.7 of revenue which potentially then 18  A.And in my view, there's a probabilistic
19 impacts, 1.7 million that Hydro does not get. 19 expectation that in another year it could be
20 So, on what basis would Hydro pay 1.7 when, in 20 minus 4.9 million dollars. So, thereis some
21 fact, they could pay as little as 565,000? 21 plus and minus volatility. And there,
22 A.lthink they’'re two separate issuesand | 22 perhaps, are mechanismsthat NP can institute
23 don’'t think I need to reconcile them. 23 on its side to reduce the volatility with sort
24 Q. Okay. 24 of perhaps a banking mechanism to average the
25 A.l don't believeit'swithin the scope of the 25 up year and down years. But overall, | would
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1 MR. GRENEMAN: 1 capture load conservation and load growth.
2 expect that it would--the plus and minus 2 Q. So,one potential way of looking at it is
3 excursions would equal out. 3 somehow in Newfoundland Power’ sretain rate
4 KELLY, Q.C. 4 design, areserve account mechanism would have
5 Q.But- 5 to be created. That's one mechanism that
6 A. Go ahead. 6 could be used. That'syour -
7 Q. Sorry, | don't want to cut you off, but that 7 A.I’'mnot saying it would have to be created -
8 soundslike somekind of areserve account 8 Q. ltcouldbe.
9 creation. Isthat what you're proposing? 9 A -itcouldbe.
10 A.I’'mnot proposing it, it's apossibility. 10 Q. Okay. Now, another possibility isthat asthe
11 Q. Okay. 11 winter peak ismet in January or February or
12 A. | think they see Hydro has something similar. 12 March of theyear, that could be passed
13 Q. What would betheimpact then on the price 13 through on as an extra cost by coming back in
14 signal to go as customers who have demand 14 arate hearing. Isthat a possibility?
15 rates at the retail level, if you put that in 15  A. Say that again.
16 place? 16 Q. Inother words, if we get a peak in January of
17 A.If you wereto put that in place? 17 the year that drives up expenses five million
18 Q. Yes, you had this reserve account mechanism. 18 dollars, 4.95, then you could find yourself in
19  A. If NPhad this reserve account mechanism? 19 the situation where the utility hasto apply
20 Q. Yes. 20 for rate relief to pass that through to
21 A.What | think it would dois it wouldn’t 21 customers. It'sanother possibility, isit
22 stabilize it as the RSP stabilizes cost, but 22 not?
23 itwould deal with your definition of the 23 A.Why? Because it--why would that happen?
24 volatility, the plus and minus the five 24 Q. Because aswe looked at therate to our
25 percent. Butvery importantly, it would 25 customers who are primarily residential are on
Page 195 Page 196
1 an energy only basis. So, if peak demand 1 potentially are, if we want to get a handle on
2 rises and creates an additional cost of 4.9 2 future costs and the costs of deferral of new
3 million dollar, how does that get recovered by 3 capacity, we'd need to do amarginal, long run
4 the utility? 4 marginal cost study, if you wanted that
5 A.l wouldfind it unlikely that that small 5 information.
6 variation would cause you to go--I mean, it 6 A . Wdl, | don't think that's a necessary
7 would need to be recognized that it could be 7 consequence of ademand energy rate.
8 cancelled out the very next year. 8 Q. Butif youwant toknow the cost of deferral
9 Q. Theonly problem withthat, of course, is 9 of new capacity, would you agree with me that
10 under the current regulatory regime, we have a 10 that’s a piece of information, that’s the type
11 cap onearnings. And that comes to the 11 of study you would have to do.
12 discussion that you had with Mr. Browne about 12 A. |l think | have agreed with that.
13 changing the range that that would cover. Is 13 Q. Okay.
14 that something that you are proposing asan 14 A .But | don’t think that’'s a necessary
15 aternative as well? 15 consequence of implementing a demand and
16 A.I’mnot proposing it officialy, but it ismy 16 energy rate.
17 understanding that that range of earnings, if 17 Q. If you wanted to look at the impact on retail
18 you will, was negotiated within the context, 18 customers, you'd need todo aretal rate
19 was determined within the context of an energy 19 study. Do you agree with that?
20 only rate and arate stabilization provision. 20 A.Those are very broad terms.
21 Q. So, is that another matter that the Board 21 Q. If youwant tolook at -
22 would then have to look at? 22 A.What isaretail rate study?
23 A. My understanding is yes. 23 Q. If youwant to look at how retail rates at the
24  Q.Okay. So, can | suggest to you that some of 24 end user, in other words, those who will
25 the itemswhich would need to belook at 25 actually use electricity, if that isto be
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1 KELLY, QC.:

© 00 N O o~ WODN

restructured, you'd have a retail rate study
to look at that issue.
A. Okay. Inageneral concept | would say, yes.
Q. Now, you referred earlier to Mr. Brockman's
testimony and you suggested that his reference
to a retail rate study were simply a load
research project. Can | suggest to you, sir,
that thereis currently under way, by virtue

© 00 N o ok~ WODN P

Page 198
study should also incorporate load research
information which is currently being gathered
by way of Newfoundland Power’s load research
study". So, it contemplates aretail rate
design study which includes the load research
data.

A. Okay.
Q. Correct?
A.Yes.

10 of the Board'sruling in our last hearing, a 10 Q. Okay. Thevolatility issue would be another
11 load research project. 11 point that would need to be looked at, do you
12 A. See, | did not know that. When | read, al | 12 agree with that one?
13 had was the Supplemental Evidence. 13 A. Inthe context of retail rate study?
14 Q.| appreciate you may not have known - 14 Q. Andintermsof, yes, and in terms of a demand
15 A. And when | had seen retail rate study, the way 15 energy rate structure.
16 it was phrased, he was referring to the 16 A. Thevolatility would need to belooked at by
17 marginal cost and the retail rate study. And 17 whom?
18 | scratched my head and | said, what retail 18 Q. Asone of the things that still would need to
19 and | looked up ahead and it says load 19 be looked by the Board before determining how
20 research study. 20 to proceed.
21 Q. Thelanguage--and | can find the passage for 21 A.If the Board wantsto look at that.
22 you, is at page 3, sorry, in the Supplemental, 22 Q.Okay. You talked about the joint committee
23 if you go to page 1, there you go, and if you 23 which islooking at the weather normalization.
24 goto lines11through 13. "Aspartof a 24 A.Yes.
25 comprehensive plan, the retail rate design 25 Q. That'san item still to be done?
Page 199 Page 200
1 A Yes 1 Q. Intermsof fairnessis allocating the Cost of
2 Q. Okay. Can | takeyou back tothelast point 2 Service, Hydro's Cost of Service between
3 and I'll close with these, if wego back to 3 Newfoundland Power and the Industrial
4 Mr. Brockman’s points, principle again. The 4 Customers, both rates allocate the Cost of
5 first one was being effective in collecting 5 Service, do they not, fairly, those
6 the revenue requirement for Hydro. Under the 6 structures? Ours issimply rolled into one
7 current energy only rate, Hydro collectsall 7 rate -
8 of its cost of service revenue, correct? 8 A.Didyousay bothratesallocate the Cost of
9 Whereas under the demand energy rate, Hydro 9 Service?
10 has 1.7 million in the proposal at risk? 10 Q. Inother words, boththe energy only rate
11 A. That’scorrect. 11 structure and the demand energy rate -
12 Q. So,in termsof collecting the revenue for 12 A. Ratesdon’t dlocate Cost of Service. Rates
13 Hydro, the energy only rate is more effective? 13 collect cost.
14 A. It smore effective in collecting the--can you 14 Q. Right. Thedivisionthat comesout of the
15 repeat that? Interms of - 15 current division will bethe same, would it
16  Q.In terms of Hydro collecting its revenue 16 not?
17 requirement from the Cost of Service study, 17 A.Thedivision that comes out of the current
18 the energy only rateis more effective in 18 division--I"'m sorry, I'm -
19 achieving that objective. 19 Q. Thedivision between Newfoundland Power and
20 A.In terms of its collecting it revenue 20 the Industrial Customers of the Cost of
21 requirement at the time that the rates were 21 Service is the same under the energy only rate
22 set, okay, it's more effective, but in 22 and demand energy rate.
23 following the way the cost and things evolve, 23 A.Yes.
24 ademand energy rate may actualy be more 24 Q.Okay. Interms of encouraging efficiency,
25 effective. 25 that’ s the one that we seem to have the most
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1 KELLY, Q.C: 1 result, that’sthe virtue. That's not a

2 disagreement on, would you agree with that? 2 virtuous measurement right now, in my view.

3 A.Thereare different aspectsof efficiency, 3 Q. Okay. So,dol takethe answer--you don’'t

4 yes. 4 agree then it’ s necessarily a good thing, but

5 Q.Okay. Intermsof stability, will you agree 5 doyou acknowledgethat thereismore rate

6 with me that in terms of the result to the end 6 instability for customers?

7 customer, that the energy only rate ismore 7 A.And thatis what is intended by a demand

8 stable for customers? 8 energy rate.

9 A. Everything else being equal, no, | would not. 9 Q. Okay. And the latter two, predictability and
10 Q. Thentell me- 10 understandability, | don’'t think we need to
11  A. Wediscussed thisbefore. The energy only-- 11 spend any time on.

12 both rates, can we take away for purposes of 12 A.Well, the other qualification--you say that
13 this conversation the effect of the RsP or do 13 you' re putting them on equal footing and some
14 you want to talk in the context of the RspP? 14 of these are things that are more important to
15 Q. You can addressit either way. 15 domestic customers and some are more important
16 A.Okay. And energy only rate can be as unstable 16 to customers, more sophisticated customers
17 as ademand rate. It depends upon temperature 17 such as NP.
18 variations within the month, it depends upon 18 Q. Yes. Which, out of all of them, would you
19 many--economic conditions. 19 think is the most important?
20 Q. But within the mechanisms that exist in 20 A.lwould think static and dynamic efficiency
21 Newfoundland and will continue to exist, the 21 are two very important ones.
22 energy only rate would create more stability 22 Q. Theefficiency issues.
23 for customers, doesit not? 23 A. Static and dynamic as it--right.
24 A.Butthatisnot avirtueinthiscase. The 24 Q. Wehave different views on that, but we agree
25 virtue is putting dollars at risk to achieve a 25 that that’ stheright issue. Thank you, Mr.
Page 203 Page 204

1 Greneman, those are my questions. 1 closed. But--and that all other things being

2 A Okay. 2 equal, and that’s to say leaving out a Rate

3 CHAIRMAN: 3 Stabilization Plan, there's no great

4 Q. Thank you, Mr. Kelly. Thank you, Mr. 4 difference in rate volatility as between

5 Greneman. We'll break now for 15 minutes. 5 energy only rate and a demand energy rate. Is

6 (BREAK - 3:00 P.M.) 6 that fair?

7 (RECONVENED AT 3:22P.M.) 7 A.Under an energy only rate there can be

8 CHAIRMAN: 8 volatility and under a demand energy rate

9 Q. Thank you. Good afternoon, Mr. Hutchings. 9 there can be volatility, and it's hard to say
10 When you' re ready, please? 10 which is greater at the moment.

11 HUTCHINGS, Q.C.: 11 Q. Okay. Andthereason why thisis anissue
12 Q. Thank you, Mr. Chair. Good afternoon, Mr. 12 here seems to be that thereisin place here a
13 Greneman. 13 Rate Stabilization Plan that protects Hydro
14 A. Good afternoon. 14 against load variation?

15 Q We'll start by admitting that there's an 15  A. That'sexactly right.

16 element of cruelty in dealing with Cost of 16 Q. Okay. And is that something you've seen
17 Service after 3:00 on Friday afternoon, but 17 anywhere else?

18 we'll moveon fromthere. | just wanted to 18  A. Notinthe electric industry.

19 touch very briefly on your discussionswith 19 Q. Oh, okay. | want to look now at an allocation
20 Mr. Kelly relative to the Demand Energy Rate. 20 issue, first of all. We haven't seen much of

21 And fromwhat you've said | understand that 21 the Cost of Service Study since you took the
22 thiswould be typically the type of rate that 22 stand. But if we could put up, first of all,

23 autility like Newfoundland Power would seein 23 Mr. Haynes evidence at page 44? Okay. Y eah,
24 practically every other jurisdiction unless 24 thisisthe part of Mr. Haynes' evidence where
25 you happen to be in the Yukon and your mineis |25 heis dealing with the guidelines for the
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1 HUTCHINGS, Q.C.: 1 accepted way of dealing with allocation to
2 assignment of plant. And at the top of page 2 assign it to two specific customers, yet not
3 44 he dealswith this NP-IC sub-transmission 3 to athird?
4 class. | takeit you'refamiliar with these 4 A. There--I"ve experienced many, many variations
5 various classes of assignment of plant for the 5 in the industry and I’ m not doubting that this
6 purpose of Cost of Service Study? 6 could be an acceptable method.
7 A. The sub-transmission function? 7 Q. Okay. If wecouldnow look at that inthe
8 Q.Yes 8 context of the issue we had about the
9 A.Yes | am. 9 transmission lineon the Burin Peninsula.
10 Q. Yes, okay. Asl understand it, there is 10 Would there be any objection in principal to a
11 actually nothing that falls within this 11 sub-transmission category to deal with
12 classification in the present Cost of Service 12 customers of Newfoundland Power and Hydro
13 Study, isthat correct? 13 Rura but not Industrial Customers?
14  A. Sub-transmission? 14 A.l would think that that could be of
15 Q. Thisparticular NP-IC sub-transmission. 15 acceptable--may | preface my response?
16  A. Oh, NP-IP--NP-IC sub-transmission. | would-- 16 Q. Byall means.
17 I'll accept that subject to. 17 A.Okay. I'dlikeif I could to respond from the
18 Q. Okay. That’s my understanding. If you have 18 point of my general industry experience with
19 any different information, you can certainly 19 recognition, as | had noted this morning, that
20 let usknow, but | don’t believe that there 20 the specific study in question that we're
21 was any plant that served by Newfoundland 21 looking at right now was performed by Hydro's
22 Power and an Industrial Customer but not Hydro |22 planning department and supported by Hydro's
23 Rural with an original capital cost of two 23 witnesses, Mr. Haynes. Andl'veread that
24 percent of the total transmission of terminal 24 study, but I'm not, if you will, prepared to
25 stations cost. But this isa valid and 25 comment on the appropriateness or
Page 207 Page 208
1 inappropriateness of any of Mr. Haynes 1 down inthe lower right-hand corner, page
2 recommendations, only to note that he has 2 numbers. It's Schedule 4.2, page 1 of 1.
3 followed what | believe to be relied upon what 3 There. Okay.
4 | believeto be general industry guidelines. 4 (3:30 p.m.)
5 And | would--in response to your question, | 5 I recognize the numbers don’t necessarily
6 would think that such a category could exist. 6 coincide and | want to get you to reconcile
7 Q. Okay. Thank you. | don’t think we needto 7 them for us. But, the coincident peak at
8 pursue that any further. There isasomewhat 8 generation here for the Island Interconnected
9 technical point, | guess, that | wastrying to 9 System is shown at 1.32915, 1,324,915
10 resolve with Mr. Haynes earlier on, and there 10 kilowatts?
11 are anumber of references to look at to 11  A.Yes
12 illustrate the initial point. If we could put 12 Q.ldon't think we need togo toit, but in
13 up Mr. Haynes Schedule 11 in therevision? 13 revision No. 1 of RDG-1 that number was
14 I’'mlooking here at the numbersfor total 14 1,324,720. So that the number being used for
15 salesand bulk deliveriesand noting that as 15 your coincident peak at generation from the
16 regards the demand from the August filing, the 16 October figuresis higher than the one which
17 megawatts decline from 1337.5 downto 1334.2 |17 was used in your initial or your first
18 in the October filing. 18 revision, which wasbased, | understand, on
19 A.Yes 19 the August figures, but the peak that Mr.
20 Q.Okay. What | want to do isto compare that to 20 Haynes' is using is moving in the opposite
21 your RDG-1in the last revision, specifically 21 direction?
22 page 105 of 107. It might help to make that a 22 A.Um-hm.
23 little bigger if we can, Mr. O'Reilly. Good. 23 Q. Twothingsif you could help uswith. First
24 Now, page 105 of 107 | waslooking for. | 24 of al, how does one movefrom Mr. Haynes
25 don’'t think that’sthe one. The numbers are 25 number to your number in the Cost of Service
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1 HUTCHINGS, Q.C.: 1 that | noted earlier, so--but we need to
2 Study, and secondly, why arethey movingin 2 understand the difference between the two
3 opposite directions? 3 numbers, | guess, in order to be ableto get
4 Al think that | could refer you to the rational 4 there. Okay. If we could look, Mr. Greneman,
5 for thefirst and I’ d have to come back to you 5 at page 17 of your evidence? And specifically
6 with the answer to the second. 6 under Section 2.2.3in, at lines 8to 10 you
7 Q. Okay. 7 refer to the proper recognition of
8 A.Therational for thefirst, we can prepare a 8 Newfoundland Power’s generation on both the
9 sheet for you, but effectively the 9 costing and rate side. And | believethat's
10 reconciliation of Mr. Haynes and what’s used 10 essentially the same phrase that you used
11 in the Cost of Service Study would need to be 11 earlier onin terms of responding to issues
12 based upon the Information Request, 1C-265, 12 about the Newfoundland Power generation
13 NLH asit would be updated. 13 credit. Thequestion waswhat recognition
14 Q. Yes. | triedto follow that through and as 14 should it get?
15 regards the coincident peak 265 refersusto 15 A.Yes
16 IC-77, which refers us to PUB-14, which refers 16 Q. Yes, okay. | suppose thefirst question for
17 usto PUB 3. And | got the first number in 17 you on thisissue and recognizing that the
18 the first one and the last number in the last 18 rate side of thisdoesn’t affect my clients,
19 one, but I'm not surel got theroad in 19 the Industrial Customers at all, we're purely
20 between. 20 dealing with it aswith the Cost of Service
21 A.Okay. If we can provide - 21 aspects of it. What benefit is the
22 Q.l mean, | don't - 22 Newfoundland Power thermal generation to the
23 A.Providethat to you afterwards? 23 Industrial Customers, what do we get out of
24 Q.Okay. That'sfine. Andit'smorerelated, | 24 that?
25 guess, to the different directions of movement 25 A.lt'smy view that NP's thermal generationin
Page 211 Page 212
1 some fashion benefits the entire system and 1 that fair?
2 Industrial. Towhat extent it’s representing 2 A.Wadl, to the extent that the Hydro can derive
3 in the Cost of Service Study to the alocation 3 abenefit from the generation. That isto
4 process, | guesswould ultimately beup to 4 say, the customer or Hydro can derive benefit
5 thisBoard to determine. Butit's my view 5 from the generation.
6 that thereis some potential benefit to all 6 Q. I’'mnot quite sure | understand your reference
7 customers from all generation. 7 to benefit to Hydro. If Hydro's costsare
8 Q. Yes okay. Accepting that premisefor the 8 being allocated among customers presumably any
9 moment that all generation is of some degree 9 cost that isallocated to aparticular class
10 of benefit to al customers, how does one 10 of customer must represent some benefit that
11 approach the question of assigning a 11 that customer isreceiving, shouldit not?
12 proportion of the cost related to that 12 Otherwise the cost would be specifically
13 generation to specific customers or a customer 13 assigned to someone else?
14 class? 14 A Right.
15  A.Ingenera or within the context of the way 15 Q. Yes. Sowhat doyou mean whenyou say that
16 it's being treated? 16 there’'s some benefit to Hydro which would
17 Q. Firstly, in genera and then specifically with 17 justify a -
18 respect to thisissue. 18 A . Wadl, what| wasreferring to wasto the
19 A.Therecan be variousways of handling it. 19 extent that Hydro can call on NP's thermal
20 There are three options that have been 20 generation.
21 presented and each has a dlight variation. 21 Q. And thetheory being that that’'s of benefit to
22 Q. But the notion being that there is ultimately 22 the Industrial Customers because it helps the
23 a fair alocation of the cost and some 23 system and we' re on the system?
24 connection to the benefit which a particular 24 A.That'sright.
25 customer derives from the specific asset. Is 25 Q. Yes, okay. Soit’snot abenefit to Hydro
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1 HUTCHINGS, Q.C.: 1 Demand.

2 that stops at Hydro? It’'s a benefit - 2 Q. And how does that work itself through the cost

3 A .Ohyes. 3 of service study?

4 Q.- it'ssomething that's available to Hydro and 4 A. With respect to the thermal or thermal and--

5 hence, a benefit to Hydro's customers 5 with respect to NP s thermal alone?

6 generally? 6 Q.NPsthermal alone.

7 A. Of course, right. 7  A.NPsthermal is subtracted in calculating the

8 Q. Yes, okay. All right. | wasn't sure whether 8 system load factor net of reserves. The

9 we were talking about two different things 9 system load factor isusedto classify what
10 there, but | think we're just talking about 10 portion of the system isgeneration that is
11 onething. Soin that context then, how do we 11 energy related versus demand related and the
12 move to start alocating a particular portion 12 demand related portion has-there is a
13 of the cost of that asset, those assets, those 13 coincident demand attributed to each class and
14 thermal generation assets of Newfoundland 14 in calculating that coincident demand, NP's
15 Power to a customer class like the Industrial 15 thermal is net of reservesis subtracted from-
16 Customers? 16 -I'm sorry, NPsthermal capacity net of
17  A.ltis subtracted from--in other words, how 17 reserveis subtracted from its forecast. This
18 does the flow through of cost effects cometo 18 is disregarding hydraulic for the moment.
19 Industrial ? 19 Q. Yes. |just wantto direct our attention
20 Q. Yes. How do we decide what proportion of the 20 toward the thermal issue at thistime. So if
21 total cost tothe system of that capacity, 21 the thermal generation of Newfoundland Power
22 what portion of that--how do we decide what 22 did not give rise to a generation credit then
23 portion of that gets assigned to the 23 there would bea higher number used for
24 Industrial Customers? 24 Newfoundland Power’ s capacity responsibility,
25 A.Ingenera, based upon Relative Coincident 25 correct?

Page 215 Page 216

1 A Yes 1 anoteto the effect that NPreceives anet

2 Q.Okay. Sofollowing that through the cost of 2 credit of $841,388. Do you agree that that’s

3 service study, | mean the costs of this 3 an accurate representation of what the credit

4 generation are still recovered by Hydro, 4 doesin that particular year?

5 correct? 5 A I'll accept that.

6 A.That'scorrect. 6 Q. Okay. And immediately to the left then, there

7 Q. And how does the cost of service study, after 7 is a representation of the cost to the

8 application of the generation credit, 8 Industrial Customerswith respect to that

9 distribute those costs? 9 generation and the number there, which is
10 A.The demand component of the costs are 10 again an annual number, $738,386. Do you
11 distributed based on relative coincident peak. 11 accept that that’s what the cost of service
12 Q. Okay. 12 study doesin respect of allocation of these
13 A. Relative contribution to coincident peak. 13 costs?
14 Q. Allright. Canl haveyou look for amoment 14 A.I'll accept that.
15 at the evidence of Mr. Osler and Mr. Bowmanat |15 Q. Okay. Now thefunction these unitsserveis
16 page 30? Have you had the opportunity to 16 to provide peaking capacity, correct?
17 review the information contained in this 17 A. Generally that’s my understanding.
18 table? 18 Q. Okay. There' s no--1 mean, on al the forecasts
19 A.Yes 19 and in the cost of service study, there’ sno
20 Q.Okay. And thisis with referenceto the 20 energy forecast to be produced by these units,
21 specific information which was available to 21 correct?
22 those gentlemen fromthe cost of service 22 A.I'll--subject to my understanding, yes.
23 studies and under the heading "costs to NP 23 Q. Yes, okay. Now thereare, of course, other
24 the fourth entry down, which deals with 24 sources of peaking capacity on Newfoundland
25 Newfoundland Power generation credit, thereis 25 Hydro's system, including their own gas
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1 HUTCHINGS, Q.C.: 1 A.I'mnot going to use the word "unfairness" but
2 turbines, correct? 2 there seems to be some sort of perhaps
3 A Yes 3 inequality.
4 Q. Okay. And again, going back to the table, the 4 Q. Would you agree that thisis not aresult that
5 top entry there refers to Hydro’ s gas turbines 5 would be consistent with the proper principles
6 and the provision of 128 kilowatts of peaking 6 of cost allocation to be applied in the public
7 capacity--128,000 kilowatts of peaking 7 utility setting?
8 capacity at a cost to the Industrial Customers 8 A. Atthismoment, | wouldn’t go so far asto say
9 of $280,613. You agree that that’'s the way 9 that. | would simply say it merits review.
10 that the cost of service assigns those costs? 10 Q. Okay. And areyoutelling usthat you have
11 A. That'smy understanding. I'll agreeto that. 11 not reviewed the issue?
12 Q. Okay. Now dir, if Hydro's gas turbines, which 12 A.l notethere might be an anomaly in this
13 I would suggest to you serve essentially the 13 respect and I’'m not 100 percent sure what the
14 same sort of function on the system as 14 remedy is.
15 Newfoundland Power’s gas turbines, are charged |15 (3:45 p.m.)
16 to the Industrial Customers for the benefit of 16 Q. Okay. Would you agree with me that at worst
17 128,000 kilowatts for $280,000, what isfair 17 the Industrial Customers should not be paying
18 about the Industrial Customers paying $738,000 18 any more per kilowatt for the benefit of the
19 for 45,500 kilowatts? 19 Newfoundland Power thermal generation than
20 A.l noted inMr. Oder's and Mr. Bowman's 20 they’'re paying per kilowatt for Hydro’s gas
21 testimony yesterday that the same point was 21 turbines?
22 being made and perhaps it needs some attention 22 A.Wadll, of courseit depends upon the relative
23 or some look at. 23 cost of the turbines, you know, when they were
24  Q.Would you agree with me that thereis an 24 installed and the relative age and so on, but
25 unfairness present on the face of this? 25 putting those factors aside and everything
Page 219 Page 220
1 else assumed to be equal, onewould expect 1 Q. Soshould the Board be satisfied that those
2 them to be relatively equal. 2 generating unitsare in fact primarily or
3 Q Andif infact Hydro’s gas turbines are larger 3 amost exclusively used for the purpose of
4 and more efficient and more modern, that would 4 supporting local loads at the end of radial
5 move further in that direction? 5 lines, would it not be proper, in fact, to be
6 A.It depends upon the relative age and 6 consistent and not assign any of that cost to
7 efficiency as you point out. 7 the Industrial Customers on the general grid?
8 Q. Yes. Andnoting aswell that gasturbines are 8 A.lthink that thisis stepping out of my area.
9 the primary peaking capacity? They're the 9 | think it relatesto the system planning
10 first units dispatched in apeak constrain 10 study that’s been done and I’d like to defer.
11 situation, a capacity constrained situation? 11 Q. Okay. All right. Inyour rate design study,
12 A Yes 12 | think some of what we have been discussing
13 Q. Would you agree that’s a factor that actually 13 isillustrated in your Appendix 3. Perhapswe
14 should tend to makethose unitseven more 14 could bring that up? Yes, thereweare. And
15 valuable? 15 your Option A, and thisof courseis inthe
16 A. |l would probably tend to agree. 16 context of ademand energy rate but that’s not
17 Q. Yes, okay. Now are you aware that certain of 17 particularly relevant for our present concern.
18 thisthermal capacity of Newfoundland Power is |18 Option A is essentially the current system for
19 infact located at the end of some longer 19 the generation credit. Isthat correct?
20 radial lines? | think we' ve discussed or | 20 A.Yes, that’scorrect.
21 don’'t know if you were here for the discussion 21  Q.Okay. Andwe see therethat the hydraulic
22 but the discussion took place about some of 22 credit is netted off at 79.3 megawatts and the
23 that being down on the Burin Peninsula at the 23 thermal creditis netted off at 45.5 for
24 end of along radial line down there. 24 costing purposes?
25  A.Yes. 25  A.Yes.
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1 HUTCHINGS, Q.C.: 1 Q. Okay. But the effect here isto give credit
2 Q. Okay. And that is, infact, the generation 2 to Newfoundland Power as if that thermal
3 credit that we're talking about? 3 production was running all the time, correct?
4  A. That'scorrect. 4 A.No,it's togiveeffect forits ability to
5 Q. Partof itis hydraulicand part of it is 5 run.
6 thermal ? 6 Q.Yes.
7 A.Yes 7 A. When called upon.
8 Q. Okay. And asyou understand it, Newfoundland 8 Q. Yes, but asregardsits capacity elements, |
9 Power actually usesits hydraulic production 9 mean, leaving out energy, because we know it
10 capability and produces energy with it, does 10 doesn’t produce any energy, but the effect is
11 it not? 11 the same asif thiswas running the whole
12 A.Yes, itdoes. 12 time?
13 Q. Soit'sfairtosay that the system actually 13 A.I'msorry, are you saying that the capacity
14 gets the benefit of that 79.3 megawatts? 14 arithmetic is the same asiif it was or was not
15  A. It getsthe benefit from NP's hydraulic. 15 running?
16 Q. Yes. It's actually used and produced and 16 Q. Exactly.
17 consumed somewhere in the system? 17  A.Yes.
18  A. Right. 18 Q. Okay. And equally under your Option B here,
19 Q.Yes, okay. How does that compareto the 19 it isthe thermal capacity that you're giving
20 thermal ? 20 the full credit for there?
21 A. Thermal can be used. 21  A. That's correct.
22 Q. For cost of service purposes, is any energy 22 Q. Okay. Now inthat scenario, | takeit you're
23 production assigned to that thermal 23 assuming that Hydro or Newfoundland Power runs
24 production, thermal capacity? 24 its own hydraulic and hence has reduced its
25  A.No, my understanding isit’ s not. 25 peak or itsdemand that it's putting on
Page 223 Page 224
1 Newfoundland Hydro? 1 dispatch of Newfoundland Power generation,
2 A.That'scorrect. 2 both hydraulic and thermal ?
3 Q. Okay. And your Option C ison the assumption 3 A.No, | don't.
4 that it'sin fact running all of its own 4 Q. Okay. | think you told Mr. Kelly that at peak
5 generation. Isthat correct? 5 Newfoundland Power will respond to arequest
6 A.It's running whatever it's running, yes. 6 from Newfoundland Hydro to put that generation
7 Whatever’' s running is running, which could be 7 on the system.
8 al or none. It's however. 8 A.Okay.
9 Q.Yes But if infact its nativeload is 9 Q. Thisiswhat you told him?
10 1161.5, in order to get down to the 1038.5 - 10 A. Okay.
11 A. Right. 11 Q. Andthat'syour understanding of the way it
12 Q.- it has torun al of its generation, 12 works?
13 correct? 13 A.Yes.
14  A.Yes, correct. 14 Q. Okay. And just so we'reclear, you don't know
15 Q. Including itsthermal generation? 15 whether or not, during the rest of the year,
16 A.Yes. 16 Hydro or Newfoundland Power dispatches its own
17 Q. Which wouldn’t be awise thing to do? 17 hydro generation, for instance at its own
18  A. Right. 18 whim?
19 Q. Right. Becauseit’ swasteful ? 19  A. | would assume that it does, but perhaps that
20 A.Yes 20 could be answered by someone else.
21 Q.Yes, okay. Mr.Kelly asked you aquestion 21 Q. Okay. That'sfine. Just one other incidental
22 earlier on about the dispatch of the 22 point, | guess, on thisgeneration credit
23 Newfoundland Power generation and his question |23 issue. On your Appendix 3 there, when in the
24 was, | think, related to peak times. Do you 24 calculation of the demand credit, and that’s
25 know what the normal process is for the 25 the second little group of lines under demand
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1 HUTCHINGS, Q.C.: 1 to the amount of the Newfoundland Power
2 credit onthe left-hand side of the page 2 generation credit?
3 there, you calculate the hydraulic credit and 3 A It reducesthe credit.
4 thethermal credit, | take it using gross 4 Q.No, |l don't think. You'redividing by 1.185
5 figures and then dividing by 1.185? 5 now instead of dividing by 1.16.
6 A.Yes, that'swhat's shown. 6 A.Oh, soitincreases the credit, | guess.
7 Q. Yes Andthat | understand isthe reserve - 7 Q. Yes. Andhasanything happened, that you're
8 A.Yes itis. 8 aware of, with the Newfoundland Power
9 Q. -thatis applied sothat that’s consistent 9 generation that would suddenly make this
10 with the percentage of system reserve for the 10 generation capacity more valuable than it was
11 entire Island system? Isit not? 11 previously?
12 A. |l would think so. 12 A.No, | am not.
13 Q. Yes, okay. 13 Q. Okay, thank you. Another point to deal with,
14  A. Subject to check. 14 Mr. Greneman, and | want to refer you to the
15 Q. If wecould look for amoment at the Osler and 15 response to IC-1C and that’s the 2002 Actual
16 Bowman evidence at page 39. Yes, that’sit, 16 Cost of Service and specifically at page 3 of
17 and I'm specifically interested in footnote 17 98. Yes, that'sit, canyou makethat a
18 137. Thisfootnote, and | don’t know whether 18 little bigger? I've broached this subject
19 you've had a chanceto look at itin any 19 with a couple of witnesses who have all
20 detail, comments upon the fact that the 20 deferred it down theline, let’s see how far
21 reserve requirement for the system has changed 21 you and | makeout withit, canyou just
22 from 16 percent to 18.5 percent since the last 22 explainto us the significance of column 7,
23 hearing. Were you aware of that? 23 the revenue to cost coverage?
24  A.| beievel’ve heard that. 24  A.Wadll just asit’'snoted, therevenue to cost
25 Q. Okay. Canyoutell us what that change does 25 coverage is columns 2, divided by column 3, so
Page 227 Page 228
1 it'sthe cost of service before--sorry, it's 1 Customers, what isthe target?
2 the revenues recovered, divided by the cost of 2 A lt's differentin different jurisdictions.
3 service before the deficit and revenue credit 3 It'sa matter for the Board to decide what
4 alocation. 4 target is-1.0 simply says that they're
5 Q. Okay, and we can seethere for Newfoundland 5 covering 100 percent of their cost. 1.05 says
6 Power that the revenue to cost coverage number 6 they’re covering 105 percent of their cost.
7 comesout at 1.16 and as | understand it, 7 There’'sa reasonable range and |I’'m speaking
8 that’s because Newfoundland Power pays the 8 generally among various jurisdictions,
9 vast bulk of the rural deficit, is that 9 including Canada. There could be arange of
10 correct? 10 9to 1195 to 1.05 and there are
11 A. That’scorrect. 11 circumstances why it might be greater or less.
12 Q. All otherthings being equal, what you're 12 Q.| understand. Inyour exhibit RDG No. 1, you
13 trying to get to for revenue to cost coverage 13 have targeted for the cost of service for 2004
14 is 1.0, isn't that correct? 14 forecast a1.0 revenueto cost coverage for
15  A.No, it's 1.0 overal, but--did he say for each 15 Island Industrial Customers, is that correct?
16 classor overal? 16 That isn’t the one you' re looking at.
17 Q. For each class. 17 A.l do seethat, yes.
18 A. No, inorder to cover therura deficit, some 18 Q. Inyour current cost of service, RDG No. 1,
19 customers have - 19 Revision No. 2, page 3 of 107.
20 Q.No, no, | said al other things being equal, 20 A.Right.
21 leaving out things like the rural deficit. 21 Q.You have targeted a 1.0 revenue to cost
22 A.Oh, thereare ranges, it doesn’t have to be 22 coverage for Island Industrial Customers, is
23 1.0, it could be .95 to 1.05. 23 that correct?
24  Q.Okay. For Newfoundland Hydro'ssystem and |24 A.Yes.
25 specificaly for the Island Industria 25 Q. Thatiscorrect, isit?

Discoveries Unlimited Inc., Ph: (709)437-5028

Page 225 - Page 228




November 14, 2003

Multi-Page™ NL Hydro's 2003 General Rate Application

Page 229 Page 230
1 MR. GRENEMAN: 1 to cost coveragefor theldand Industrial
2 A.Yes. 2 Customers of 1.13, do you see that number?
3 HUTCHINGS, Q.C.: 3 A.Yes | do.
4 Q. Okay, and why did you do that? 4 Q. Okay. Canyou explainto uswhy the target of
5 A.Wdl thepoint of that isthat you're paying 5 1.0 was not met for 20027?
6 your costs exactly. 6 A.l believethisisin connection with the issue
7 (4:00 p.m.) 7 that’ s been brought up in Mr. Odler’sand Mr.
8 Q. And that's theway it's supposed to be, 8 Bowman’ s testimony, that the actual for demand
9 correct? 9 for NpPcamein higher than forecast and came
10 A. That'stheway it could be. There could bea 10 lower than forecast for Industrials.
11 lot of reasons why it won't be that way. 11 Q. Waellitcamein differently for Newfoundland
12 Q. Yes. But toyour knowledge, at least since 12 Power and for the Island Industrial Customers,
13 the time that legislation was passed to 13 yes. Okay, and does that in fact explain the
14 prevent the Island Industrial Customers 14 differencein the revenue to cost coverage
15 contributing to the rural deficit, hasthe 1.0 15 from the target to the actual s?
16 revenue to cost coverage been thetarget for 16 A.lwould--I'd haveto review it, | think it
17 Island Industrial Customers for cost of 17 probably explains alot of the difference.
18 Sservice purposes? 18 Q. Okay, al right. And perhaps we should ook
19  A.Yes, but | can understand that there could be 19 at page 39 of the evidence of Mr. Odler and
20 reasonsto differ from the 1.0 for reasons 20 Mr. Bowman. And thisis theissue that's
21 other than the rural deficit, with that 21 discussed starting at line 12 and shows that
22 qualification. 22 the Industrial Customers paid morethan 5
23 Q. Sure. | quite understand that. If we can go 23 million dollars in excess of their measured
24 back then to 1c-1c, page 3 of 98, we note that 24 costsin 2002 and Newfoundland Power’ s actual
25 the actual results for 2002 show the revenue 25 payments to Hydro were amost 5 million
Page 231 Page 232
1 dollars below. If we were to assume perfect 1 has a direct influence.
2 information and perfect forecasting, would it 2 Q. Let'slook thenfrom another direction and
3 be fair to say that those two numbers would 3 explain for us -
4 have cancelled one another out, that the 4  A.Unlessthat’swhat they’re forecasting with,
5 Newfoundland Power number would have come out 5 isthat what you're referring to?
6 at its appropriate share of costs, which 6 Q. Wel we've been through some evidence on that
7 includes the rural deficit and the Industrial 7 with Mr. Haynes earlier on and apparently the
8 Customer’ s number would have come out at its 8 process for determination of their peak is
9 cost? 9 based upon an assumed load factor.
10 A.From avery dtrictly theoretical point of 10 A.Okay, then maybe I've misunderstood your
11 view, | would say yes, that’snot to say-- 11 question.
12 attribute anything to practice or the real 12 Q. Okay, well let'sgo directly to the number
13 world, just from atheoretical point of view. 13 that affects the cost of service end. For the
14 Q. No, | quite understand. Can you explain for 14 cost of service purpose, you use, presumably,
15 us what effects the load factor for 15 aforecast of demand and aforecast of energy
16 Newfoundland Power has on the allocation of 16 from Newfoundland Power, correct?
17 cost under the Cost of Service Study? 17 A. That’scorrect.
18  A. Theload factor for Newfoundland Power or the 18 Q. And what effect do those numbers have on the
19 load factor for Hydro? 19 workings of the cost of service?
20 Q. First of al, the load factor for Newfoundland 20 A.Theforecast or demand in energy serves asthe
21 Power. 21 basisfor the determination of their demand
22 A.Theload factor per se, as opposedto the 22 component and as well for the determination of
23 demand or energy. 23 the energy allocation factor. It servesasa
24 Q.Yes 24 basis for the determination of both the demand
25  A. | don't know that load factor has any, per se, 25 and allocation factors.
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1 HUTCHINGS, Q.C.: 1 system load factor, in part -
2 Q. And correct meif I’'m wrong, but to the extent 2 Q. Yes, okay.
3 that the forecast peak of Newfoundland Power 3 A And it'salso used astheir magnitude in
4 is higher, they will have alarger proportion 4 calculating their demand factor for the
5 of the demand costs assigned to them, correct? 5 portion, of course, that is demand related.
6 A.That'scorrect. 6 Q. Okay. Those arethetwo purposes, thereis
7 Q. Okay. Onefurther question in that regard and 7 the calculation of the system load factor and
8 this relates back to some extent to the 8 their allocation of demand responsibility?
9 generation credit. Is the generation credit 9 A That'scorrect.
10 taken into account for all purposesin the 10 Q. Andin calculation of the system load factor,
11 Cost of Service Study? 11 do you use both Newfoundland Power’ s forecast
12 A. For al purposes? 12 of demand and their forecast of energy?
13 Q.Yes 13 A. Of the system load factor?
14 A. Could you explain for al purposes? 14 Q. Yes
15 Q. Waell, just explainfor us what you usethe 15 A.Yes
16 Newfoundland Power forecast peak for inthe 16 Q. Okay, and what would be the effect of
17 Cost of Service Study? 17 Newfoundland Power having alower forecast for
18  A. The Newfoundland Power forecast peak isused |18 demand and a higher forecast for energy?
19 to determine their native peak. Okay, the 19  A. It wouldincreasetheir load factor.
20 forecast peak isnet of their estimated on 20 Q. ltwouldincreasetheir load factor and what
21 hydraulic generation. From therewego to 21 does that do to the system load factor?
22 their native peak and then we subtract 22 A. It would increase the system load factor.
23 generation credits, net of reserve. And that 23 Q. Okay, and what does the system load factor do
24 number is used in the demand--okay, it's used 24 to the allocation of costs generally?
25 in calculating the system of, the Island 25  A. A higher system load factor contributes more
Page 235 Page 236
1 cost to the energy components. 1 Q We'll end up with amurder trial that we spoke
2 Q.And who are the higher energy users 2 about earlier. With your indulgence and
3 proportionately? 3 consent, I'd suggest for us to break for the
4 A Theicsare 4 day and start again fresh Monday morning. |
5 Q. Okay, soboth by way of reducing the demand 5 think again theweekend will give me an
6 costs assigned to Newfoundland Power and by 6 opportunity to review the notes, 1’d be that
7 way of increasing the energy responsibility 7 much more concise.
8 for the costs associated with energy for the 8 CHAIRMAN:
9 Industrial Customers, the prediction by 9 Q. That'sfinewith me.
10 Newfoundland Power, the lower or higher load 10 MR. KENNEDY:
1 factor than they actually experience tends to 11 Q. And clear headed.
12 shift coststo the Industrial Customers? 12 CHAIRMAN:
13 A. |l agree. 13 Q.| see some nodding of heads aswell. That's
14 Q. Thank you, Mr. Greneman. That'sall | have, 14 fine, we'll reconvene at 9:00 on -
15 Mr. Chair. 15 GREENE, Q.C.:
16 CHAIRMAN: 16 Q.| have oneitem, Mr. Chair. It will only be a
17 Q. Thank youvery much, Mr. Hutchings. Mr. 17 moment. It'sto respond to an undertaking
18 Greneman. Mr. Kennedy, do you have very much? 18 that was outstanding. It was Undertaking 14
19 MR. KENNEDY: 19 which was to provide the impact for the
20 Q. Asking cost of service questions after 3:00 is 20 Industrial Customers based on the 2004 revenue
21 cruel and | suggest criminal after 4:00. 21 requirement of the GNP transmission line being
22 (laughter). 22 assigned to common. They had asked us to
23 CHAIRMAN: 23 provide that information back on October 23rd
24 Q. I'll stop the bleeding, you need not - 24 and | have aresponse, awritten response to
25 MR. KENNEDY: 25 provideto that at thistime. Andthisisa
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1 GREENE, Q.C. 1 is, especialy by Newfoundland Power.
2 responseto Undertaking No. 14 dealing with 2 (laughter).
3 the issue of the assignment of the GNP 3 KELLY, Q.C.
4 transmission line as common and its impact on 4 Q. What would we do without you?
5 Industrial Customers. Thank you very much, 5 GREENE, Q.C.
6 Mr. Chair, that was the only item. | meant to 6 Q. The issueof the schedulefor Monday, my
7 doit earlier and had forgotten. 7 colleagues were asking here, do we know--we
8 CHAIRMAN: 8 had agreed to sit the longer days for Thursday
9 Q. Thank you, Ms. Greene. Ms. Newman, isthere 9 and Friday, we were going to reassess the
10 anything before we conclude? 10 progress we were making and maybe we can leave
11 MS.NEWMAN: 11 that until Monday, I’m not sure.
12 Q. No. 12 MS.NEWMAN:
13 CHAIRMAN: 13 Q. Yes, perhapswe'll speak to it Monday morning.
14 Q. Thank you very much. We'll see you on 9:00 on 14 CHAIRMAN:
15 Monday morning and have agood weekend and 15 Q. Fineby me.
16 hope the weather holds for our visitors from - 16 Upon concluding at 4:12 p.m.

17 GREENE, Q.C.:
18 Q. Sorry, Mr. Chair, one last question. | really

19 do want to leave too.

20 KELLY,QC:

21 Q. Youhaveto indulge her, it'sher first day
22 back. (laughter)

23 GREENE, Q.C.:
24 Q.1 wasonly gonefor avery short period. Nice

25 to know that'sI’m missed so much, it really
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